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� FелOE о5еEпеGе=8O ко=Eт8туF8о==KE пD46 7D46д4=  оEE89Eко9 $едеD4F88 =4 5еEпл4т=ое 
ок474=8е <ед8F8=Eко9 по<оI8 �D468телLEт6о  оEE89Eко9 $едеD4F88 поEт4=о6лOет: 

1. 'т6еDд8тL пD8л474е<уN �Dо7D4<<у 7оEуд4DEт6е==KE 74D4=т89 5еEпл4т=о7о ок474=8O 
7D46д4=4< <ед8F8=Eко9 по<оI8 =4 2017 7од 8 =4 пл4=о6K9 пеD8од 2018 8 2019 7одо6. 

2. �8=8EтеDEт6у 7дD46ооED4=е=8O  оEE89Eко9 $едеD4F88: 
4) 6=еEт8 6 уEт4=о6ле==о< поDOдке 6 �D468телLEт6о  оEE89Eко9 $едеD4F88: 
до 1 8NлO 2017 7. - докл4д о Dе4л874F88 �Dо7D4<<K 7оEуд4DEт6е==KE 74D4=т89 5еEпл4т=о7о 

ок474=8O 7D46д4=4< <ед8F8=Eко9 по<оI8 =4 2016 7од; 
до 25 Eе=тO5DO 2017 7. - пDоект пDо7D4<<K 7оEуд4DEт6е==KE 74D4=т89 5еEпл4т=о7о ок474=8O 

7D46д4=4< <ед8F8=Eко9 по<оI8 =4 2018 7од 8 =4 пл4=о6K9 пеD8од 2019 8 2020 7одо6; 
5) д464тL D47JOE=е=8O по 6опDоE4< DоD<8Dо64=8O 8 Mко=о<8GеEко7о о5оE=о64=8O 

теDD8тоD84лL=KE пDо7D4<< 7оEуд4DEт6е==KE 74D4=т89 5еEпл4т=о7о ок474=8O 7D46д4=4< 
<ед8F8=Eко9 по<оI8 =4 2017 7од 8 =4 пл4=о6K9 пеD8од 2018 8 2019 7одо6, 6клNG4O подEодK к 
опDеделе=8N д8DDеDе=F8Dо64==KE =оD<4т86о6 о5Jе<4 <ед8F8=Eко9 по<оI8, 6 то< G8Eле 
Eо6<еEт=о E $едеD4лL=K< Dо=до< о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O - по 6опDоE4< 
DоD<8Dо64=8O 8 Mко=о<8GеEко7о о5оE=о64=8O теDD8тоD84лL=KE пDо7D4<< о5O74телL=о7о 
<ед8F8=Eко7о EтD4Eо64=8O; 

6) оEуIеEт6лOтL <о=8тоD8=7 DоD<8Dо64=8O, Mко=о<8GеEко7о о5оE=о64=8O 8 оFе=ку 
Dе4л874F88 теDD8тоD84лL=KE пDо7D4<< 7оEуд4DEт6е==KE 74D4=т89 5еEпл4т=о7о ок474=8O 
7D46д4=4< <ед8F8=Eко9 по<оI8 =4 2017 7од 8 =4 пл4=о6K9 пеD8од 2018 8 2019 7одо6, 6 то< G8Eле 
Eо6<еEт=о E $едеD4лL=K< Dо=до< о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O - теDD8тоD84лL=KE 
пDо7D4<< о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O; 

7) пD86еEт8 E6о8 =оD<4т86=Kе пD46о6Kе 4ктK 6 Eоот6етEт68е E =4EтоOI8< поEт4=о6ле=8е<. 
3.  еко<е=до64тL оD74=4< 7оEуд4DEт6е==о9 6л4Eт8 Eу5Jекто6  оEE89Eко9 $едеD4F88 

ут6еDд8тL до 30 дек45DO 2016 7. теDD8тоD84лL=Kе пDо7D4<<K 7оEуд4DEт6е==KE 74D4=т89 
5еEпл4т=о7о ок474=8O 7D46д4=4< <ед8F8=Eко9 по<оI8 =4 2017 7од 8 =4 пл4=о6K9 пеD8од 2018 8 
2019 7одо6. 
 

�DедEед4телL �D468телLEт64 

 оEE89Eко9 $едеD4F88 

�.�������� 

 

 

 

 

 

'т6еD6де=4 

поEт4=о6ле=8е< �D468телLEт64 

 оEE89Eко9 $едеD4F88 

от 19 дек45DO 2016 7. N 1403 

 

  



� О� ���� 
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2018 � 2019 �О�О� 
 

I. О5I8е поло6е=8O 

 

�Dо7D4<<4 7оEуд4DEт6е==KE 74D4=т89 5еEпл4т=о7о ок474=8O 7D46д4=4< <ед8F8=Eко9 
по<оI8 =4 2017 7од 8 =4 пл4=о6K9 пеD8од 2018 8 2019 7одо6 (д4лее - �Dо7D4<<4) уEт4=46л864ет 
пеDеGе=L 68до6, DоD< 8 уEло689 <ед8F8=Eко9 по<оI8, ок474=8е котоDо9 оEуIеEт6лOетEO 
5еEпл4т=о, пеDеGе=L 745оле64=89 8 EоEтоO=89, ок474=8е <ед8F8=Eко9 по<оI8 пD8 котоDKE 
оEуIеEт6лOетEO 5еEпл4т=о, к4те7оD88 7D46д4=, ок474=8е <ед8F8=Eко9 по<оI8 котоDK< 
оEуIеEт6лOетEO 5еEпл4т=о, EDед=8е =оD<4т86K о5Jе<4 <ед8F8=Eко9 по<оI8, EDед=8е =оD<4т86K 
D8=4=Eо6KE 74тD4т =4 ед8=8Fу о5Jе<4 <ед8F8=Eко9 по<оI8, EDед=8е подуHе6Kе =оD<4т86K 
D8=4=E8Dо64=8O, поDOдок 8 EтDуктуDу DоD<8Dо64=8O т4D8Dо6 =4 <ед8F8=EкуN по<оIL 8 EпоEо5K 
ее опл4тK, 4 т4к6е тDе5о64=8O к теDD8тоD84лL=K< пDо7D4<<4< 7оEуд4DEт6е==KE 74D4=т89 
5еEпл4т=о7о ок474=8O 7D46д4=4< <ед8F8=Eко9 по<оI8 6 G4Eт8 опDеделе=8O поDOдк4 8 уEло689 
пDедоEт46ле=8O <ед8F8=Eко9 по<оI8, кD8теD8е6 доEтуп=оEт8 8 к4GеEт64 <ед8F8=Eко9 по<оI8. 

�Dо7D4<<4 DоD<8DуетEO E уGето< поDOдко6 ок474=8O <ед8F8=Eко9 по<оI8 8 =4 оE=о6е 
Eт4=д4Dто6 <ед8F8=Eко9 по<оI8, 4 т4к6е E уGето< оEо5е==оEте9 поло6о7D4Eт=о7о EоEт464 
=4Eеле=8O, уDо6=O 8 EтDуктуDK 745оле64е<оEт8 =4Eеле=8O  оEE89Eко9 $едеD4F88, оE=о64==KE =4 
д4==KE <ед8F8=Eко9 Eт4т8Eт8к8. 

ОD74=K 7оEуд4DEт6е==о9 6л4Eт8 Eу5Jекто6  оEE89Eко9 $едеD4F88 6 Eоот6етEт688 E 
�Dо7D4<<о9 D47D454тK64Nт 8 ут6еD6д4Nт теDD8тоD84лL=Kе пDо7D4<<K 7оEуд4DEт6е==KE 
74D4=т89 5еEпл4т=о7о ок474=8O 7D46д4=4< <ед8F8=Eко9 по<оI8 =4 2017 7од 8 =4 пл4=о6K9 
пеD8од 2018 8 2019 7одо6, 6клNG4O теDD8тоD84лL=Kе пDо7D4<<K о5O74телL=о7о <ед8F8=Eко7о 
EтD4Eо64=8O, уEт4=о6ле==Kе 6 Eоот6етEт688 E 74ко=од4телLEт6о<  оEE89Eко9 $едеD4F88 о5 
о5O74телL=о< <ед8F8=Eко< EтD4Eо64=88 (д4лее - теDD8тоD84лL=4O пDо7D4<<4). 
 

II. �еDеGе=L 68до6, DоD< 8 уEло689 

пDедоEт46ле=8O <ед8F8=Eко9 по<оI8, ок474=8е котоDо9 

оEуIеEт6лOетEO 5еEпл4т=о 

 

� D4<к4E �Dо7D4<<K (74 8EклNGе=8е< <ед8F8=Eко9 по<оI8, ок47K64е<о9 6 D4<к4E 
кл8=8GеEко9 4пDо54F88) 5еEпл4т=о пDедоEт46лONтEO: 

пеD68G=4O <ед8ко-E4=8т4D=4O по<оIL, 6 то< G8Eле пеD68G=4O до6D4Gе5=4O, пеD68G=4O 
6D4Gе5=4O 8 пеD68G=4O EпеF84л878Dо64==4O; 

EпеF84л878Dо64==4O, 6 то< G8Eле 6KEокотеE=оло78G=4O, <ед8F8=Eк4O по<оIL; 
EкоD4O, 6 то< G8Eле EкоD4O EпеF84л878Dо64==4O, <ед8F8=Eк4O по<оIL; 
п4лл84т86=4O <ед8F8=Eк4O по<оIL, ок47K64е<4O <ед8F8=Eк8<8 оD74=874F8O<8. 
�о=Oт8е "<ед8F8=Eк4O оD74=874F8O" 8EполL7уетEO 6 �Dо7D4<<е 6 7=4Gе=88, опDеделе==о< 6 

DедеD4лL=KE 74ко=4E "О5 оE=о64E оED4=K 7доDо6LO 7D46д4= 6  оEE89Eко9 $едеD4F88" 8 "О5 
о5O74телL=о< <ед8F8=Eко< EтD4Eо64=88 6  оEE89Eко9 $едеD4F88". 

�еD68G=4O <ед8ко-E4=8т4D=4O по<оIL O6лOетEO оE=о6о9 E8Eте<K ок474=8O <ед8F8=Eко9 
по<оI8 8 6клNG4ет 6 Eе5O <еDопD8Oт8O по пDоD8л4кт8ке, д847=оEт8ке, леGе=8N 745оле64=89 8 
EоEтоO=89, <ед8F8=Eко9 Dе458л8т4F88, =45лNде=8N 74 теGе=8е< 5еDе<е==оEт8, DоD<8Dо64=8N 
7доDо6о7о о5D474 687=8 8 E4=8т4D=о-7878е=8GеEко<у пDоE6еIе=8N =4Eеле=8O. 

�еD68G=4O <ед8ко-E4=8т4D=4O по<оIL ок47K64етEO 5еEпл4т=о 6 4<5ул4тоD=KE уEло68OE 8 6 
уEло68OE д=е6=о7о Eт4F8о=4D4, 6 пл4=о6о9 8 =еотло6=о9 DоD<4E. 

�еD68G=4O до6D4Gе5=4O <ед8ко-E4=8т4D=4O по<оIL ок47K64етEO DелLдHеD4<8, 4куHеD4<8 
8 дDу78<8 <ед8F8=Eк8<8 D45от=8к4<8 Eо EDед=8< <ед8F8=Eк8< о5D47о64=8е<. 

�еD68G=4O 6D4Gе5=4O <ед8ко-E4=8т4D=4O по<оIL ок47K64етEO 6D4G4<8-теD4пе6т4<8, 
6D4G4<8-теD4пе6т4<8 уG4Eтко6K<8, 6D4G4<8-пед84тD4<8, 6D4G4<8-пед84тD4<8 уG4Eтко6K<8 8 
6D4G4<8 о5Iе9 пD4кт8к8 (Eе<е9=K<8 6D4G4<8). 



�еD68G=4O EпеF84л878Dо64==4O <ед8ко-E4=8т4D=4O по<оIL ок47K64етEO 6D4G4<8-

EпеF84л8Eт4<8, 6клNG4O 6D4Gе9-EпеF84л8Eто6 <ед8F8=Eк8E оD74=874F89, ок47K64NI8E 
EпеF84л878Dо64==уN, 6 то< G8Eле 6KEокотеE=оло78G=уN, <ед8F8=EкуN по<оIL. 

!пеF84л878Dо64==4O <ед8F8=Eк4O по<оIL ок47K64етEO 5еEпл4т=о 6 Eт4F8о=4D=KE уEло68OE 
8 6 уEло68OE д=е6=о7о Eт4F8о=4D4 6D4G4<8-EпеF84л8Eт4<8 8 6клNG4ет 6 Eе5O пDоD8л4кт8ку, 
д847=оEт8ку 8 леGе=8е 745оле64=89 8 EоEтоO=89 (6 то< G8Eле 6 пеD8од 5еDе<е==оEт8, Dодо6 8 
поEлеDодо6о9 пеD8од), тDе5уNI8E 8EполL7о64=8O EпеF84лL=KE <етодо6 8 Eло6=KE <ед8F8=Eк8E 
теE=оло789, 4 т4к6е <ед8F8=EкуN Dе458л8т4F8N. 

�KEокотеE=оло78G=4O <ед8F8=Eк4O по<оIL, O6лONI4OEO G4EтLN EпеF84л878Dо64==о9 
<ед8F8=Eко9 по<оI8, 6клNG4ет 6 Eе5O пD8<е=е=8е =о6KE Eло6=KE 8 (8л8) у=8к4лL=KE <етодо6 
леGе=8O, 4 т4к6е DеEуDEое<к8E <етодо6 леGе=8O E =4уG=о док474==о9 MDDект86=оEтLN, 6 то< G8Eле 
клетоG=KE теE=оло789, Dо5от878Dо64==о9 теE=8к8, 8=DоD<4F8о==KE теE=оло789 8 <етодо6 7е==о9 
8=6е=еD88, D47D45от4==KE =4 оE=о6е доEт86е=89 <ед8F8=Eко9 =4ук8 8 E<е6=KE отD4Eле9 =4ук8 
8 теE=8к8. 

�KEокотеE=оло78G=4O <ед8F8=Eк4O по<оIL, O6лONI4OEO G4EтLN EпеF84л878Dо64==о9 
<ед8F8=Eко9 по<оI8, ок47K64етEO <ед8F8=Eк8<8 оD74=874F8O<8 6 Eоот6етEт688 E пеDеG=е< 
68до6 6KEокотеE=оло78G=о9 <ед8F8=Eко9 по<оI8, EодеD64I8< 6 то< G8Eле <етодK леGе=8O 8 
8EтоG=8к8 D8=4=Eо6о7о о5еEпеGе=8O 6KEокотеE=оло78G=о9 <ед8F8=Eко9 по<оI8, Eо7л4E=о 
пD8ло6е=8N (д4лее - пеDеGе=L 68до6 6KEокотеE=оло78G=о9 <ед8F8=Eко9 по<оI8). 

!коD4O, 6 то< G8Eле EкоD4O EпеF84л878Dо64==4O, <ед8F8=Eк4O по<оIL ок47K64етEO 
7D46д4=4< 6 MкEтDе==о9 8л8 =еотло6=7о9 DоD<е 6=е <ед8F8=Eко9 оD74=874F88, 4 т4к6е 6 
4<5ул4тоD=KE 8 Eт4F8о=4D=KE уEло68OE пD8 745оле64=8OE, =еEG4Eт=KE EлуG4OE, тD46<4E, 
отD46ле=8OE 8 дDу78E EоEтоO=8OE, тDе5уNI8E EDоG=о7о <ед8F8=Eко7о 6<еH4телLEт64. 

!коD4O, 6 то< G8Eле EкоD4O EпеF84л878Dо64==4O, <ед8F8=Eк4O по<оIL ок47K64етEO 
<ед8F8=Eк8<8 оD74=874F8O<8 7оEуд4DEт6е==о9 8 <у=8F8п4лL=о9 E8Eте< 7дD46ооED4=е=8O 
5еEпл4т=о. 

�D8 ок474=88 EкоDо9 <ед8F8=Eко9 по<оI8 6 EлуG4е =ео5Eод8<оEт8 оEуIеEт6лOетEO 
<ед8F8=Eк4O M64ку4F8O, пDедEт46лONI4O Eо5о9 тD4=EпоDт8Dо6ку 7D46д4= 6 FелOE Eп4Eе=8O 687=8 
8 EоED4=е=8O 7доDо6LO (6 то< G8Eле л8F, =4EодOI8EEO =4 леGе=88 6 <ед8F8=Eк8E оD74=874F8OE, 6 
котоDKE отEутEт6ует 6о7<о6=оEтL ок474=8O =ео5Eод8<о9 <ед8F8=Eко9 по<оI8 пD8 у7Dо64NI8E 
687=8 EоEтоO=8OE, 6е=I8= 6 пеD8од 5еDе<е==оEт8, Dодо6, поEлеDодо6о9 пеD8од 8 
=о6оDо6де==KE, л8F, поEтD4д46H8E 6 Dе7улLт4те GDе76KG49=KE E8ту4F89 8 Eт8E89=KE 5едEт689). 

�ед8F8=Eк4O M64ку4F8O оEуIеEт6лOетEO 6Kе7д=K<8 5D874д4<8 EкоDо9 <ед8F8=Eко9 
по<оI8 E пDо6еде=8е< 6о 6Dе<O тD4=EпоDт8Dо6к8 <еDопD8Oт89 по ок474=8N <ед8F8=Eко9 
по<оI8, 6 то< G8Eле E пD8<е=е=8е< <ед8F8=Eко7о о5оDудо64=8O. 

�4лл84т86=4O <ед8F8=Eк4O по<оIL ок47K64етEO 5еEпл4т=о 6 4<5ул4тоD=KE 8 Eт4F8о=4D=KE 
уEло68OE <ед8F8=Eк8<8 D45от=8к4<8, пDоHедH8<8 о5уGе=8е по ок474=8N т4ко9 по<оI8, 8 
пDедEт46лOет Eо5о9 ко<плекE <ед8F8=Eк8E 6<еH4телLEт6, =4пD46ле==KE =4 87546ле=8е от 5ол8 8 
о5ле7Gе=8е дDу78E тO6елKE пDоO6ле=89 745оле64=8O, 6 FелOE улуGHе=8O к4GеEт64 687=8 
=е87леG8<о 5олL=KE 7D46д4=. 

�ед8F8=Eк4O по<оIL ок47K64етEO 6 EледуNI8E DоD<4E: 
MкEтDе==4O - <ед8F8=Eк4O по<оIL, ок47K64е<4O пD8 6=е74п=KE оEтDKE 745оле64=8OE, 

EоEтоO=8OE, о5оEтDе=88 EDо=8GеEк8E 745оле64=89, пDедEт46лONI8E у7Dо7у 687=8 п4F8е=т4; 
=еотло6=4O - <ед8F8=Eк4O по<оIL, ок47K64е<4O пD8 6=е74п=KE оEтDKE 745оле64=8OE, 

EоEтоO=8OE, о5оEтDе=88 EDо=8GеEк8E 745оле64=89 5е7 O6=KE пD87=4ко6 у7Dо7K 687=8 п4F8е=т4; 
пл4=о64O - <ед8F8=Eк4O по<оIL, ок47K64е<4O пD8 пDо6еде=88 пDоD8л4кт8GеEк8E 

<еDопD8Oт89, пD8 745оле64=8OE 8 EоEтоO=8OE, =е EопDо6о6д4NI8EEO у7Dо7о9 687=8 п4F8е=т4, =е 
тDе5уNI8E MкEтDе==о9 8 =еотло6=о9 <ед8F8=Eко9 по<оI8, отEDоGк4 ок474=8O котоDо9 =4 
опDеделе==ое 6Dе<O =е по6леGет 74 Eо5о9 уEудHе=8е EоEтоO=8O п4F8е=т4, у7Dо7у е7о 687=8 8 
7доDо6LN. 
 

III. �еDеGе=L 745оле64=89 8 EоEтоO=89, ок474=8е 

<ед8F8=Eко9 по<оI8 пD8 котоDKE оEуIеEт6лOетEO 5еEпл4т=о, 
8 к4те7оD88 7D46д4=, ок474=8е <ед8F8=Eко9 по<оI8 



котоDK< оEуIеEт6лOетEO 5еEпл4т=о 

 

�D46д4=8= 8<еет пD46о =4 5еEпл4т=ое полуGе=8е <ед8F8=Eко9 по<оI8 по 68д4<, DоD<4< 8 
уEло68O< ее ок474=8O 6 Eоот6етEт688 E D47дело< II �Dо7D4<<K пD8 EледуNI8E 745оле64=8OE 8 
EоEтоO=8OE: 

8=DекF8о==Kе 8 п4D478т4D=Kе 5оле7=8; 
=о6оо5D47о64=8O; 
5оле7=8 M=докD8==о9 E8Eте<K; 
D4EEтDо9Eт64 п8т4=8O 8 =4DуHе=8O о5<е=4 6еIеEт6; 
5оле7=8 =еD6=о9 E8Eте<K; 
5оле7=8 кDо68, кDо6ет6оD=KE оD74=о6; 
отделL=Kе =4DуHе=8O, 6о6лек4NI8е 8<<у==K9 <еE4=87<; 
5оле7=8 7л474 8 е7о пD8д4тоG=о7о 4пп4D4т4; 
5оле7=8 уE4 8 EоEFе68д=о7о отDоEтк4; 
5оле7=8 E8Eте<K кDо6оо5D4Iе=8O; 
5оле7=8 оD74=о6 дKE4=8O; 
5оле7=8 оD74=о6 п8Iе64Dе=8O, 6 то< G8Eле 5оле7=8 полоEт8 Dт4, EлN==KE 6еле7 8 GелNEте9 

(74 8EклNGе=8е< 7у5=о7о пDоте78Dо64=8O); 
5оле7=8 <оGеполо6о9 E8Eте<K; 
5оле7=8 ко68 8 подко6=о9 клетG4тк8; 
5оле7=8 коEт=о-<KHеG=о9 E8Eте<K 8 Eоед8=8телL=о9 тк4=8; 
тD46<K, отD46ле=8O 8 =екотоDKе дDу78е поEледEт68O 6о7де9Eт68O 6=еH=8E пD8G8=; 
6Dо6де==Kе 4=о<4л88 (поDок8 D4768т8O); 
деDоD<4F88 8 EDо<оEо<=Kе =4DуHе=8O; 
5еDе<е==оEтL, DодK, поEлеDодо6о9 пеD8од 8 45оDтK; 
отделL=Kе EоEтоO=8O, 6о7=8к4NI8е у дете9 6 пеD8=4т4лL=K9 пеD8од; 
пE8E8GеEк8е D4EEтDо9Eт64 8 D4EEтDо9Eт64 по6еде=8O; 
E8<пто<K, пD87=4к8 8 откло=е=8O от =оD<K, =е от=еEе==Kе к 745оле64=8O< 8 EоEтоO=8O<. 
� Eоот6етEт688 E 74ко=од4телLEт6о<  оEE89Eко9 $едеD4F88 отделL=Kе к4те7оD88 7D46д4= 

8<еNт пD46о =4: 
о5еEпеGе=8е лек4DEт6е==K<8 пDеп4D4т4<8 (6 Eоот6етEт688 E D47дело< V �Dо7D4<<K); 
пDоD8л4кт8GеEк8е <ед8F8=Eк8е оE<отDK 8 д8Eп4=EеD874F8N - опDеделе==Kе 7DуппK 

67DоEло7о =4Eеле=8O (6 6о7D4Eте 18 лет 8 Eт4DHе), 6 то< G8Eле D45от4NI8е 8 =еD45от4NI8е 
7D46д4=е, о5уG4NI8еEO 6 о5D47о64телL=KE оD74=874F8OE по оG=о9 DоD<е; 

<ед8F8=Eк8е оE<отDK, 6 то< G8Eле пDоD8л4кт8GеEк8е <ед8F8=Eк8е оE<отDK, 6 E6O78 E 
74=Oт8O<8 D878GеEко9 кулLтуDо9 8 EпоDто< - =еEо6еDHе==олет=8е; 

д8Eп4=EеD874F8N - пDе5K64NI8е 6 Eт4F8о=4D=KE уGDе6де=8OE дет8-E8DотK 8 дет8, 
=4EодOI8еEO 6 тDуд=о9 687=е==о9 E8ту4F88, 4 т4к6е дет8-E8DотK 8 дет8, оEт46H8еEO 5е7 
попеGе=8O Dод8теле9, 6 то< G8Eле уEK=о6ле==Kе (удоGеDе==Kе), пD8=OтKе под опеку 
(попеG8телLEт6о) 6 пD8е<=уN 8л8 п4тDо=4т=уN Eе<LN; 

пDе=4т4лL=уN (доDодо6уN) д847=оEт8ку =4DуHе=89 D4768т8O Dе5е=к4 - 5еDе<е==Kе 
6е=I8=K; 

=ео=4т4лL=K9 EкD8=8=7 =4 5 =4EледEт6е==KE 8 6Dо6де==KE 745оле64=89 - =о6оDо6де==Kе 
дет8; 

4уд8оло78GеEк89 EкD8=8=7 - =о6оDо6де==Kе дет8 8 дет8 пеD6о7о 7од4 687=8. 
 

IV. �47о64O пDо7D4<<4 о5O74телL=о7о 

<ед8F8=Eко7о EтD4Eо64=8O 

 

�47о64O пDо7D4<<4 о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O O6лOетEO EоEт46=о9 G4EтLN 
�Dо7D4<<K. 

� D4<к4E 547о6о9 пDо7D4<<K о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O: 
7D46д4=4< (74EтD4Eо64==K< л8F4<) ок47K64NтEO пеD68G=4O <ед8ко-E4=8т4D=4O по<оIL, 

6клNG4O пDоD8л4кт8GеEкуN по<оIL, EкоD4O <ед8F8=Eк4O по<оIL (74 8EклNGе=8е< E4=8т4D=о-



4684F8о==о9 M64ку4F88), EпеF84л878Dо64==4O <ед8F8=Eк4O по<оIL, 6 то< G8Eле 
6KEокотеE=оло78G=4O <ед8F8=Eк4O по<оIL, 6клNGе==4O 6 пеDеGе=L 68до6 6KEокотеE=оло78G=о9 
<ед8F8=Eко9 по<оI8, D8=4=Eо6ое о5еEпеGе=8е котоDKE оEуIеEт6лOетEO 74 EGет EDедEт6 
о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O, пD8 745оле64=8OE 8 EоEтоO=8OE, ук474==KE 6 D47деле III 
�Dо7D4<<K, 74 8EклNGе=8е< 745оле64=89, пеDед464е<KE поло6K< путе<, 6K764==KE 68DуEо< 
8<<у=одеD8F8т4 Gело6ек4, E8=дDо<4 пD8о5Dете==о7о 8<<у=одеD8F8т4, ту5еDкуле74, 
пE8E8GеEк8E D4EEтDо9Eт6 8 D4EEтDо9Eт6 по6еде=8O; 

оEуIеEт6лONтEO <еDопD8Oт8O по д8Eп4=EеD874F88 8 пDоD8л4кт8GеEк8< <ед8F8=Eк8< 
оE<отD4< отделL=KE к4те7оD89 7D46д4=, ук474==KE 6 D47деле III �Dо7D4<<K, <ед8F8=Eко9 
Dе458л8т4F88, оEуIеEт6лOе<о9 6 <ед8F8=Eк8E оD74=874F8OE, 4уд8оло78GеEко<у EкD8=8=7у, 4 
т4к6е по пD8<е=е=8N 6Eпо<о74телL=KE DепDодукт86=KE теE=оло789 (MкEтD4коDпоD4лL=о7о 
оплодот6оDе=8O), 6клNG4O о5еEпеGе=8е лек4DEт6е==K<8 пDеп4D4т4<8 6 Eоот6етEт688 E 
74ко=од4телLEт6о<  оEE89Eко9 $едеD4F88. 

�оDOдок DоD<8Dо64=8O 8 EтDуктуD4 т4D8D4 =4 опл4ту <ед8F8=Eко9 по<оI8 по 
о5O74телL=о<у <ед8F8=Eко<у EтD4Eо64=8N уEт4=46л864NтEO 6 Eоот6етEт688 E $едеD4лL=K< 
74ко=о< "О5 о5O74телL=о< <ед8F8=Eко< EтD4Eо64=88 6  оEE89Eко9 $едеD4F88". 

&4D8DK =4 опл4ту <ед8F8=Eко9 по<оI8 по о5O74телL=о<у <ед8F8=Eко<у EтD4Eо64=8N 
уEт4=46л864NтEO т4D8D=K< Eо7л4Hе=8е< <е6ду упол=о<оGе==K< оD74=о< 8Eпол=8телL=о9 
6л4Eт8 Eу5Jект4  оEE89Eко9 $едеD4F88, теDD8тоD84лL=K< Dо=до< о5O74телL=о7о <ед8F8=Eко7о 
EтD4Eо64=8O, EтD4Eо6K<8 <ед8F8=Eк8<8 оD74=874F8O<8, <ед8F8=Eк8<8 пDоDеEE8о=4лL=K<8 
=еко<<еDGеEк8<8 оD74=874F8O<8, Eо7д4==K<8 6 Eоот6етEт688 Eо Eт4тLе9 76 $едеD4лL=о7о 74ко=4 
"О5 оE=о64E оED4=K 7доDо6LO 7D46д4= 6  оEE89Eко9 $едеD4F88", пDоDеEE8о=4лL=K<8 EоN74<8 
<ед8F8=Eк8E D45от=8ко6 8л8 8E о5Jед8=е=89 (4EEоF84F89), пDедEт468тел8 котоDKE 6клNG4NтEO 6 
EоEт46 ко<8EE88 по D47D45отке теDD8тоD84лL=о9 пDо7D4<<K о5O74телL=о7о <ед8F8=Eко7о 
EтD4Eо64=8O, Eо7д464е<о9 6 Eу5Jекте  оEE89Eко9 $едеD4F88 6 уEт4=о6ле==о< поDOдке. 

� Eу5Jекте  оEE89Eко9 $едеD4F88 т4D8DK =4 опл4ту <ед8F8=Eко9 по<оI8 по о5O74телL=о<у 
<ед8F8=Eко<у EтD4Eо64=8N DоD<8DуNтEO 6 Eоот6етEт688 E пD8=OтK<8 6 теDD8тоD84лL=о9 
пDо7D4<<е о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O EпоEо54<8 опл4тK <ед8F8=Eко9 по<оI8 8 6 
G4Eт8 D4EEодо6 =4 74D45от=уN пл4ту 6клNG4Nт D8=4=Eо6ое о5еEпеGе=8е де=е6=KE 6Kпл4т 
Eт8<ул8DуNIе7о E4D4ктеD4, 6 то< G8Eле де=е6=Kе 6Kпл4тK: 

6D4G4<-теD4пе6т4< уG4Eтко6K<, 6D4G4<-пед84тD4< уG4Eтко6K<, 6D4G4< о5Iе9 пD4кт8к8 
(Eе<е9=K< 6D4G4<), <ед8F8=Eк8< EеEтD4< уG4Eтко6K< 6D4Gе9-теD4пе6то6 уG4Eтко6KE, 6D4Gе9-

пед84тDо6 уG4Eтко6KE 8 <ед8F8=Eк8< EеEтD4< 6D4Gе9 о5Iе9 пD4кт8к8 (Eе<е9=KE 6D4Gе9) 74 
ок474==уN <ед8F8=EкуN по<оIL 6 4<5ул4тоD=KE уEло68OE; 

<ед8F8=Eк8< D45от=8к4< DелLдHеDEко-4куHеDEк8E пу=кто6 (746едуNI8< DелLдHеDEко-

4куHеDEк8<8 пу=кт4<8, DелLдHеD4<, 4куHеD4< (4куHеDк4<), <ед8F8=Eк8< EеEтD4<, 6 то< G8Eле 
<ед8F8=Eк8< EеEтD4< п4тDо=46=K<) 74 ок474==уN <ед8F8=EкуN по<оIL 6 4<5ул4тоD=KE 
уEло68OE; 

6D4G4<, DелLдHеD4< 8 <ед8F8=Eк8< EеEтD4< <ед8F8=Eк8E оD74=874F89 8 подD47деле=89 
EкоDо9 <ед8F8=Eко9 по<оI8 74 ок474==уN EкоDуN <ед8F8=EкуN по<оIL 6=е <ед8F8=Eко9 
оD74=874F88; 

6D4G4<-EпеF84л8Eт4< 74 ок474==уN <ед8F8=EкуN по<оIL 6 4<5ул4тоD=KE уEло68OE. 
�D8<е=ONтEO EледуNI8е EпоEо5K опл4тK <ед8F8=Eко9 по<оI8, ок47K64е<о9 

74EтD4Eо64==K< л8F4< по о5O74телL=о<у <ед8F8=Eко<у EтD4Eо64=8N 6  оEE89Eко9 $едеD4F88: 
пD8 опл4те <ед8F8=Eко9 по<оI8, ок474==о9 6 4<5ул4тоD=KE уEло68OE: 
по подуHе6о<у =оD<4т86у D8=4=E8Dо64=8O =4 пD8кDеп86H8EEO л8F 6 EоGет4=88 E опл4то9 74 

ед8=8Fу о5Jе<4 <ед8F8=Eко9 по<оI8 - 74 <ед8F8=EкуN уEлу7у, 74 поEеIе=8е, 74 о5D4Iе=8е 
(74ко=Gе==K9 EлуG49); 

74 ед8=8Fу о5Jе<4 <ед8F8=Eко9 по<оI8 - 74 <ед8F8=EкуN уEлу7у, 74 поEеIе=8е, 74 
о5D4Iе=8е (74ко=Gе==K9 EлуG49) (8EполL7уетEO пD8 опл4те <ед8F8=Eко9 по<оI8, ок474==о9 
74EтD4Eо64==K< л8F4< 74 пDедел4<8 Eу5Jект4  оEE89Eко9 $едеD4F88, =4 теDD8тоD88 котоDо7о 
6Kд4= пол8E о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O, 4 т4к6е 6 отделL=KE <ед8F8=Eк8E 
оD74=874F8OE, =е 8<еNI8E пD8кDеп86H8EEO л8F); 

по подуHе6о<у =оD<4т86у D8=4=E8Dо64=8O =4 пD8кDеп86H8EEO л8F E уGето< пок474теле9 



Dе7улLт4т86=оEт8 деOтелL=оEт8 <ед8F8=Eко9 оD74=874F88, 6 то< G8Eле E 6клNGе=8е< D4EEодо6 =4 
<ед8F8=EкуN по<оIL, ок47K64е<уN 6 8=KE <ед8F8=Eк8E оD74=874F8OE (74 ед8=8Fу о5Jе<4 
<ед8F8=Eко9 по<оI8); 

пD8 опл4те <ед8F8=Eко9 по<оI8, ок474==о9 6 Eт4F8о=4D=KE уEло68OE, 6 то< G8Eле длO 
<ед8F8=Eко9 Dе458л8т4F88 6 EпеF84л878Dо64==KE <ед8F8=Eк8E оD74=874F8OE (EтDуктуD=KE 
подD47деле=8OE): 

74 74ко=Gе==K9 EлуG49 леGе=8O 745оле64=8O, 6клNGе==о7о 6 Eоот6етEт6уNIуN 7Dуппу 
745оле64=89 (6 то< G8Eле кл8=8ко-Eт4т8Eт8GеEк8е 7DуппK 745оле64=89); 

74 пDеD64==K9 EлуG49 ок474=8O <ед8F8=Eко9 по<оI8 пD8 пеDе6оде п4F8е=т4 6 дDу7уN 
<ед8F8=EкуN оD74=874F8N, пDе6де6Dе<е==о9 6Kп8Eке п4F8е=т4 87 <ед8F8=Eко9 оD74=874F88 
пD8 е7о п8EL<е==о< отк47е от д4лL=е9Hе7о леGе=8O, лет4лL=о< 8EEоде, 4 т4к6е пD8 пDо6еде=88 
д847=оEт8GеEк8E 8EEледо64=89, ок474=88 уEлу7 д84л874; 

пD8 опл4те <ед8F8=Eко9 по<оI8, ок474==о9 6 уEло68OE д=е6=о7о Eт4F8о=4D4: 
74 74ко=Gе==K9 EлуG49 леGе=8O 745оле64=8O, 6клNGе==о7о 6 Eоот6етEт6уNIуN 7Dуппу 

745оле64=89 (6 то< G8Eле кл8=8ко-Eт4т8Eт8GеEк8е 7DуппK 745оле64=89); 
74 пDеD64==K9 EлуG49 ок474=8O <ед8F8=Eко9 по<оI8 пD8 пеDе6оде п4F8е=т4 6 дDу7уN 

<ед8F8=EкуN оD74=874F8N, пDе6де6Dе<е==о9 6Kп8Eке п4F8е=т4 87 <ед8F8=Eко9 оD74=874F88 
пD8 е7о п8EL<е==о< отк47е от д4лL=е9Hе7о леGе=8O, лет4лL=о< 8EEоде, 4 т4к6е пD8 пDо6еде=88 
д847=оEт8GеEк8E 8EEледо64=89, ок474=88 уEлу7 д84л874; 

пD8 опл4те EкоDо9 <ед8F8=Eко9 по<оI8, ок474==о9 6=е <ед8F8=Eко9 оD74=874F88 (по <еEту 
6K7о64 5D874дK EкоDо9, 6 то< G8Eле EкоDо9 EпеF84л878Dо64==о9, <ед8F8=Eко9 по<оI8, 4 т4к6е 6 
тD4=EпоDт=о< EDедEт6е пD8 <ед8F8=Eко9 M64ку4F88), - по подуHе6о<у =оD<4т86у D8=4=E8Dо64=8O 
6 EоGет4=88 E опл4то9 74 6K7о6 EкоDо9 <ед8F8=Eко9 по<оI8. 

�47о64O пDо7D4<<4 о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O 6клNG4ет =оD<4т86K о5Jе<о6 
пDедоEт46ле=8O <ед8F8=Eко9 по<оI8 6 D4EGете =4 1 74EтD4Eо64==ое л8Fо (6 Eоот6етEт688 E 
D47дело< VI �Dо7D4<<K), =оD<4т86K D8=4=Eо6KE 74тD4т =4 ед8=8Fу о5Jе<4 пDедоEт46ле=8O 
<ед8F8=Eко9 по<оI8 (6 то< G8Eле по пеDеG=N 68до6 6KEокотеE=оло78G=о9 <ед8F8=Eко9 по<оI8) 
8 =оD<4т86K D8=4=Eо6о7о о5еEпеGе=8O 547о6о9 пDо7D4<<K о5O74телL=о7о <ед8F8=Eко7о 
EтD4Eо64=8O 6 D4EGете =4 1 74EтD4Eо64==ое л8Fо (6 Eоот6етEт688 E D47дело< VII �Dо7D4<<K), 
тDе5о64=8O к теDD8тоD84лL=K< пDо7D4<<4< 8 уEло68O< ок474=8O <ед8F8=Eко9 по<оI8 (6 
Eоот6етEт688 E D47дело< VIII �Dо7D4<<K), кD8теD88 доEтуп=оEт8 8 к4GеEт64 <ед8F8=Eко9 по<оI8 
(6 Eоот6етEт688 E D47дело< IX �Dо7D4<<K). 

� теDD8тоD84лL=о9 пDо7D4<<е о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O 6 D4EGете =4 1 
74EтD4Eо64==ое л8Fо уEт4=46л864NтEO E уGето< EтDуктуDK 745оле64е<оEт8 6 Eу5Jекте  оEE89Eко9 
$едеD4F88 =оD<4т86K о5Jе<4 пDедоEт46ле=8O <ед8F8=Eко9 по<оI8, =оD<4т86K D8=4=Eо6KE 
74тD4т =4 ед8=8Fу о5Jе<4 пDедоEт46ле=8O <ед8F8=Eко9 по<оI8 8 =оD<4т86 D8=4=Eо6о7о 
о5еEпеGе=8O теDD8тоD84лL=о9 пDо7D4<<K о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O. 

�D8 уEт4=о6ле=88 теDD8тоD84лL=о9 пDо7D4<<о9 о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O 
пеDеG=O EтD4Eо6KE EлуG4е6, 68до6 8 уEло689 ок474=8O <ед8F8=Eко9 по<оI8 6 допол=е=8е к 
уEт4=о6ле==K< 547о6о9 пDо7D4<<о9 о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O теDD8тоD84лL=4O 
пDо7D4<<4 о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O дол6=4 6клNG4тL 6 Eе5O т4к6е 7=4Gе=8O 
=оD<4т86о6 о5Jе<о6 пDедоEт46ле=8O <ед8F8=Eко9 по<оI8 6 D4EGете =4 1 74EтD4Eо64==ое л8Fо, 
=оD<4т86о6 D8=4=Eо6KE 74тD4т =4 ед8=8Fу о5Jе<4 пDедоEт46ле=8O <ед8F8=Eко9 по<оI8 6 
D4EGете =4 1 74EтD4Eо64==ое л8Fо, 7=4Gе=8е =оD<4т864 D8=4=Eо6о7о о5еEпеGе=8O 6 D4EGете =4 1 
74EтD4Eо64==ое л8Fо, EпоEо5K опл4тK <ед8F8=Eко9 по<оI8, ок47K64е<о9 по о5O74телL=о<у 
<ед8F8=Eко<у EтD4Eо64=8N 74EтD4Eо64==K< л8F4<, EтDуктуDу т4D8D4 =4 опл4ту <ед8F8=Eко9 
по<оI8, DееEтD <ед8F8=Eк8E оD74=874F89, уG4Eт6уNI8E 6 Dе4л874F88 теDD8тоD84лL=о9 
пDо7D4<<K о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O, уEло68O ок474=8O <ед8F8=Eко9 по<оI8 6 
т4к8E <ед8F8=Eк8E оD74=874F8OE. 
 

V. $8=4=Eо6ое о5еEпеGе=8е �Dо7D4<<K 

 

�EтоG=8к4<8 D8=4=Eо6о7о о5еEпеGе=8O �Dо7D4<<K O6лONтEO EDедEт64 DедеD4лL=о7о 
5Nд6ет4, 5Nд6ето6 Eу5Jекто6  оEE89Eко9 $едеD4F88 8 <еEт=KE 5Nд6ето6 (6 EлуG4е пеDед4G8 



оD74=4<8 7оEуд4DEт6е==о9 6л4Eт8 Eу5Jекто6  оEE89Eко9 $едеD4F88 Eоот6етEт6уNI8E пол=о<оG89 
6 EDеDе оED4=K 7доDо6LO 7D46д4= длO оEуIеEт6ле=8O оD74=4<8 <еEт=о7о E4<оупD46ле=8O), 
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<ед8F8=EкуN M64ку4F8N, уEт4=46л864NтEO Eу5Jект4<8  оEE89Eко9 $едеD4F88. 

!у5Jект4<8  оEE89Eко9 $едеD4F88 =4 оE=о6е пеDеD4EпDеделе=8O о5Jе<о6 <ед8F8=Eко9 
по<оI8 по 68д4<, уEло68O< 8 DоD<4< ее ок474=8O уEт4=46л864NтEO д8DDеDе=F8Dо64==Kе 
=оD<4т86K о5Jе<4 <ед8F8=Eко9 по<оI8 =4 1 68телO 8 =оD<4т86K о5Jе<4 <ед8F8=Eко9 по<оI8 
=4 1 74EтD4Eо64==ое л8Fо E уGето< Mт4по6 ок474=8O <ед8F8=Eко9 по<оI8, уDо6=O 8 EтDуктуDK 
745оле64е<оEт8, оEо5е==оEте9 поло6о7D4Eт=о7о EоEт464 8 плот=оEт8 =4Eеле=8O, тD4=EпоDт=о9 
доEтуп=оEт8, 4 т4к6е кл8<4т8GеEк8E 8 7ео7D4D8GеEк8E оEо5е==оEте9 Dе78о=о6. 

� G4Eт8 <ед8F8=Eко9 по<оI8, D8=4=Eо6ое о5еEпеGе=8е котоDо9 оEуIеEт6лOетEO 74 EGет 
Eоот6етEт6уNI8E 5Nд6ето6, E уGето< 5олее =87ко7о, по ED46=е=8N Eо EDед=еDоEE89Eк8<, уDо6=O 
745оле64е<оEт8 8 E<еDт=оEт8 =4Eеле=8O от EоF84лL=о 7=4G8<KE 745оле64=89 =4 оE=о6е Dе4лL=о9 
потDе5=оEт8 =4Eеле=8O уEт4=о6ле==Kе 6 теDD8тоD84лL=KE пDо7D4<<4E д8DDеDе=F8Dо64==Kе 
=оD<4т86K о5Jе<4 <ед8F8=Eко9 по<оI8 <о7ут 5KтL о5оE=о64=о =86е EDед=8E =оD<4т86о6, 
пDедуE<отDе==KE =4EтоOI8< D47дело< �Dо7D4<<K. 

� FелOE о5еEпеGе=8O доEтуп=оEт8 <ед8F8=Eко9 по<оI8 7D46д4=4<, пDо6864NI8< 6 
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<еEт=оEт8, 6 EоEт46е д8DDеDе=F8Dо64==KE =оD<4т86о6 о5Jе<4 <ед8F8=Eко9 по<оI8 
теDD8тоD84лL=K<8 пDо7D4<<4<8 <о7ут уEт4=46л864тLEO о5Jе<K <ед8F8=Eко9 по<оI8 E уGето< 
8EполL7о64=8O E4=8т4D=о9 4684F88, теле<ед8F8=K 8 пеDед686=KE DоD< пDедоEт46ле=8O 
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VII. !Dед=8е =оD<4т86K D8=4=Eо6KE 74тD4т 
=4 ед8=8Fу о5Jе<4 <ед8F8=Eко9 по<оI8, EDед=8е подуHе6Kе 

=оD<4т86K D8=4=E8Dо64=8O 

 

!Dед=8е =оD<4т86K D8=4=Eо6KE 74тD4т =4 ед8=8Fу о5Jе<4 <ед8F8=Eко9 по<оI8 длO Fеле9 
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5Nд6ето6 - 69276,8 Dу5лO, 74 EGет EDедEт6 о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O - 24273,7 

Dу5лO; 
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=4EтоOI8< D47дело< �Dо7D4<<K, E уGето< Eоот6етEт6уNI8E коMDD8F8е=то6 д8DDеDе=F84F88, 
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74 EGет 5Nд6ет=KE 4EE87=о64=89 Eоот6етEт6уNI8E 5Nд6ето6 (6 D4EGете =4 1 68телO) 6 2017 
7оду - 3488,6 Dу5лO, 6 2018 7оду - 3628,1 Dу5лO, 6 2019 7оду - 3773,2 Dу5лO; 

74 EGет EDедEт6 о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O =4 D8=4=E8Dо64=8е 547о6о9 
пDо7D4<<K о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O 74 EGет Eу56е=F89 $едеD4лL=о7о Dо=д4 



о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O (6 D4EGете =4 1 74EтD4Eо64==ое л8Fо) 6 2017 7оду - 8896 

Dу5ле9, 6 2018 7оду - 10379,3 Dу5лO, 6 2019 7оду - 10917,1 Dу5лO. 
�D8 уEт4=о6ле=88 6 теDD8тоD84лL=о9 пDо7D4<<е д8DDеDе=F8Dо64==KE =оD<4т86о6 о5Jе<4 
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4EE87=о64=89 Eоот6етEт6уNI8E 5Nд6ето6, оEуIеEт6лOетEO пеDеD4EпDеделе=8е 5Nд6ет=KE 
4EE87=о64=89 Eоот6етEт6уNI8E 5Nд6ето6 по 68д4< 8 уEло68O< ок474=8O <ед8F8=Eко9 по<оI8 6 
пDедел4E D47<еD4 подуHе6о7о =оD<4т864 D8=4=E8Dо64=8O теDD8тоD84лL=о9 пDо7D4<<K 74 EGет 
5Nд6ет=KE 4EE87=о64=89 Eоот6етEт6уNI8E 5Nд6ето6. 

!Dед=8е подуHе6Kе =оD<4т86K D8=4=E8Dо64=8O 547о6о9 пDо7D4<<K о5O74телL=о7о 
<ед8F8=Eко7о EтD4Eо64=8O 74 EGет Eу56е=F89 $едеD4лL=о7о Dо=д4 о5O74телL=о7о <ед8F8=Eко7о 
EтD4Eо64=8O EDоD<8Dо64=K 5е7 уGет4 EDедEт6 5Nд6ет4 $едеD4лL=о7о Dо=д4 о5O74телL=о7о 
<ед8F8=Eко7о EтD4Eо64=8O, =4пD46лOе<KE =4 ок474=8е 6KEокотеE=оло78G=о9 <ед8F8=Eко9 
по<оI8, =е 6клNGе==о9 6 547о6уN пDо7D4<<у о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O, 6 
Eоот6етEт688 E D47дело< II пеDеG=O 68до6 6KEокотеE=оло78G=о9 <ед8F8=Eко9 по<оI8. 

�оD<4т86 D8=4=Eо6о7о о5еEпеGе=8O теDD8тоD84лL=о9 пDо7D4<<K о5O74телL=о7о 
<ед8F8=Eко7о EтD4Eо64=8O <о6ет пDе6KH4тL уEт4=о6ле==K9 547о6о9 пDо7D4<<о9 о5O74телL=о7о 
<ед8F8=Eко7о EтD4Eо64=8O =оD<4т86 D8=4=Eо6о7о о5еEпеGе=8O 547о6о9 пDо7D4<<K 
о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O 6 EлуG4е уEт4=о6ле=8O оD74=о< 7оEуд4DEт6е==о9 6л4Eт8 
Eу5Jект4  оEE89Eко9 $едеD4F88 допол=8телL=о7о о5Jе<4 EтD4Eо6о7о о5еEпеGе=8O по EтD4Eо6K< 
EлуG4O<, уEт4=о6ле==K< 547о6о9 пDо7D4<<о9 о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O, 4 т4к6е 6 
EлуG4е уEт4=о6ле=8O пеDеG=O EтD4Eо6KE EлуG4е6, 68до6 8 уEло689 ок474=8O <ед8F8=Eко9 по<оI8 
6 допол=е=8е к уEт4=о6ле==K< 547о6о9 пDо7D4<<о9 о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O. 
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VIII. &Dе5о64=8O к теDD8тоD84лL=о9 пDо7D4<<е 6 G4Eт8 

опDеделе=8O поDOдк4, уEло689 пDедоEт46ле=8O <ед8F8=Eко9 

по<оI8, кD8теD8е6 доEтуп=оEт8 8 к4GеEт64 <ед8F8=Eко9 по<оI8 

 

&еDD8тоD84лL=4O пDо7D4<<4 6 G4Eт8 опDеделе=8O поDOдк4 8 уEло689 ок474=8O <ед8F8=Eко9 
по<оI8 дол6=4 6клNG4тL: 

уEло68O Dе4л874F88 уEт4=о6ле==о7о 74ко=од4телLEт6о<  оEE89Eко9 $едеD4F88 пD464 =4 
6K5оD 6D4G4, 6 то< G8Eле 6D4G4 о5Iе9 пD4кт8к8 (Eе<е9=о7о 6D4G4) 8 леG4Iе7о 6D4G4 (E уGето< 
Eо7л4E8O 6D4G4); 

поDOдок Dе4л874F88 уEт4=о6ле==о7о 74ко=од4телLEт6о<  оEE89Eко9 $едеD4F88 пD464 
6=еоGеDед=о7о ок474=8O <ед8F8=Eко9 по<оI8 отделL=K< к4те7оD8O< 7D46д4= 6 <ед8F8=Eк8E 
оD74=874F8OE, =4EодOI8EEO =4 теDD8тоD88 Eу5Jект4  оEE89Eко9 $едеD4F88; 



пеDеGе=L лек4DEт6е==KE пDеп4D4то6, отпуEк4е<KE =4Eеле=8N 6 Eоот6етEт688 E пеDеG=е< 
7Dупп =4Eеле=8O 8 к4те7оD89 745оле64=89, пD8 4<5ул4тоD=о< леGе=88 котоDKE лек4DEт6е==Kе 
EDедEт64 8 87дел8O <ед8F8=Eко7о =47=4Gе=8O отпуEк4NтEO по DеFепт4< 6D4Gе9 5еEпл4т=о, 4 т4к6е 
6 Eоот6етEт688 E пеDеG=е< 7Dупп =4Eеле=8O, пD8 4<5ул4тоD=о< леGе=88 котоDKE лек4DEт6е==Kе 
пDеп4D4тK отпуEк4NтEO по DеFепт4< 6D4Gе9 E 50-пDоFе=т=о9 Eк8дко9; 

поDOдок о5еEпеGе=8O 7D46д4= лек4DEт6е==K<8 пDеп4D4т4<8, 4 т4к6е <ед8F8=Eк8<8 
87дел8O<8, 6клNGе==K<8 6 ут6еD6д4е<K9 �D468телLEт6о<  оEE89Eко9 $едеD4F88 пеDеGе=L 
<ед8F8=Eк8E 87дел89, 8<пл4=т8Dуе<KE 6 оD74=87< Gело6ек4, леGе5=K< п8т4=8е<, 6 то< G8Eле 
EпеF84л878Dо64==K<8 пDодукт4<8 леGе5=о7о п8т4=8O, по =47=4Gе=8N 6D4G4, 4 т4к6е до=оDEко9 
кDо6LN 8 ее ко<по=е=т4<8 по <ед8F8=Eк8< пок474=8O< 6 Eоот6етEт688 Eо Eт4=д4Dт4<8 
<ед8F8=Eко9 по<оI8 E уGето< 68до6, уEло689 8 DоD< ок474=8O <ед8F8=Eко9 по<оI8, 74 
8EклNGе=8е< леGе5=о7о п8т4=8O, 6 то< G8Eле EпеF84л878Dо64==KE пDодукто6 леGе5=о7о п8т4=8O, 
по 6ел4=8N п4F8е=т4; 

пеDеGе=L <еDопD8Oт89 по пDоD8л4кт8ке 745оле64=89 8 DоD<8Dо64=8N 7доDо6о7о о5D474 
687=8, оEуIеEт6лOе<KE 6 D4<к4E теDD8тоD84лL=о9 пDо7D4<<K; 

пеDеGе=L <ед8F8=Eк8E оD74=874F89, уG4Eт6уNI8E 6 Dе4л874F88 теDD8тоD84лL=о9 
пDо7D4<<K, 6 то< G8Eле теDD8тоD84лL=о9 пDо7D4<<K о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O; 

уEло68O пDе5K64=8O 6 <ед8F8=Eк8E оD74=874F8OE пD8 ок474=88 <ед8F8=Eко9 по<оI8 6 
Eт4F8о=4D=KE уEло68OE, 6клNG4O пDедоEт46ле=8е Eп4лL=о7о <еEт4 8 п8т4=8O, пD8 Eо6<еEт=о< 
=4Eо6де=88 од=о7о 87 Dод8теле9, 8=о7о Gле=4 Eе<L8 8л8 8=о7о 74ко==о7о пDедEт468телO 6 
<ед8F8=Eко9 оD74=874F88 6 Eт4F8о=4D=KE уEло68OE E Dе5е=ко< до доEт86е=8O 8< 6о7D4Eт4 4 лет, 
4 E Dе5е=ко< Eт4DHе ук474==о7о 6о7D4Eт4 - пD8 =4л8G88 <ед8F8=Eк8E пок474=89; 

уEло68O D47<еIе=8O п4F8е=то6 6 <4ло<еEт=KE п4л4т4E (5окE4E) по <ед8F8=Eк8< 8 (8л8) 
Mп8де<8оло78GеEк8< пок474=8O<, уEт4=о6ле==K< �8=8EтеDEт6о< 7дD46ооED4=е=8O  оEE89Eко9 
$едеD4F88; 

уEло68O пDедоEт46ле=8O детO<-E8Dот4< 8 детO<, оEт46H8<EO 5е7 попеGе=8O Dод8теле9, 6 
EлуG4е 6KO6ле=8O у =8E 745оле64=89 <ед8F8=Eко9 по<оI8 6EеE 68до6, 6клNG4O 
EпеF84л878Dо64==уN, 6 то< G8Eле 6KEокотеE=оло78G=уN, <ед8F8=EкуN по<оIL; 

поDOдок пDедоEт46ле=8O тD4=EпоDт=KE уEлу7 пD8 EопDо6о6де=88 <ед8F8=Eк8< D45от=8ко< 
п4F8е=т4, =4EодOIе7оEO =4 леGе=88 6 Eт4F8о=4D=KE уEло68OE, 6 FелOE 6Kпол=е=8O поDOдко6 
ок474=8O <ед8F8=Eко9 по<оI8 8 Eт4=д4Dто6 <ед8F8=Eко9 по<оI8 6 EлуG4е =ео5Eод8<оEт8 
пDо6еде=8O т4ко<у п4F8е=ту д847=оEт8GеEк8E 8EEледо64=89 - пD8 отEутEт688 6о7<о6=оEт8 8E 
пDо6еде=8O <ед8F8=Eко9 оD74=874F8е9, ок47K64NIе9 <ед8F8=EкуN по<оIL п4F8е=ту; 

уEло68O 8 EDок8 д8Eп4=EеD874F88 =4Eеле=8O длO отделL=KE к4те7оD89 =4Eеле=8O; 
Fеле6Kе 7=4Gе=8O кD8теD8е6 доEтуп=оEт8 8 к4GеEт64 <ед8F8=Eко9 по<оI8, ок47K64е<о9 6 

D4<к4E теDD8тоD84лL=о9 пDо7D4<<K; 
поDOдок 8 D47<еDK 6о7<еIе=8O D4EEодо6, E6O74==KE E ок474=8е< 7D46д4=4< <ед8F8=Eко9 

по<оI8 6 MкEтDе==о9 DоD<е <ед8F8=Eко9 оD74=874F8е9, =е уG4Eт6уNIе9 6 Dе4л874F88 
теDD8тоD84лL=о9 пDо7D4<<K; 

EDок8 о68д4=8O <ед8F8=Eко9 по<оI8, ок47K64е<о9 6 пл4=о6о9 DоD<е, 6 то< G8Eле EDок8 
о68д4=8O ок474=8O <ед8F8=Eко9 по<оI8 6 Eт4F8о=4D=KE уEло68OE, пDо6еде=8O отделL=KE 
д847=оEт8GеEк8E о5Eледо64=89 8 ко=EулLт4F89 6D4Gе9-EпеF84л8Eто6. 

�D8 Mто<: 
EDок8 о68д4=8O ок474=8O пеD68G=о9 <ед8ко-E4=8т4D=о9 по<оI8 6 =еотло6=о9 DоD<е =е 

дол6=K пDе6KH4тL 2 G4Eо6 E <о<е=т4 о5D4Iе=8O п4F8е=т4 6 <ед8F8=EкуN оD74=874F8N; 
EDок8 о68д4=8O ок474=8O EпеF84л878Dо64==о9 (74 8EклNGе=8е< 6KEокотеE=оло78G=о9) 

<ед8F8=Eко9 по<оI8 =е дол6=K пDе6KH4тL 30 к4ле=д4D=KE д=е9 Eо д=O 6Kд4G8 леG4I8< 6D4Gо< 
=4пD46ле=8O =4 7оEп8т4л874F8N; 

EDок8 о68д4=8O пD8е<4 6D4G4<8-теD4пе6т4<8 уG4Eтко6K<8, 6D4G4<8 о5Iе9 пD4кт8к8 
(Eе<е9=K<8 6D4G4<8), 6D4G4<8-пед84тD4<8 уG4Eтко6K<8 =е дол6=K пDе6KH4тL 24 G4Eо6 E 
<о<е=т4 о5D4Iе=8O п4F8е=т4 6 <ед8F8=EкуN оD74=874F8N; 

EDок8 пDо6еде=8O ко=EулLт4F89 6D4Gе9-EпеF84л8Eто6 =е дол6=K пDе6KH4тL 14 к4ле=д4D=KE 
д=е9 Eо д=O о5D4Iе=8O п4F8е=т4 6 <ед8F8=EкуN оD74=874F8N; 

EDок8 пDо6еде=8O д847=оEт8GеEк8E 8=EтDу<е=т4лL=KE (Dе=т7е=о7D4D8GеEк8е 8EEледо64=8O, 



6клNG4O <4<<о7D4D8N, Dу=кF8о=4лL=4O д847=оEт8к4, улLтD476уко6Kе 8EEледо64=8O) 8 
л45оD4тоD=KE 8EEледо64=89 пD8 ок474=88 пеD68G=о9 <ед8ко-E4=8т4D=о9 по<оI8 =е дол6=K 
пDе6KH4тL 14 к4ле=д4D=KE д=е9 Eо д=O =47=4Gе=8O; 

EDок8 пDо6еде=8O ко<пLNтеD=о9 то<о7D4D88 (6клNG4O од=оDото==уN M<8EE8о==уN 
ко<пLNтеD=уN то<о7D4D8N), <47=8т=о-Dе7о=4=E=о9 то<о7D4D88 8 4=78о7D4D88 пD8 ок474=88 
пеD68G=о9 <ед8ко-E4=8т4D=о9 по<оI8 =е дол6=K пDе6KH4тL 30 к4ле=д4D=KE д=е9 Eо д=O 
=47=4Gе=8O. 

�Dе<O дое7д4 до п4F8е=т4 5D874д EкоDо9 <ед8F8=Eко9 по<оI8 пD8 ок474=88 EкоDо9 
<ед8F8=Eко9 по<оI8 6 MкEтDе==о9 DоD<е =е дол6=о пDе6KH4тL 20 <8=ут E <о<е=т4 ее 6K7о64. � 
теDD8тоD84лL=KE пDо7D4<<4E 6Dе<O дое7д4 5D874д EкоDо9 <ед8F8=Eко9 по<оI8 <о6ет 5KтL 
о5оE=о64==о EкоDDект8Dо64=о E уGето< тD4=EпоDт=о9 доEтуп=оEт8, плот=оEт8 =4Eеле=8O, 4 т4к6е 
кл8<4т8GеEк8E 8 7ео7D4D8GеEк8E оEо5е==оEте9 Dе78о=о6. 

� <ед8F8=Eк8E оD74=874F8OE, ок47K64NI8E EпеF84л878Dо64==уN <ед8F8=EкуN по<оIL 6 
Eт4F8о=4D=KE уEло68OE, 6едетEO л8Eт о68д4=8O EпеF84л878Dо64==о9 <ед8F8=Eко9 по<оI8, 
ок47K64е<о9 6 пл4=о6о9 DоD<е, 8 оEуIеEт6лOетEO 8=DоD<8Dо64=8е 7D46д4= 6 доEтуп=о9 DоD<е, 
6 то< G8Eле E 8EполL7о64=8е< 8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 Eет8 "�=теD=ет", о EDок4E 
о68д4=8O ок474=8O EпеF84л878Dо64==о9 <ед8F8=Eко9 по<оI8 E уGето< тDе5о64=89 
74ко=од4телLEт64  оEE89Eко9 $едеD4F88 6 о5л4Eт8 пеDEо=4лL=KE д4==KE. 

�D8 DоD<8Dо64=88 теDD8тоD84лL=о9 пDо7D4<<K уG8тK64NтEO: 
поDOдк8 ок474=8O <ед8F8=Eко9 по<оI8 8 Eт4=д4DтK <ед8F8=Eко9 по<оI8; 
оEо5е==оEт8 поло6о7D4Eт=о7о EоEт464 =4Eеле=8O Eу5Jект4  оEE89Eко9 $едеD4F88; 
уDо6е=L 8 EтDуктуD4 745оле64е<оEт8 =4Eеле=8O Eу5Jект4  оEE89Eко9 $едеD4F88, оE=о64==Kе 

=4 д4==KE <ед8F8=Eко9 Eт4т8Eт8к8; 
кл8<4т8GеEк8е 8 7ео7D4D8GеEк8е оEо5е==оEт8 Dе78о=4 8 тD4=EпоDт=4O доEтуп=оEтL 

<ед8F8=Eк8E оD74=874F89; 
E54л4=E8Dо64==оEтL о5Jе<4 <ед8F8=Eко9 по<оI8 8 ее D8=4=Eо6о7о о5еEпеGе=8O, 6 то< 

G8Eле упл4т4 EтD4Eо6KE 67=оEо6 =4 о5O74телL=ое <ед8F8=Eкое EтD4Eо64=8е =еD45от4NIе7о 
=4Eеле=8O 6 поDOдке, уEт4=о6ле==о< 74ко=од4телLEт6о<  оEE89Eко9 $едеD4F88 о5 о5O74телL=о< 
<ед8F8=Eко< EтD4Eо64=88. 
 

IX. КD8теD88 доEтуп=оEт8 8 к4GеEт64 <ед8F8=Eко9 по<оI8 

 

КD8теD8O<8 к4GеEт64 <ед8F8=Eко9 по<оI8 O6лONтEO: 
удо6лет6оDе==оEтL =4Eеле=8O <ед8F8=Eко9 по<оILN, 6 то< G8Eле 7оDодEко7о 8 EелLEко7о 

=4Eеле=8O (пDоFе=то6 G8Eл4 опDоHе==KE); 
E<еDт=оEтL =4Eеле=8O 6 тDудоEпоEо5=о< 6о7D4Eте (G8Eло у<еDH8E 6 тDудоEпоEо5=о< 

6о7D4Eте =4 100 тKE. Gело6ек =4Eеле=8O); 
долO у<еDH8E 6 тDудоEпоEо5=о< 6о7D4Eте =4 до<у 6 о5Iе< кол8GеEт6е у<еDH8E 6 

тDудоEпоEо5=о< 6о7D4Eте; 
<4теD8=Eк4O E<еDт=оEтL (=4 100 тKE. Gело6ек, Dод86H8EEO 686K<8); 
<л4де=GеEк4O E<еDт=оEтL, 6 то< G8Eле 6 7оDодEко9 8 EелLEко9 <еEт=оEт8 (=4 1000 Gело6ек, 

Dод86H8EEO 686K<8); 
долO у<еDH8E 6 6о7D4Eте до 1 7од4 =4 до<у 6 о5Iе< кол8GеEт6е у<еDH8E 6 6о7D4Eте до 1 7од4; 
E<еDт=оEтL дете9 6 6о7D4Eте 0 - 4 лет (=4 100 тKE. Gело6ек =4Eеле=8O Eоот6етEт6уNIе7о 

6о7D4Eт4); 
долO у<еDH8E 6 6о7D4Eте 0 - 4 лет =4 до<у 6 о5Iе< кол8GеEт6е у<еDH8E 6 6о7D4Eте 0 - 4 лет; 
E<еDт=оEтL дете9 6 6о7D4Eте 0 - 17 лет (=4 100 тKE. Gело6ек =4Eеле=8O Eоот6етEт6уNIе7о 

6о7D4Eт4); 
долO у<еDH8E 6 6о7D4Eте 0 - 17 лет =4 до<у 6 о5Iе< кол8GеEт6е у<еDH8E 6 6о7D4Eте 0 - 17 лет; 
долO п4F8е=то6 Eо 7лок4GеEт6е==K<8 =о6оо5D47о64=8O<8, EоEтоOI8E =4 уGете E <о<е=т4 

уEт4=о6ле=8O д847=о74 5 лет 8 5олее, 6 о5Iе< G8Eле п4F8е=то6 Eо 7лок4GеEт6е==K<8 
=о6оо5D47о64=8O<8, EоEтоOI8E =4 уGете; 

долO 6пеD6Kе 6KO6ле==KE EлуG4е6 D85Dо7=о-к46еD=о7=о7о ту5еDкуле74 6 о5Iе< кол8GеEт6е 
6KO6ле==KE EлуG4е6 ту5еDкуле74 6 теGе=8е 7од4; 



долO 6пеD6Kе 6KO6ле==KE EлуG4е6 о=коло78GеEк8E 745оле64=89 =4 D4==8E Eт4д8OE (I 8 II 
Eт4д88) 6 о5Iе< кол8GеEт6е 6KO6ле==KE EлуG4е6 о=коло78GеEк8E 745оле64=89 6 теGе=8е 7од4; 

долO п4F8е=то6 E 8=D4Dкто< <8ок4Dд4, 7оEп8т4л878Dо64==KE 6 пеD6Kе 6 G4Eо6 от =4G4л4 
745оле64=8O, 6 о5Iе< кол8GеEт6е 7оEп8т4л878Dо64==KE п4F8е=то6 E 8=D4Dкто< <8ок4Dд4; 

долO п4F8е=то6 E оEтDK< 8=D4Dкто< <8ок4Dд4, котоDK< пDо6еде=4 тDо<5ол8т8GеEк4O 
теD4п8O, 6 о5Iе< кол8GеEт6е п4F8е=то6 E оEтDK< 8=D4Dкто< <8ок4Dд4; 

долO п4F8е=то6 E оEтDK< 8=D4Dкто< <8ок4Dд4, котоDK< пDо6еде=о Eте=т8Dо64=8е 
коDо=4D=KE 4DтеD89, 6 о5Iе< кол8GеEт6е п4F8е=то6 E оEтDK< 8=D4Dкто< <8ок4Dд4; 

долO п4F8е=то6 E оEтDK< 8 по6тоD=K< 8=D4Dкто< <8ок4Dд4, котоDK< 6Kе7д=о9 5D874до9 
EкоDо9 <ед8F8=Eко9 по<оI8 пDо6еде= тDо<5ол878E, 6 о5Iе< кол8GеEт6е п4F8е=то6 E оEтDK< 8 
по6тоD=K< 8=D4Dкто< <8ок4Dд4, котоDK< ок474=4 <ед8F8=Eк4O по<оIL 6Kе7д=K<8 5D874д4<8 
EкоDо9 <ед8F8=Eко9 по<оI8; 

долO п4F8е=то6 E оEтDK<8 FеDе5Dо64EкулOD=K<8 5оле7=O<8, 7оEп8т4л878Dо64==KE 6 пеD6Kе 
6 G4Eо6 от =4G4л4 745оле64=8O, 6 о5Iе< кол8GеEт6е 7оEп8т4л878Dо64==KE п4F8е=то6 E оEтDK<8 
FеDе5Dо64EкулOD=K<8 5оле7=O<8; 

долO п4F8е=то6 E оEтDK< 8Hе<8GеEк8< 8=EулLто<, котоDK< пDо6еде=4 тDо<5ол8т8GеEк4O 
теD4п8O 6 пеD6Kе 6 G4Eо6 7оEп8т4л874F88, 6 о5Iе< кол8GеEт6е п4F8е=то6 E оEтDK< 8Hе<8GеEк8< 
8=EулLто<; 

кол8GеEт6о о5оE=о64==KE 64ло5, 6 то< G8Eле =4 отк47 6 ок474=88 <ед8F8=Eко9 по<оI8, 
пDедоEт46лOе<о9 6 D4<к4E теDD8тоD84лL=о9 пDо7D4<<K. 

КD8теD8O<8 доEтуп=оEт8 <ед8F8=Eко9 по<оI8 O6лONтEO: 

о5еEпеGе==оEтL =4Eеле=8O 6D4G4<8 (=4 10 тKE. Gело6ек =4Eеле=8O, 6клNG4O 7оDодEкое 8 
EелLEкое =4Eеле=8е), 6 то< G8Eле ок47K64NI8<8 <ед8F8=EкуN по<оIL 6 4<5ул4тоD=KE 8 
Eт4F8о=4D=KE уEло68OE; 

о5еEпеGе==оEтL =4Eеле=8O EDед=8< <ед8F8=Eк8< пеDEо=4ло< (=4 10 тKE. Gело6ек 
=4Eеле=8O, 6клNG4O 7оDодEкое 8 EелLEкое =4Eеле=8е), 6 то< G8Eле ок47K64NI8< <ед8F8=EкуN 
по<оIL 6 4<5ул4тоD=KE 8 Eт4F8о=4D=KE уEло68OE; 

долO D4EEодо6 =4 ок474=8е <ед8F8=Eко9 по<оI8 6 уEло68OE д=е6=KE Eт4F8о=4Dо6 6 о5I8E 
D4EEод4E =4 теDD8тоD84лL=уN пDо7D4<<у; 

долO D4EEодо6 =4 ок474=8е <ед8F8=Eко9 по<оI8 6 4<5ул4тоD=KE уEло68OE 6 =еотло6=о9 
DоD<е 6 о5I8E D4EEод4E =4 теDD8тоD84лL=уN пDо7D4<<у; 

долO оE64т4 пDоD8л4кт8GеEк8<8 <ед8F8=Eк8<8 оE<отD4<8 дете9, 6 то< G8Eле 7оDодEк8E 8 
EелLEк8E 68теле9; 

долO п4F8е=то6, полуG86H8E EпеF84л878Dо64==уN <ед8F8=EкуN по<оIL 6 Eт4F8о=4D=KE 
уEло68OE 6 <ед8F8=Eк8E оD74=874F8OE, под6едо<Eт6е==KE DедеD4лL=K< оD74=4< 8Eпол=8телL=о9 
6л4Eт8, 6 о5Iе< G8Eле п4F8е=то6, котоDK< 5Kл4 ок474=4 <ед8F8=Eк4O по<оIL 6 Eт4F8о=4D=KE 
уEло68OE 6 D4<к4E теDD8тоD84лL=о9 пDо7D4<<K о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O; 

G8Eло л8F, пDо6864NI8E 6 EелLEко9 <еEт=оEт8, котоDK< ок474=4 EкоD4O <ед8F8=Eк4O 
по<оIL, =4 1000 Gело6ек EелLEко7о =4Eеле=8O; 

долO DелLдHеDEко-4куHеDEк8E пу=кто6 8 DелLдHеDEк8E пу=кто6, =4EодOI8EEO 6 464D89=о< 
EоEтоO=88 8 тDе5уNI8E к4п8т4лL=о7о Dе<о=т4, 6 о5Iе< кол8GеEт6е DелLдHеDEко-4куHеDEк8E 
пу=кто6 8 DелLдHеDEк8E пу=кто6. 

&еDD8тоD84лL=о9 пDо7D4<<о9 уEт4=46л864NтEO Fеле6Kе 7=4Gе=8O кD8теD8е6 доEтуп=оEт8 8 
к4GеEт64 <ед8F8=Eко9 по<оI8, =4 оE=о6е котоDKE пDо6од8тEO ко<плекE=4O оFе=к4 8E уDо6=O 8 
д8=4<8к8. 

КDо<е то7о, Eу5Jект4<8  оEE89Eко9 $едеD4F88 пDо6од8тEO оFе=к4 MDDект86=оEт8 
деOтелL=оEт8 <ед8F8=Eк8E оD74=874F89, 6 то< G8Eле D4Eполо6е==KE 6 7оDодEко9 8 EелLEко9 
<еEт=оEт8 (=4 оE=о6е 6Kпол=е=8O Dу=кF88 6D4Gе5=о9 дол6=оEт8, пок474теле9 8EполL7о64=8O 
коеG=о7о Dо=д4). 

КD8теD8O<8 доEтуп=оEт8 <ед8F8=Eко9 по<оI8, ок47K64е<о9 <ед8F8=Eк8<8 
оD74=874F8O<8, под6едо<Eт6е==K<8 DедеD4лL=K< оD74=4< 8Eпол=8телL=о9 6л4Eт8, O6лONтEO: 

долO о5Jе<4 EпеF84л878Dо64==о9, 6 то< G8Eле 6KEокотеE=оло78G=о9, <ед8F8=Eко9 по<оI8, 
ок474==о9 7D46д4=4<, пDо6864NI8< 74 пDедел4<8 Eу5Jект4  оEE89Eко9 $едеD4F88, 6 котоDо< 
D4Eполо6е=4 <ед8F8=Eк4O оD74=874F8O, под6едо<Eт6е==4O DедеD4лL=о<у оD74=у 



8Eпол=8телL=о9 6л4Eт8, 6 о5Iе< о5Jе<е <ед8F8=Eко9 по<оI8, ок474==о9 Mто9 <ед8F8=Eко9 
оD74=874F8е9 (74 8EклNGе=8е< <ед8F8=Eк8E оD74=874F89, 8<еNI8E пD8кDепле==ое =4Eеле=8е) 
(Fеле6ое 7=4Gе=8е - =е <е=ее 50 пDоFе=то6); 

долO доEодо6 74 EGет EDедEт6 о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O 6 о5Iе< о5Jе<е 
доEодо6 <ед8F8=Eко9 оD74=874F88, под6едо<Eт6е==о9 DедеD4лL=о<у оD74=у 8Eпол=8телL=о9 
6л4Eт8 (Fеле6ое 7=4Gе=8е длO <ед8F8=Eк8E оD74=874F89, ок47K64NI8E <ед8F8=EкуN по<оIL пD8 
745оле64=8OE 8 EоEтоO=8OE, 6EодOI8E 6 547о6уN пDо7D4<<у о5O74телL=о7о <ед8F8=Eко7о 
EтD4Eо64=8O, - =е <е=ее 20 пDоFе=то6). 
 

 

 

 

 

�D8ло6е=8е 

к �Dо7D4<<е 7оEуд4DEт6е==KE 74D4=т89 

5еEпл4т=о7о ок474=8O 7D46д4=4< 

<ед8F8=Eко9 по<оI8 =4 2017 7од 

8 =4 пл4=о6K9 пеD8од 2018 8 2019 7одо6 
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 47дел I. �еDеGе=L 68до6 6KEокотеE=оло78G=о9 

<ед8F8=Eко9 по<оI8, 6клNGе==KE 6 547о6уN пDо7D4<<у 

о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O, D8=4=Eо6ое 

о5еEпеGе=8е котоDKE оEуIеEт6лOетEO 74 EGет Eу56е=F88 

87 5Nд6ет4 $едеD4лL=о7о Dо=д4 о5O74телL=о7о <ед8F8=Eко7о 

EтD4Eо64=8O 5Nд6ет4< теDD8тоD84лL=KE Dо=до6 

о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O 

 

N 

7DуппK 
��� <1> 

�48<е=о64=8е 68д4 ��� 
<1> 

КодK по �К�-10 

<2> 

�оделL п4F8е=т4 �8д леGе=8O �етод леGе=8O �оD<4т86 
D8=4=Eо6KE 
74тD4т =4 
ед8=8Fу 
о5Jе<4 

пDедоEт46ле=
8O 

<ед8F8=Eко9 
по<оI8 <3>, 

Dу5ле9 

�5до<8=4лL=4O E8DуD78O 

1. �8кDоE8DуD78GеEк8е, 
D4EH8Dе==Kе, 
ко<58=8Dо64==Kе 8 
Dеко=EтDукт86=о-

пл4Eт8GеEк8е опеD4F88 =4 
под6елудоG=о9 6еле7е, 6 
то< G8Eле 
л4п4DоEкоп8GеEк8 
4EE8Eт8Dо64==Kе 
опеD4F88 

K86.0 - K86.8 745оле64=8O 
под6елудоG=о9 6еле7K 

E8DуD78GеEкое 
леGе=8е 

Dе7екF8O под6елудоG=о9 
6еле7K Eу5тот4лL=4O 

148006 

=4ло6е=8е 
7еп4т8коеN=о4=4Eто<о74 

 

Dе7екF8O под6елудоG=о9 
6еле7K M=доEкоп8GеEк4O 

 

д8Eт4лL=4O Dе7екF8O 
под6елудоG=о9 6еле7K E 
EоED4=е=8е< Eеле7е=к8 

 

д8Eт4лL=4O Dе7екF8O  



под6елудоG=о9 6еле7K Eо 
Eпле=Mкто<8е9 

EDед8==4O Dе7екF8O 
под6елудоG=о9 6еле7K 
(4т8п8G=4O Dе7екF8O) 

 

п4=кDе4тодуоде=4лL=4O 
Dе7екF8O E Dе7екF8е9 
6елудк4 

Eу5тот4лL=4O Dе7екF8O 
7оло6к8 под6елудоG=о9 
6еле7K пDодолL=4O 
п4=кDе4тоеN=оEто<8O 

 

�8кDоE8DуD78GеEк8е 8 
Dеко=EтDукт86=о-

пл4Eт8GеEк8е опеD4F88 =4 
пеGе=8, 6елG=KE пDоток4E 
8 EоEуд4E пеGе=8, 6 то< 
G8Eле M=до64EкулOD=Kе 
опеD4F88 =4 EоEуд4E 
пеGе=8 8 
Dеко=EтDукт86=Kе 
опеD4F88 =4 EоEуд4E 
E8Eте<K 6оDот=о9 6е=K, 
Eте=т8Dо64=8е 6=утD8- 8 
6=епеGе=оG=KE 6елG=KE 
пDотоко6 

D18.0, D13.4, 

D13.5, B67.0, 

K76.6, K76.8, 

Q26.5, I85.0 

745оле64=8O, 6Dо6де==Kе 
4=о<4л88 пеGе=8, 
6елG=KE пDотоко6, 
6оDот=о9 6е=K. 
�о6оо5D47о64=8O пеGе=8. 
�о6оо5D47о64=8O 
6=утD8пеGе=оG=KE 
6елG=KE пDотоко6. 
�о6оо5D47о64=8O 
6=епеGе=оG=KE 6елG=KE 
пDотоко6. 
�о6оо5D47о64=8O 
6елG=о7о пу7KDO. �=6478O 
пеGе=8, 6K764==4O 
ME8=ококко< 

E8DуD78GеEкое 
леGе=8е 

Dе7екF8O пеGе=8 E 
8EполL7о64=8е< 
л4п4DоEкоп8GеEко9 теE=8к8 

 

Dе7екF8O од=о7о Eе7<е=т4 
пеGе=8 

 

Dе7екF8O Eе7<е=т4 
(Eе7<е=то6) пеGе=8 E 
Dеко=EтDукт86=о-

пл4Eт8GеEк8< ко<по=е=то< 

 

Dе7екF8O пеGе=8 4т8п8G=4O  

M<5ол874F8O пеGе=8 E 
8EполL7о64=8е< 
лек4DEт6е==KE EDедEт6 
Dе7екF8O Eе7<е=т4 
(Eе7<е=то6) пеGе=8 
ко<58=8Dо64==4O E 

 



4=78опл4Eт8ко9 

45лOF8O пD8 
=о6оо5D47о64=8OE пеGе=8 

 еко=EтDукт86=о-

пл4Eт8GеEк8е, 6 то< G8Eле 
л4п4DоEкоп8GеEк8 
4EE8Eт8Dо64==Kе 
опеD4F88 =4 то=ко9, 
толEто9 к8Hке 8 
пDо<е6=оEт8 

D12.6, K60.4, 

N82.2, N82.3, 

N82.4, K57.2, 

K59.3, Q43.1, 

Q43.2, Q43.3, 

Q52.2; K59.0, 

K59.3; Z93.2, 

Z93.3, K55.2, K51, 

K50.0, K50.1, 

K50.8, K57.2, 

K62.3, K62.8 

Eе<е9=K9 4де=о<4то7 
толEто9 к8Hк8, тот4лL=ое 
поD46е=8е 6EеE отдело6 
толEто9 к8Hк8 пол8п4<8 

E8DуD78GеEкое 
леGе=8е 

Dеко=EтDукт86=о-

пл4Eт8GеEк4O опеD4F8O по 
6оEEт4=о6ле=8N 
=епDеDK6=оEт8 к8HеG=8к4 - 
74кDKт8е Eто<K E 
DоD<8Dо64=8е< 4=4Eто<о74 

колMкто<8O E Dе7екF8е9 
пDO<о9 к8Hк8, 
<уко7Mкто<8е9 пDO<о9 
к8Hк8, E DоD<8Dо64=8е< 
то=кок8HеG=о7о Dе7еD6у4D4, 
8леоDект4лL=о7о 4=4Eто<о74, 
8леоEто<8O, Eу5тот4лL=4O 
Dе7екF8O о5одоG=о9 к8Hк8 E 
5DNH=о-4=4лL=о9 Dе7екF8е9 
пDO<о9 к8Hк8 8 =876еде=8е< 
пD46KE отдело6 о5одоG=о9 
к8Hк8 6 4=4лL=K9 к4=4л 

 

   E68I пDO<о9 к8Hк8 3 - 4 

Eтепе=8 Eло6=оEт8 

E8DуD78GеEкое 
леGе=8е 

8EEеGе=8е E68I4, пл4Eт8к4 
E68Iе6о7о от6еDEт8O 
пол=оEло9=K< лоEкуто< 
Eте=к8 пDO<о9 к8Hк8 - 
Eе7<е=т4D=4O пDоктопл4Eт8к4, 
пл4Eт8к4 4=4лL=KE 
ED8=ктеDо6 

 

   Dекто6478=4лL=K9 
(коло6478=4лL=K9) E68I 

E8DуD78GеEкое 
леGе=8е 

8EEеGе=8е E68I4 E пл4Eт8ко9 
6=утDе==е7о E68Iе6о7о 
от6еDEт8O Eе7<е=то< пDO<о9 

 



8л8 о5одоG=о9 к8Hк8 

   д86еDт8кулOD=4O 5оле7=L 
о5одоG=о9 к8Hк8, 
оEло6=е==ое теGе=8е 

E8DуD78GеEкое 
леGе=8е 

Dе7екF8O о5одоG=о9 к8Hк8, 6 
то< G8Eле E л8к68д4F8е9 
E68I4 

 

   <е74дол8Eоколо=, 
DеF8д868DуNI8е 
746оDотK E87<о68д=о9 
к8Hк8 

E8DуD78GеEкое 
леGе=8е 

Dе7екF8O о5одоG=о9 к8Hк8 E 
4ппе=дMкто<8е9, D476оDото< 
к8Hк8 =4 180 7D4дуEо6, 
DоD<8Dо64=8е< 4EFе=до-

Dект4лL=о7о 4=4Eто<о74 

 

   5оле7=L �8DHпDу=74, 
<е74дол8EоE87<4 

E8DуD78GеEкое 
леGе=8е 

Dе7екF8O о5одоG=о9 к8Hк8 E 
DоD<8Dо64=8е< 
=4д4=4лL=о7о ко=Fе-5око6о7о 
колоDект4лL=о7о 4=4Eто<о74 

 

   EDо=8GеEк89 
толEток8HеG=K9 Eт47 6 
Eт4д88 деко<пе=E4F88 

E8DуD78GеEкое 
леGе=8е 

Dе7екF8O о5одоG=о9 к8Hк8 E 
4ппе=дMкто<8е9, D476оDото< 
к8Hк8 =4 180 7D4дуEо6, 
DоD<8Dо64=8е< 4EFе=до-

Dект4лL=о7о 4=4Eто<о74 

 

   колоEто<4, 8леоEто<4, 
еN=оEто<4, EоEтоO=8е 
поEле о5EтDукт86=о9 
Dе7екF88 о5одоG=о9 
к8Hк8 

E8DуD78GеEкое 
леGе=8е 

Dеко=EтDукт86=о-

6оEEт4=о68телL=4O опеD4F8O 
по 6оEEт4=о6ле=8N 
=епDеDK6=оEт8 к8HеG=8к4 E 

л8к68д4F8е9 Eто<K, 
DоD<8Dо64=8е< 4=4Eто<о74 

 

   6Dо6де==4O 
4=78од8Eпл478O толEто9 
к8Hк8 

E8DуD78GеEкое 
леGе=8е 

Dе7екF8O поD46е==KE 
отдело6 о5одоG=о9 8 (8л8) 
пDO<о9 к8Hк8 

 

   O76е==K9 кол8т, E8DуD78GеEкое колпDоктMкто<8O E  



тот4лL=ое поD46е=8е, 
EDо=8GеEкое =епDеDK6=ое 
теGе=8е, тO6ел4O 
7оD<о=о7468E8<4O 8л8 
7оD<о=оDе78Eте=т=4O 
DоD<4 

леGе=8е DоD<8Dо64=8е< 
Dе7еD6у4D=о7о 4=4Eто<о74, 
8леоEто<8O 

   колMкто<8O E 5DNH=о-

4=4лL=о9 Dе7екF8е9 пDO<о9 
к8Hк8, 8леоEто<8O 

 

   Dе7екF8O оEт46H8EEO отдело6 
о5одоG=о9 8 пDO<о9 к8Hк8, 
8леоEто<8O 

 

   5оле7=L КDо=4 то=ко9, 
толEто9 к8Hк8 8 6 DоD<е 
8леокол8т4, оEло6=е==ое 
теGе=8е, тO6ел4O 
7оD<о=о7468E8<4O 8л8 
7оD<о=оDе78Eте=т=4O 
DоD<4 

E8DуD78GеEкое 
леGе=8е 

колпDоктMкто<8O E 
DоD<8Dо64=8е< 
Dе7еD6у4D=о7о 4=4Eто<о74, 
8леоEто<8O 

 

   Dе7екF8O поD46е==о7о 
уG4Eтк4 то=ко9 8 (8л8) толEто9 
к8Hк8, 6 то< G8Eле E 
DоD<8Dо64=8е< 4=4Eто<о74, 
8леоEто<8O (колоEто<8O) 

 

2. %8DуD78GеEкое леGе=8е 
=о6оо5D47о64=89 
=4дпоGеG=8ко6 8 
745DNH8==о7о 
пDоEтD4=Eт64 

E27.5, D35.0, 

D48.3, E26.0, E24 

=о6оо5D47о64=8O 
=4дпоGеG=8ко6 8 
745DNH8==о7о 
пDоEтD4=Eт64 745оле64=8O 
=4дпоGеG=8ко6 
78пеD4лLдоEтеDо=87< 
78пеDкоDт8F87<. !8=дDо< 
�Fе=ко - КуH8=74 
(коDт8коEтеDо<4) 

E8DуD78GеEкое 
леGе=8е 

од=оEтоDо==OO 
4дDе=4лMкто<8O откDKтK< 
доEтупо< (л4п4Dото<8O, 
лN<5ото<8O, 
тоD4коDDе=ол4п4Dото<8O) 

158064 

уд4ле=8е п4D474=7л8о<K 
откDKтK< доEтупо< 
(л4п4Dото<8O, лN<5ото<8O, 
тоD4коDDе=ол4п4Dото<8O) 

 

M=доEкоп8GеEкое уд4ле=8е  



п4D474=7л8о<K 
4оDток464лL=4O 
л8<D4де=Mкто<8O 
л4п4Dото<=K< доEтупо< 

     M=доEкоп8GеEк4O 
4дDе=4лMкто<8O E опуEолLN 

 

     д6уEтоDо==OO 
M=доEкоп8GеEк4O 
4дDе=4лMкто<8O 
д6уEтоDо==OO 
M=доEкоп8GеEк4O 
4дDе=4лMкто<8O E опуEолO<8 
4оDток464лL=4O 
л8<D4де=Mкто<8O 
M=доEкоп8GеEк4O 

уд4ле=8е =еоD74==о9 
745DNH8==о9 опуEол8 

 

�куHеDEт6о 8 78=еколо78O 

3. Ко<плекE=ое леGе=8е пD8 
пD86KG=о< 
=е6K=4H864=88 
5еDе<е==оEт8, 6K764==о< 
тDо<5оD8л8GеEк8<8 
<ут4F8O<8, 
4=т8DоEDол8п8д=K< 
E8=дDо<о<, Dе7уE-

Eе=E858л874F8е9, E 
пD8<е=е=8е< 
E8<8отеD4пе6т8GеEк8E, 
7е==о-8=6е=еD=KE, 
58оло78GеEк8E, 

O36.0, O36.1 пD86KG=K9 6Kк8дKH, 
EопDо6о6д4NI89EO 
Dе7уE-8<<у=874F8е9 

теD4пе6т8GеEко
е леGе=8е 

теD4п8O E 8EполL7о64=8е< 
7е==о-8=6е=еD=KE 
лек4DEт6е==KE пDеп4D4то6, E 
поEледуNI8< 66еде=8е< 
8<<у=о7ло5ул8=о6 под 
ко=тDоле< <олекулOD=KE 
д847=оEт8GеEк8E <етод8к, 
8<<у=оDеD<е=т=KE, 
7е<оEт478оло78GеEк8E 
<етодо6 8EEледо64=8O 

111741 

O28.0 пD86KG=K9 6Kк8дKH, 
о5уEло6ле==K9 

теD4пе6т8GеEко
е леGе=8е 

теD4п8O E 8EполL7о64=8е< 
7е==о-8=6е=еD=KE 

 



о=то7е=ет8GеEк8E, 
<олекулOD=о-

7е=ет8GеEк8E 8 
8<<у=о7е=ет8GеEк8E 
<етодо6 коDDекF88 

EоGет4==о9 
тDо<5оD8л8е9 
(4=т8DоEDол8п8д=K9 
E8=дDо< 8 6Dо6де==4O 
тDо<5оD8л8O) E 785елLN 
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  C64 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O поGк8 
(III - IV Eт4д8O) 

E8DуD78GеEкое 
леGе=8е 

=еDDMкто<8O E 
тDо<5Mкто<8е9 

 

 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O поGк8 (I 
- II Eт4д8O) 

E8DуD78GеEкое 
леGе=8е 

кD8одеEтDукF8O 
7лок4GеEт6е==KE 
=о6оо5D47о64=89 поGк8 

 

 Dе7екF8O поGк8 E 
пD8<е=е=8е< D878GеEк8E 

 



<етодо6 6о7де9Eт68O 
(D4д8оG4Eтот=4O 45л4F8O, 
8=теDEт8F84лL=4O л47еD=4O 
45л4F8O) 

  C67 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
<оGе6о7о пу7KDO (I - IV 

Eт4д8O) 

E8DуD78GеEкое 
леGе=8е 

F8EтпDоEт4т6е78кулMкто<8O E 
D4EH8Dе==о9 
л8<D4де=Mкто<8е9 

 

 Dе7екF8O <оGе6о7о пу7KDO E 
8=тD4опеD4F8о==о9 
Dотод8=4<8GеEко9 теD4п8е9 

 

 тD4=EуDетD4лL=4O Dе7екF8O 
<оGе6о7о пу7KDO E 
8=тD4опеD4F8о==о9 
Dотод8=4<8GеEко9 теD4п8е9, 
78пеDтеD<8е9 8л8 
=87ко8=те=E86=K< л47еD=K< 
87луGе=8е< 

 

  C74 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
=4дпоGеG=8к4 (I - III 
Eт4д8O) (T1a-T3aNxMo) 

E8DуD78GеEкое 

леGе=8е 

уд4ле=8е DеF8д86=о9 
опуEол8 =4дпоGеG=8к4 E 
D4EH8Dе==о9 
л8<D4де=Mкто<8е9 

 

 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
=4дпоGеG=8к4 (III - IV 

Eт4д8O) 

E8DуD78GеEкое 
леGе=8е 

D4EH8Dе==4O 4дDе=4лMкто<8O 
8л8 4дDе=4лMкто<8O E 
Dе7екF8е9 EоEед=8E оD74=о6 

 

  C78 <ет4Eт4т8GеEкое 
поD46е=8е ле7ко7о 

E8DуD78GеEкое 
леGе=8е 

4=4то<8GеEк8е (ло5Mкто<8O, 
Eе7<е=тMкто<8O) 8 4т8п8G=Kе 
Dе7екF88 ле7ко7о пD8 
<=о6еEт6е==KE, 

 



DеF8д868DуNI8E, 
д6уEтоDо==8E <ет4Eт474E 6 
ле7к8е 

 уд4ле=8е (пDеF878о==ое, 
Dе7екF8O ле7ко7о) 
<=о6еEт6е==KE <ет4Eт47о6 6 
ле7к8E E пD8<е=е=8е< 
D878GеEк8E D4ктоDо6 

 

     87ол8Dо64==4O Dе78о=4D=4O 
78пеDтеD<8GеEк4O 
E8<8опеDDу78O ле7ко7о 

 

 Ко<58=8Dо64==ое 
леGе=8е 7лок4GеEт6е==KE 
=о6оо5D47о64=89, 
EоGет4NIее о5H8D=Kе 
E8DуD78GеEк8е 
6<еH4телLEт64 8 
пDот86оопуEоле6ое 
леGе=8е лек4DEт6е==K<8 
пDеп4D4т4<8, тDе5уNIее 
8=те=E86=о9 
поддеD6864NIе9 8 
коDDе78DуNIе9 теD4п88 

C38, C39 <еEт=оD4EпDоEтD4=е==Kе 
опуEол8 оD74=о6 
EDедоEте=8O 

ко<58=8Dо64==
ое леGе=8е 

пDедопеD4F8о==4O 8л8 
поEлеопеD4F8о==4O 
E8<8отеD4п8O E пDо6еде=8е< 
E8DуD78GеEко7о 
6<еH4телLEт64 6 теGе=8е 
од=о9 7оEп8т4л874F88 

 

 C50 пеD68G=K9 D4к <олоG=о9 
6еле7K T1N2-3M0, T2-

3N1-3M0 

ко<58=8Dо64==
ое леGе=8е 

поEлеопеD4F8о==4O 
E8<8отеD4п8O E пDо6еде=8е< 
E8DуD78GеEко7о 
6<еH4телLEт64 6 теGе=8е 
од=о9 7оEп8т4л874F88 

 

 пDедопеD4F8о==4O 8л8 
поEлеопеD4F8о==4O 
E8<8отеD4п8O E пDо6еде=8е< 
E8DуD78GеEко7о 
6<еH4телLEт64 6 теGе=8е 
од=о9 7оEп8т4л874F88 

 

17. �8Eт4=F8о==4O, C22 7лок4GеEт6е==Kе теD4пе6т8GеEко 6KEоко8=те=E86=4O 84469 



6=утD8тк4=е64O, 
6=утD8полоEт=4O, 
EтеDеот4кE8GеEк4O, 
D4д8о=укл8д=4O луGе64O 
теD4п8O, 
6KEоко8=те=E86=4O 

DокуE8Dо64==4O 
улLтD476уко64O теD4п8O 
(HIFU) пD8 
7лок4GеEт6е==KE 
=о6оо5D47о64=8OE, 6 то< 
G8Eле у дете9 

=о6оо5D47о64=8O пеGе=8 
(II - IV Eт4д8O (T3-4N0-1M0-

1). �4F8е=тK E 
<=о6еEт6е==K<8 
опуEолO<8 пеGе=8. 
�4F8е=тK E 
=еDе7ект45елL=K<8 
опуEолO<8. 
$у=кF8о=4лL=о 
=еопеD45елL=Kе 
п4F8е=тK 

е леGе=8е DокуE8Dо64==4O 
улLтD476уко64O теD4п8O (HIFU) 

C25 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
под6елудоG=о9 6еле7K (II 
- IV Eт4д8O (T3-4N0-1M0-1). 

�4F8е=тK E 
=еDе7ект45елL=K<8 8 
уEло6=о Dе7ект45елL=K<8 
опуEолO<8. �4F8е=тK E 
7е=еD4л87о64==K<8 
опуEолO<8 (6 пл4=е 
п4лл84т86=о7о леGе=8O). 
$у=кF8о=4лL=о 
=еопеD45елL=Kе 
п4F8е=тK 

теD4пе6т8GеEко
е леGе=8е 

6KEоко8=те=E86=4O 
DокуE8Dо64==4O 
улLтD476уко64O теD4п8O (HIFU) 
пD8 7лок4GеEт6е==KE 
=о6оо5D47о64=8OE 
под6елудоG=о9 6еле7K 

  C40, C41 <ет4Eт4т8GеEкое 
поD46е=8е коEте9 

теD4пе6т8GеEко
е леGе=8е 

6KEоко8=те=E86=4O 
DокуE8Dо64==4O 
улLтD476уко64O теD4п8O (HIFU) 
пD8 7лок4GеEт6е==KE 
=о6оо5D47о64=8OE коEте9 

  C48, C49 7лок4GеEт6е==Kе теD4пе6т8GеEко 6KEоко8=те=E86=4O 



=о6оо5D47о64=8O 
745DNH8==о7о 
пDоEтD4=Eт64 (I - IV Eт4д8O 
(G1-3T1-2N0-1M0-1). 

�4F8е=тK E 
<=о6еEт6е==K<8 
опуEолO<8. 
$у=кF8о=4лL=о 
=еопеD45елL=Kе 
п4F8е=тK 

е леGе=8е DокуE8Dо64==4O 
улLтD476уко64O теD4п8O (HIFU) 
пD8 7лок4GеEт6е==KE 
=о6оо5D47о64=8OE 
745DNH8==о7о пDоEтD4=Eт64 

  C50, C67, C74, C73 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
<олоG=о9 6еле7K (T2-

3N0-3M0-1). �4F8е=тK E 
7е=еD4л87о64==K<8 
опуEолO<8 пD8 
=е6о7<о6=оEт8 
пD8<е=е=8O 
тD4д8F8о==KE <етодо6 
леGе=8O. $у=кF8о=4лL=о 
=еопеD45елL=Kе 
п4F8е=тK 

теD4пе6т8GеEко
е леGе=8е 

6KEоко8=те=E86=4O 
DокуE8Dо64==4O 
улLтD476уко64O теD4п8O (HIFU) 
пD8 7лок4GеEт6е==KE 
=о6оо5D47о64=8OE <олоG=о9 
6еле7K 

  C61 лок4л87о64==Kе 
7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
пDедEт4телL=о9 6еле7K (I 
- II Eт4д8O (Tl-2cN0M0) 

теD4пе6т8GеEко
е леGе=8е 

6KEоко8=те=E86=4O 
DокуE8Dо64==4O 
улLтD476уко64O теD4п8O (HIFU) 
пD8 7лок4GеEт6е==KE 
=о6оо5D47о64=8OE пDоEт4тK 

18. Ко<плекE=4O 8 
6KEокодо7=4O 
E8<8отеD4п8O (6клNG4O 
Mп87е=о<=уN теD4п8N) 

C81 - C90, C91.0, 

C91.5 - C91.9, C92, 

C93, C94.0, C94.2 - 

C94.7, C95, C96.9, 

оEтDKе ле9ко7K, 
6KEоко7лок4GеEт6е==Kе 
л8<Dо<K, DеF8д86K 8 
Dе78Eте=т=Kе DоD<K 

теD4пе6т8GеEко
е леGе=8е 

ко<плекE=4O теD4п8O 
т4D7ет=K<8 лек4DEт6е==K<8 
пDеп4D4т4<8 8 
E8<8опDеп4D4т4<8 E 
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оEтDKE ле9ко7о6, 
6KEоко7лок4GеEт6е==KE 
л8<Dо<, DеF8д86о6 8 
DеDD4ктеD=KE DоD< 
л8<DопDол8DеD4т86=KE 8 
<8елопDол8DеD4т86=KE 
745оле64=89, 6 то< G8Eле 
у дете9. Ко<плекE=4O, 
6KEоко8=те=E86=4O 8 
6KEокодо7=4O 
E8<8отеD4п8O (6клNG4O 
т4D7ет=уN теD4п8N) 
Eол8д=KE опуEоле9, 
DеF8д86о6 8 
DеDD4ктеD=KE DоD< 
Eол8д=KE опуEоле9 у 
дете9 

C00 - C14, C15 - 

C21, C22, C23 - 

C26, C30 - C32, 

C34, C37, C38, 

C39, C40, C41, 

C45, C46, C47, 

C48, C49, C51 - 

C58, C60, C61, 

C62, C63, C64, 

C65, C66, C67, 

C68, C69, C71, 

C72, C73, C74, 

C75, C76, C77, 

C78, C79 

дDу78E 
л8<DопDол8DеD4т86=KE 
745оле64=89, EDо=8GеEк89 
<8елоле9ко7 6 D474E 
4кEелеD4F88 8 5л4Eт=о7о 
кD874. !ол8д=Kе опуEол8 
у дете9 6KEоко7о D8Eк4: 
опуEол8 Fе=тD4лL=о9 
=еD6=о9 E8Eте<K, 
Dет8=о5л4Eто<4, 
=е9Dо5л4Eто<4 8 дDу78е 
опуEол8 пеD8DеD8GеEко9 
=еD6=о9 E8Eте<K, опуEол8 
поGк8, опуEол8 пеGе=8, 
опуEол8 коEте9, E4Dко<K 
<O7к8E тк4=е9, 
7еD<8=о7е==Kе опуEол8. 
 4к =оEо7лотк8. 
�ел4=о<4. �Dу78е 
7лок4GеEт6е==Kе 
Mп8тел84лL=Kе опуEол8. 
ОпуEол8 7оло6K 8 Hе8 у 
дете9 (оEтеоE4Dко<4, 
опуEол8 Eе<е9Eт64 
E4Dко<K .8=74, 
Eо=дDоE4Dко<4, 
7лок4GеEт6е==4O 
D85Dо7=4O 78Eт8оF8то<4, 
E4Dко<K <O7к8E тк4=е9, 
Dет8=о5л4Eто<4, опуEол8 
п4D4<е=8=7е4лL=о9 
о5л4Eт8). �KEок89 D8Eк 

поддеD6ко9 DоEто6K<8 
D4ктоD4<8 8 8EполL7о64=8е< 
4=т854ктеD84лL=о9, 
пDот86о7D85ко6о9 8 
пDот86о68DуE=о9 теD4п88 

ОтоD8=ол4D8=7оло78O 



19.  еко=EтDукт86=Kе 
опеD4F88 =4 
76укопDо6одOIе< 
4пп4D4те EDед=е7о уE4 

H66.1, H66.2, Q16, 

H80.0, H80.1, 

H80.9, H74.1, 

H74.2, H74.3, H90 

EDо=8GеEк89 
ту5от8<п4лL=K9 7=о9=K9 
EDед=89 от8т. 
%Dо=8GеEк89 Mп8т8<п4=о-

4=тD4лL=K9 7=о9=K9 
EDед=89 от8т. �д7е786=4O 
5оле7=L EDед=е7о уE4. 
 47DK6 8 д8Eлок4F8O 
EлуEо6KE коEтоGек. �Dу78е 
пD8о5Dете==Kе деDектK 
EлуEо6KE коEтоGек. 
�Dо6де==Kе 4=о<4л88 
(поDок8 D4768т8O) уE4, 
6K7K64NI8е =4DуHе=8е 
EлуE4. ОтоEклеDо7, 
6о6лек4NI89 о64лL=ое 
ок=о, =ео5л8теD8DуNI89. 
ОтоEклеDо7 
=еутоG=е==K9. 
Ко=дукт86=4O 8 
=е9DоEе=EоD=4O потеDO 
EлуE4. ОтоEклеDо7, 
6о6лек4NI89 о64лL=ое 
ок=о, о5л8теD8DуNI89 

E8DуD78GеEкое 
леGе=8е 

Dеко=EтDукF8O 4=4то<8GеEк8E 
EтDуктуD 8 76укопDо6одOIе7о 
4пп4D4т4 EDед=е7о уE4 E 
пD8<е=е=8е< 
<8кDоE8DуD78GеEко9 теE=8к8, 
4утотк4=е9 8 4лло7е==KE 
тD4=Eпл4=т4то6, 6 то< G8Eле 
<ет4лл8GеEк8E, E о5=46е=8е< 
л8Fе6о7о =еD64, 
Dе8==еD64F8е9 8 
8EполL7о64=8е< E8Eте<K 
<о=8тоD8=74 л8Fе6о7о =еD64 
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 Dеко=EтDукт86=Kе опеD4F88 
пD8 6Dо6де==KE 4=о<4л8OE 
D4768т8O 8 пD8о5Dете==о9 
4тDе788 6EледEт68е 
EDо=8GеEко7о 7=о9=о7о 
EDед=е7о от8т4 E 
пD8<е=е=8е< 
<8кDоE8DуD78GеEко9 теE=8к8, 
луGе6о9 теE=8к8, 4утотк4=е9 8 
4лло7е==KE тD4=Eпл4=т4то6, 6 
то< G8Eле <ет4лл8GеEк8E 

 

 Dеко=EтDукт86=Kе 
EлуEоулуGH4NI8е опеD4F88 
поEле D4д8к4лL=о9 опеD4F88 
=4 EDед=е< уEе пD8 
EDо=8GеEко< 7=о9=о< 
EDед=е< от8те 

 

 EлуEоулуGH4NI8е опеD4F88 E 
пD8<е=е=8е< G4Eт8G=о 

 



8<пл4=т8Dуе<о7о уEтDо9Eт64 
коEт=о9 пDо6од8<оEт8 

  H74.1, H74.2, 

H74.3, H90 

4д7е786=4O 5оле7=L 
EDед=е7о уE4.  47DK6 8 
д8Eлок4F8O EлуEо6KE 
коEтоGек 

E8DуD78GеEкое 
леGе=8е 

т8<п4=опл4Eт8к4 E 
пD8<е=е=8е< 
<8кDоE8DуD78GеEко9 теE=8к8, 
4лло7е==KE тD4=Eпл4=т4то6, 6 
то< G8Eле <ет4лл8GеEк8E 

 

     Eт4педопл4Eт8к4 пD8 
п4толо78GеEко< пDоFеEEе, 
6Dо6де==о< 8л8 
пD8о5Dете==о<, E 
6о6леGе=8е< ок=4 
пDедд6еD8O, E пD8<е=е=8е< 
4утотк4=е9 8 4лло7е==KE 
тD4=Eпл4=т4то6, 6 то< G8Eле 
<ет4лл8GеEк8E 

 

     EлуEоулуGH4NI8е опеD4F88 E 
пD8<е=е=8е< 8<пл4=т4т4 
EDед=е7о уE4 

 

20. %8DуD78GеEкое леGе=8е 
5оле7=8 �е=LеD4 8 дDу78E 
=4DуHе=89 6еEт85улOD=о9 
Dу=кF88 

H81.0, H81.1, 

H81.2 

5оле7=L �е=LеD4. 
�о5Dок4GеEт6е==ое 
п4DокE87<4лL=ое 
7оло6окDу6е=8е. 
�еEт85улOD=K9 =е9Dо=8т. 
$8Eтул4 л458D8=т4 

E8DуD78GеEкое 
леGе=8е 

Eелект86=4O =е9Dото<8O 60064 

 деEтDукт86=Kе 
<8кDоE8DуD78GеEк8е 
6<еH4телLEт64 =4 EтDуктуD4E 
6=утDе==е7о уE4 E 
пD8<е=е=8е< луGе6о9 
теE=8к8 

 

  H81.1, H81.2 до5Dок4GеEт6е==ое 
п4DокE87<4лL=ое 
7оло6окDу6е=8е. 

E8DуD78GеEкое 
леGе=8е 

дDе=8Dо64=8е 
M=дол8<D4т8GеEк8E 
пDоEтD4=Eт6 6=утDе==е7о уE4 E 

 



�еEт85улOD=K9 =е9Dо=8т. 
$8Eтул4 л458D8=т4 

пD8<е=е=8е< 
<8кDоE8DуD78GеEко9 8 
луGе6о9 теE=8к8 

 %8DуD78GеEкое леGе=8е 
до5Dок4GеEт6е==KE 
=о6оо5D47о64=89 
около=оEо6KE п47уE, 
оE=о64=8O GеDеп4 8 
EDед=е7о уE4 

J32.3 до5Dок4GеEт6е==ое 
=о6оо5D47о64=8е полоEт8 
=оE4 8 пD8д4тоG=KE п47уE 
=оE4, п47уE кл8=о68д=о9 
коEт8 

E8DуD78GеEкое 
леGе=8е 

уд4ле=8е =о6оо5D47о64=8O E 
пD8<е=е=8е< 
M=доEкоп8GеEко9, 
=46874F8о==о9 теE=8к8 8 
M=до64EкулOD=о9 
M<5ол874F88 EоEудо6 
<8кDоM<5ол4<8 8 пD8 
по<оI8 4д7е786=о7о 47е=т4 

 

  еко=EтDукт86=о-

пл4Eт8GеEкое 
6оEEт4=о6ле=8е Dу=кF88 
7оDт4=8 8 тD4Eе8 

J38.6, D14.1, 

D14.2, J38.0, 

J38.3, R49.0, R49.1 

Eте=о7 7оDт4=8. 
�о5Dок4GеEт6е==ое 
=о6оо5D47о64=8е 7оDт4=8. 
�о5Dок4GеEт6е==ое 
=о6оо5D47о64=8е тD4Eе8. 
�4D4л8G 7олоEо6KE 
Eкл4док 8 7оDт4=8. �Dу78е 
5оле7=8 7олоEо6KE 
Eкл4док. �8EDо=8O. 
�Dо=8O 

E8DуD78GеEкое 
леGе=8е 

уд4ле=8е =о6оо5D47о64=8O 
8л8 Dу5F4 7оDт4=8 8 тD4Eе8 E 
8EполL7о64=8е< 
<8кDоE8DуD78GеEко9 8 
луGе6о9 теE=8к8 

 

 M=дол4D8=7е4лL=Kе 
Dеко=EтDукт86=о-

пл4Eт8GеEк8е 6<еH4телLEт64 
=4 7олоEо6KE Eкл4дк4E E 
8EполL7о64=8е< 8<пл4=т4то6 
8 4лло7е=KE <4теD84ло6 E 
пD8<е=е=8е< 
<8кDоE8DуD78GеEко9 теE=8к8 

 

  J38.3, R49.0, R49.1 дDу78е 5оле7=8 7олоEо6KE 
Eкл4док. �8EDо=8O. 
�Dо=8O 

E8DуD78GеEкое 
леGе=8е 

л4D8=7отD4Eеопл4Eт8к4 пD8 
до5Dок4GеEт6е==KE 
=о6оо5D47о64=8OE 7оDт4=8, 
п4D4л8Gе 7олоEо6KE Eкл4док 
8 7оDт4=8, Eте=о7е 7оDт4=8 

 

     опеD4F88 по Dе8==еD64F88 8  



74<еEт8телL=о9 
Dу=кF8о=4лL=о9 пл4Eт8ке 
7оDт4=8 8 тD4Eе8 E 
пD8<е=е=8е< 
<8кDоE8DуD78GеEко9 теE=8к8 
8 MлектDо<8о7D4D8GеEк8< 
<о=8тоD8=7о< 

 %8DуD78GеEк8е 
6<еH4телLEт64 =4 
около=оEо6KE п47уE4E, 
тDе5уNI8е 
Dеко=EтDукF88 л8Fе6о7о 
Eкелет4 

T90.2, T90.4, 

D14.0 

поEледEт68O пеDело<4 
GеDеп4 8 коEте9 л8F4. 
�оEледEт68O тD46<K 7л474 
около7л47=8G=о9 о5л4Eт8. 
�о5Dок4GеEт6е==ое 
=о6оо5D47о64=8е 
EDед=е7о уE4, полоEт8 
=оE4 8 пD8д4тоG=KE п47уE 
=оE4 

E8DуD78GеEкое 
леGе=8е 

коEт=4O пл4Eт8к4 Eте=ок 
около=оEо6KE п47уE E 
8EполL7о64=8е< 4утокоEт=KE 
тD4=Eпл4=т4то6, 4лло7е==KE 
тD4=Eпл4=т4то6, 8<пл4=т4то6, 
6 то< G8Eле <ет4лл8GеEк8E, 
M=допDоте7о6, 
58оде7D4д8DуNI8E 8 
D8кE8DуNI8E <4теD84ло6 

 

ОDт4лL<оло78O 

21. Ко<плекE=ое 
E8DуD78GеEкое леGе=8е 
7л4уко<K, 6клNG4O 
<8кDо8=64786=уN 
M=еD7ет8GеEкуN опт8ко-

Dеко=EтDукт86=уN 8 
л47еD=уN E8DуD78N, 
8<пл4=т4F8N D47л8G=KE 
68до6 дDе=46е9 

H26.0 - H26.4, 

H40.1 - H40.8, 

Q15.0 

7л4уко<4 E по6KHе==K< 
8л8 6KEок8< 
6=утD87л47=K< 
д46ле=8е< D4768то9, 
д4леко 74HедHе9 Eт4д88, 
6 то< G8Eле E 
оEло6=е=8O<8, у 
67DоEлKE. �Dо6де==4O 
7л4уко<4, 7л4уко<4 
6тоD8G=4O 6EледEт68е 
6оEп4л8телL=KE 8 дDу78E 
745оле64=89 7л474, 6 то< 
G8Eле E оEло6=е=8O<8, у 
дете9 

E8DуD78GеEкое 
леGе=8е 

<од8D8F8Dо64==4O 
E8=уEтD45екулMкто<8O E 
74д=е9 тDеп4=4F8е9 EклеDK, 6 
то< G8Eле E пD8<е=е=8е< 
л47еD=о9 E8DуD788 

62641 

 <од8D8F8Dо64==4O 
E8=уEтD45екулMкто<8O, 6 то< 
G8Eле улLтD476уко64O 
D4коM<улLE8D8к4F8O 
оEло6=е==о9 к4т4D4ктK E 
8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K 

 

 E8=уEтD45екулMкто<8O E  



8<пл4=т4F8е9 D47л8G=KE 
<оделе9 дDе=46е9 E 74д=е9 
тDеп4=4F8е9 EклеDK 

 подH864=8е F8л84D=о7о тел4 
E 74д=е9 тDеп4=4F8е9 EклеDK 

 

 68Eкок4=4лоEто<8O  

 <8кDо8=64786=4O 
8=тD4EклеD4лL=4O 
д84теD<оEто<8O 

 

     <8кDо8=64786=4O E8DуD78O 
Hле<<о64 к4=4л4 

 

 =епDо=8к4NI4O 7лу5ок4O 

EклеDMкто<8O E 
улLтD476уко6о9 
D4коM<улLE8D8к4F8е9 
оEло6=е==о9 к4т4D4ктK E 
8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K, 6 то< 
G8Eле E пD8<е=е=8е< 
л47еD=о9 E8DуD788 

 

     Dеко=EтDукF8O пеDед=е9 
к4<еDK, 8D8допл4Eт8к4 E 
улLтD476уко6о9 
D4коM<улLE8D8к4F8е9 
оEло6=е==о9 к4т4D4ктK E 
8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K, 6 то< 
G8Eле E пD8<е=е=8е< 
л47еD=о9 E8DуD788 

 



 уд4ле=8е 6тоD8G=о9 
к4т4D4ктK E Dеко=EтDукF8е9 
74д=е9 к4<еDK E 
8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K 

 

     Dеко=EтDукF8O пеDед=е9 
к4<еDK E л47еD=о9 
MкEтD4кF8е9 оEло6=е==о9 
к4т4D4ктK E 8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K 
8<пл4=т4F8O 
4=т87л4уко<4то7=о7о 
дDе=464 <од8D8F8Dо64==4O 
E8=уEтD45екулMкто<8O E 
8<пл4=т4F8е9 
4=т87л4уко<4то7=о7о 
дDе=464 4=т87л4уко<4то7=4O 
опеD4F8O E улLтD476уко6о9 
D4коM<улLE8D8к4F8е9 
оEло6=е==о9 к4т4D4ктK E 
8<пл4=т4F8е9 Mл4Eт8G=о9 
8=тD4окулOD=о9 л8=7K, 6 то< 
G8Eле E пD8<е=е=8е< 
л47еD=о9 E8DуD788 

 

 &D4=Eпуп8ллOD=4O, 
<8кDо8=64786=4O 
M=еD7ет8GеEк4O опт8ко-

Dеко=EтDукт86=4O, 
8=тD468тDе4лL=4O, 
M=до68тDе4лL=4O 23 - 27 

7е9д6е64O E8DуD78O пD8 

E10.3, E11.3, 

H25.0 - H25.9, 

H26.0 - H26.4, 

H27.0, H28, H30.0 

- H30.9, H31.3, 

H32.8, H33.0 - 

H33.5, H34.8, 

EоGет4==4O п4толо78O 
7л474 у 67DоEлKE 8 дете9 
(EоD8оDет8=4лL=Kе 
6оEп4ле=8O, 
EоD8оDет8=4лL=Kе 
=4DуHе=8O пD8 5оле7=OE, 
кл4EE8D8F8Dо64==KE 6 

E8DуD78GеEкое 
леGе=8е 

Mп8EклеD4лL=ое кDу7о6ое 8 
(8л8) лок4лL=ое 
пло<58Dо64=8е 6 EоGет4=88 E 
тD4=Eпуп8ллOD=о9 
л47еDко47улOF8е9 EетG4тк8 

 

 Dеко=EтDукF8O пеDед=е9 
к4<еDK, 6клNG4O л47еD=уN 

 



68тDеоDет8=4лL=о9 
п4толо788 D47л8G=о7о 
7е=е74 

H35.2 - H35.4, 

H36.8, H43.1, 

H43.3, H44.0, 

H44.1 

дDу78E Dу5D8к4E: 
Dет8=оH878E 8 
Dет8=4лL=Kе к8EтK, 
Dет8=4лL=Kе EоEуд8EтKе 
окклN788, 
пDол8DеD4т86=4O 
Dет8=оп4т8O, де7е=еD4F8O 
<4кулK 8 74д=е7о полNE4, 
кDо6о87л8O=8е 6 
Eтекло68д=ое тело), 
оEло6=е==4O п4толо78е9 
Dо7о68FK, EDуEт4л8к4, 
Eтекло68д=о7о тел4. 
�845ет8GеEк4O 
Dет8=оп4т8O 67DоEлKE, 
пDол8DеD4т86=4O Eт4д8O, 
6 то< G8Eле E 
оEло6=е=8е< 8л8 E 
п4толо78е9 EDуEт4л8к4, 
Eтекло68д=о7о тел4, 
6тоD8G=о9 7л4уко<о9, 
<4кулOD=K< отеко<. 
ОтEло9к4 8 D47DK6K 
EетG4тк8, тD4кF8о==4O 
отEло9к4 EетG4тк8, дDу78е 
DоD<K отEло9к8 EетG4тк8 
у 67DоEлKE 8 дете9, 
оEло6=е==Kе п4толо78е9 
Dо7о68FK, EDуEт4л8к4, 
Eтекло68д=о7о тел4. 
К4т4D4кт4 =е7Dел4O 8 
7Dел4O у 67DоEлKE 8 дете9, 
оEло6=е==4O 
Eу5лNкE4F8е9 EDуEт4л8к4, 

MкEтD4кF8N, оEло6=е==о9 
к4т4D4ктK E 8<пл4=т4F8е9 
Mл4Eт8G=о9 8=тD4окулOD=о9 
л8=7K 

 уд4ле=8е 6тоD8G=о9 
к4т4D4ктK, Dеко=EтDукF8O 
74д=е9 к4<еDK, 6 то< G8Eле E 
8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K, 6 то< 
G8Eле E пD8<е=е=8е< 
л47еD=о9 E8DуD788 

 

   



7л4уко<о9, п4толо78е9 
Eтекло68д=о7о тел4, 
EетG4тк8, EоEуд8Eто9 
о5олоGк8. ОEло6=е=8O, 
6о7=8кH8е 6 Dе7улLт4те 
пDедHеEт6уNI8E опт8ко-

Dеко=EтDукт86=KE, 
M=до68тDе4лL=KE 
6<еH4телLEт6 у 67DоEлKE 
8 дете9. �о7D4Eт=4O 
<4кулOD=4O де7е=еD4F8O, 
6л46=4O DоD<4, 6 то< 
G8Eле E оEло6=е=8O<8 

  еко=EтDукт86=о-

пл4Eт8GеEк8е 8 опт8ко-

Dеко=EтDукт86=Kе 
опеD4F88 пD8 тD46<4E 
(откDKтKE, 74кDKтKE) 
7л474, е7о пD8д4тоG=о7о 
4пп4D4т4, оD58тK 

H02.0 - H02.5, 

H04.0 - H04.6, 

H05.0 - H05.5, 

H11.2, H21.5, 

H27.0, H27.1, 

H26.0 - H26.9, 

H31.3, H40.3, 

S00.1, S00.2, 

S02.30, S02.31, 

S02.80, S02.81, 

S04.0 - S04.5, 

S05.0 - S05.9, 

T26.0 - T26.9, 

H44.0 - H44.8, 

T85.2, T85.3, 

T90.4, T95.0, 

T95.8 

тD46<4 7л474 8 7л47=8FK, 
теD<8GеEк8е 8 
E8<8GеEк8е о6о78, 
о7D4=8Gе==Kе о5л4EтLN 
7л474 8 е7о пD8д4тоG=о7о 
4пп4D4т4, пD8 оEтDо9 8л8 
Eт458лL=о9 D47е пD8 
лN5о9 Eт4д88 у 67DоEлKE 
8 дете9 оEло6=е==Kе 
п4толо78е9 EDуEт4л8к4, 
Eтекло68д=о7о тел4, 
оDт4лL<о78пеDте=78е9, 
пеDело<о< д=4 оD58тK, 
откDKто9 D4=о9 6ек4 8 
около7л47=8G=о9 о5л4Eт8, 
6тоD8G=о9 7л4уко<о9, 
M=тDоп8о=о< 8 тD8E847о< 
6ек4, MктDоп8о=о< 6ек4, 
л47оDт4лL<о<, пто7о< 
6ек4, Eте=о7о< 8 

E8DуD78GеEкое 
леGе=8е 

8D8доF8клоEклеDMкто<8O пD8 
поEттD46<4т8GеEко9 7л4уко<е 

 

 8<пл4=т4F8O дDе=464 пD8 
поEттD46<4т8GеEко9 7л4уко<е 

 

 8EпD46ле=8е тD46<4т8GеEко7о 
коEо7л478O E пл4Eт8ко9 
MкEтD4окулOD=KE <KHF 

 

 D4ко4Eп8D4F8O 
тD46<4т8GеEко9 к4т4D4ктK E 
8<пл4=т4F8е9 D47л8G=KE 
<оделе9 8=тD4окулOD=о9 
л8=7K 

 



=едоEт4тоG=оEтLN 
Eле7=KE пDотоко6, 
деDоD<4F8е9 оD58тK, 
M=оDт4лL<о<, Dу5F4<8 
ко=JN=кт86K, Dу5F4<8 8 
по<ут=е=8е< Dо7о68FK, 
Eл8пG86о9 ле9ко<о9, 
7=о9=K< 
M=доDт4лL<8то<, 
де7е=еD4т86=K<8 
EоEтоO=8O<8 7л47=о7о 
O5лок4, тD46<4т8GеEк8< 
коEо7л478е< 8л8 6 
EоGет4=88 E =еуд4ле==K< 
8=оDод=K< тело< оD58тK 
6EледEт68е пDо=8к4NIе7о 
D4=е=8O, =еуд4ле==K< 
<47=8т=K< 8=оDод=K< 
тело<, =еуд4ле==K< 
=е<47=8т=K< 8=оDод=K< 
тело<, оEло6=е=8O<8 
<еE4=8GеEко7о 
пDо8EEо6де=8O, 
E6O74==K<8 E 
8<пл4=т4т4<8 8 
тD4=Eпл4=т4т4<8 

 %8DуD78GеEкое 8 (8л8) 
луGе6ое леGе=8е 
7лок4GеEт6е==KE 
=о6оо5D47о64=89 7л474, 
е7о пD8д4тоG=о7о 
4пп4D4т4 8 оD58тK, 

C43.1, C44.1, C69, 

C72.3, D31.5, 

D31.6, Q10.7, 

Q11.0 - Q11.2 

7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 7л474 8 
е7о пD8д4тоG=о7о 
4пп4D4т4, оD58тK у 
67DоEлKE 8 дете9 (Eт4д88 
T1 - T3 N0 M0). 

ко<58=8Dо64==
ое леGе=8е 

Dеко=EтDукт86=Kе опеD4F88 
=4 MкEтD4окулOD=KE <KHF4E 
пD8 =о6оо5D47о64=8OE 
оD58тK 

 

 отEDоGе==4O Dеко=EтDукF8O 
ле64тоD4 пD8 

 



6клNG4O 
6=утD8оD58т4лL=Kе 
до5Dок4GеEт6е==Kе 
опуEол8, 
Dеко=EтDукт86=о-

пл4Eт8GеEк4O E8DуD78O пD8 
8E поEледEт68OE 

�о5Dок4GеEт6е==Kе 8 
7лок4GеEт6е==Kе опуEол8 
оD58тK, 6клNG4NI8е 
6Dо6де==Kе поDок8 
D4768т8O оD58тK, 5е7 
оEло6=е=89 8л8 
оEло6=е==Kе п4толо78е9 
Dо7о68FK, EDуEт4л8к4, 
Eтекло68д=о7о тел4, 
7D8телL=о7о =еD64, 
7л47од6874телL=KE <KHF, 
оDт4лL<о78пеDте=78е9 

=о6оо5D47о64=8OE оD58тK 

 то=ко87олL=4O 
4Eп8D4F8о==4O 58опE8O 
=о6оо5D47о64=89 7л474 8 
оD58тK 

 

подH864=8е т4=т4ло6KE 
EкDепок пD8 
=о6оо5D47о64=8OE 7л474 

 

от7D4=8G8телL=4O 8 (8л8) 
D47DуH4NI4O 
л47еDко47улOF8O пD8 
=о6оо5D47о64=8OE 7л474 

 

D4д8оMкEF878O, 6 то< G8Eле E 
од=о<о<е=т=о9 
Dеко=EтDукт86=о9 пл4Eт8ко9, 
пD8 =о6оо5D47о64=8OE 
пD8д4тоG=о7о 4пп4D4т4 7л474 

 

л47еDMкEF878O E 
од=о<о<е=т=о9 

Dеко=EтDукт86=о9 пл4Eт8ко9 
пD8 =о6оо5D47о64=8OE 
пD8д4тоG=о7о 4пп4D4т4 7л474 

D4д8оMкEF878O E 
л47еD8Eп4Dе=8е< пD8 
=о6оо5D47о64=8OE 
пD8д4тоG=о7о 4пп4D4т4 7л474 

л47еDMкEF878O, 6 то< G8Eле E 
л47еD8Eп4Dе=8е<, пD8 
=о6оо5D47о64=8OE 
пD8д4тоG=о7о 4пп4D4т4 7л474 

 



по7Dу6=4O 
д84теD<око47улOF8O пD8 
=о6оо5D47о64=8OE 
пD8д4тоG=о7о 4пп4D4т4 7л474 

 %8DуD78GеEкое 8 (8л8) 
л47еD=ое леGе=8е 
DетDоле=т4лL=о9 
D85Dопл4788 у дете9 
(Dет8=оп4т88 
=едо=оHе==KE), 6 то< 
G8Eле E пD8<е=е=8е< 
ко<плекE=о7о 
оDт4лL<оло78GеEко7о 
о5Eледо64=8O под о5Iе9 
4=еEте78е9 

H35.2 DетDоле=т4лL=4O 
D85Dопл478O у дете9 
(Dет8=оп4т8O 
=едо=оHе==KE) пD8 
4кт86=о9 8 Dу5Fо6о9 D47е 
лN5о9 Eт4д88 5е7 
оEло6=е=89 8л8 
оEло6=е==4O п4толо78е9 
Dо7о68FK, EDуEт4л8к4, 
Eтекло68д=о7о тел4, 
7л47од6874телL=KE <KHF, 
6Dо6де==о9 8 6тоD8G=о9 
7л4уко<о9 

E8DуD78GеEкое 8 
(8л8) луGе6ое 
леGе=8е 

тD4=Eпуп8ллOD=4O 
EектоD4лL=4O 8л8 
п4=Dет8=4лL=4O л47еD=4O 
ко47улOF8O 464EкулOD=KE 7о= 
EетG4тк8 E Mле<е=т4<8 
от7D4=8G864NIе9 ко47улOF88 

 

 д8од=4O тD4=EEклеD4лL=4O 
Dотоко47улOF8O, 6 то< G8Eле E 
кD8око47улOF8е9 EетG4тк8 

 

 кD8око47улOF8O EетG4тк8  

22.  еко=EтDукт86=ое, 
6оEEт4=о68телL=ое, 
Dеко=EтDукт86=о-

пл4Eт8GеEкое 
E8DуD78GеEкое 8 л47еD=ое 
леGе=8е пD8 6Dо6де==KE 
4=о<4л8OE (поDок4E 
D4768т8O) 6ек4, Eле7=о7о 
4пп4D4т4, 7л47=8FK, 
пеDед=е7о 8 74д=е7о 
Eе7<е=то6 7л474, 
EDуEт4л8к4, 6 то< G8Eле E 
пD8<е=е=8е< 
ко<плекE=о7о 
оDт4лL<оло78GеEко7о 

H26.0, H26.1, 

H26.2, H26.4, 

H27.0, H33.0, 

H33.2 - 33.5, 

H35.1, H40.3, 

H40.4, H40.5, 

H43.1, H43.3, 

H49.9, Q10.0, 

Q10.1, Q10.4 - 

Q10.7, Q11.1, 

Q12.0, Q12.1, 

Q12.3, Q12.4, 

Q12.8, Q13.0, 

Q13.3, Q13.4, 

Q13.8, Q14.0, 

6Dо6де==Kе 4=о<4л88 
EDуEт4л8к4, пеDед=е7о 
Eе7<е=т4 7л474, 
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4пп4D4т4 5е7 оEло6=е=89 
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пD8<е=е=8е< 
E8<8отеD4пе6т8GеEк8E 
лек4DEт6е==KE 
пDеп4D4то6 
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8<<у=оло78GеEк8E, 
58оE8<8GеEк8E, 
<олекулOD=о-58оло78GеEк8E 
<етодо6 д847=оEт8к8, 
опDеделе=8O ко=Fе=тD4F89 
<8кDоMле<е=то6 6 
58оло78GеEк8E 68дкоEтOE, 
ко<плекE4 <етодо6 
687у4л874F88 

  K90.0, K90.4, 

K90.8, K90.9, 

K63.8, E73, E74.3 

тO6елKе DоD<K 
<4лL45EоD5F88 

теD4пе6т8GеEко
е леGе=8е 

пол8ко<по=е=т=ое леGе=8е E 
пD8<е=е=8е< 7оD<о=4лL=KE, 
F8тоEт4т8GеEк8E 
лек4DEт6е==KE пDеп4D4то6, 
G4Eт8G=о7о 8л8 пол=о7о 
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под5оDо< 
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8<<у=оло78GеEк8E, 
<оDDоло78GеEк8E 8 
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пDотек4NI4O E 
поD46е=8е< 687=е==о 
646=KE оD74=о6 (пеGе=8, 
Eеле7е=к8, ле7к8E), 
коEт=о-EуEт46=о9 E8Eте<K 
8 (8л8) E D4768т8е< 
тO6ело9 =е6Dоло78GеEко9 
E8<пто<4т8к8 

е леGе=8е пD8<е=е=8е< 
д8DDеDе=F8Dо64==о7о 
=47=4Gе=8O п4Dе=теD4лL=о9 
74<еEт8телL=о9 теD4п88 
DеD<е=то< 8 лек4DEт6е==KE 
пDеп4D4то6, 6л8ONI8E =4 
DоD<8Dо64=8е коEт=о9 тк4=8 

 �ол8ко<по=е=т=ое 
8<<у=оEупDеEE86=ое 
леGе=8е лок4лL=KE 8 
D4EпDоEтD4=е==KE DоD< 
E8Eте<=о7о EклеDо74 

M34 E8Eте<=K9 EклеDо7 
(лок4лL=Kе 8 
D4EпDоEтD4=е==Kе 
DоD<K) 

теD4пе6т8GеEко
е леGе=8е 

пол8ко<по=е=т=ое 
8<<у=о<одул8DуNIее 
леGе=8е E пD8<е=е=8е< 
7лNкокоDт8ко8до6 8 
F8тотокE8GеEк8E 
8<<у=одепDеEE4=то6 под 
ко=тDоле< л45оD4тоD=KE 8 
8=EтDу<е=т4лL=KE <етодо6 
д847=оEт8к8, 6клNG4O 
8<<у=оло78GеEк8е, 4 т4к6е 
M=доEкоп8GеEк8е, 
Dе=т7е=оло78GеEк8е, 
улLтD476уко6Kе <етодK 

 

24. �ол8ко<по=е=т=ое 
леGе=8е =4EледEт6е==KE 
=еDD8то6, ту5улоп4т89, 
EтеDо8дDе78Eте=т=о7о 8 
EтеDо8д7468E8<о7о 
=еDDот8GеEк8E E8=дDо<о6 
E пD8<е=е=8е< 
8<<у=оEупDеEE86=о9 8 
(8л8) E8<пто<4т8GеEко9 
теD4п88 

N04, N07, N25 =еDDот8GеEк89 E8=дDо< 
=еуEт4=о6ле==о9 
Mт8оло788 8 
<оDDоло78GеEко7о 
64D84=т4, 
EтеDо8дGу6Eт68телL=K9 8 
EтеDо8д7468E8<K9, 
EопDо6о6д4NI89EO 
отеG=K< E8=дDо<о<, 
поEтоO==K< 8л8 
тD4=78тоD=K< 

теD4пе6т8GеEко
е леGе=8е 

пол8ко<по=е=т=ое 
8<<у=оEупDеEE86=ое леGе=8е 
E пD8<е=е=8е< F8клоEпоD8=4 
� 8 (8л8) <8коDе=ол4то6 под 
ко=тDоле< 
8<<у=оло78GеEк8E, 
58оE8<8GеEк8E 8 
8=EтDу<е=т4лL=KE <етодо6 
д847=оEт8к8 
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=4DуHе=8е< Dу=кF88 
поGек 

=4EледEт6е==Kе 
=еDDоп4т88, 6 то< G8Eле 
=4EледEт6е==K9 =еDD8т, 
к8Eто7=Kе 5оле7=8 поGек. 
�4EледEт6е==Kе 8 
пD8о5Dете==Kе 
ту5улоп4т88 5е7 E=86е=8O 
Dу=кF88 поGек 8 
MкEтD4Dе=4лL=KE 
пDоO6ле=89 

теD4пе6т8GеEко
е леGе=8е 

пол8ко<по=е=т=ое леGе=8е 
пD8 пD8о5Dете==KE 8 
6Dо6де==KE 745оле64=8OE 
поGек под ко=тDоле< 
л45оD4тоD=KE 8 
8=EтDу<е=т4лL=KE <етодо6 
д847=оEт8к8 

25. �ол8ко<по=е=т=ое 
леGе=8е к4Dд8о<8оп4т89, 
<8ок4Dд8то6, 
пеD8к4Dд8то6, 
M=док4Dд8то6 E 
=едоEт4тоG=оEтLN 
кDо6оо5D4Iе=8O II - IV 

Dу=кF8о=4лL=о7о кл4EE4 
(NYHA), Dе78Eте=т=KE 
=4DуHе=89 EеDдеG=о7о 
D8т<4 8 пDо6од8<оEт8 
EеDдF4 E 4D8т<о7е==о9 
д8EDу=кF8е9 <8ок4Dд4 E 
пD8<е=е=8е< 
к4Dд8отDоп=KE, 
E8<8отеD4пе6т8GеEк8E 8 
7е==о-8=6е=еD=KE 
58оло78GеEк8E 
лек4DEт6е==KE 
пDеп4D4то6 

I27.0, I27.8, I30.0, 

I30.9, I31.0, I31.1, 

I33.0, I33.9, I34.0, 

I34.2, I35.1, I35.2, 

I36.0, I36.1, I36.2, 

I42, I44.2, I45.6, 

I45.8, I47.0, I47.1, 

I47.2, I47.9, I48, 

I49.0, I49.3, I49.5, 

I49.8, I51.4, 

Q21.1, Q23.0, 

Q23.1, Q23.2, 

Q23.3, Q24.5, 

Q25.1, Q25.3 

к4Dд8о<8оп4т88: 
д8л4т4F8о==4O 
к4Dд8о<8оп4т8O, дDу74O 
DеEтD8кт86=4O 
к4Dд8о<8оп4т8O, дDу78е 
к4Dд8о<8оп4т88, 
к4Dд8о<8оп4т8O 
=еутоG=е==4O. �8ок4Dд8т 
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4оDт4лL=о7о 8 
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кл4п4=о6: <8тD4лL=4O 
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теD4пе6т8GеEко
е леGе=8е 
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=е9Dо7оD<о=о6, д8уDет8ко6, 
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ко=тDоле< уDо6=O 
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<4DкеDо6 по6Dе6де=8O 
<8ок4Dд4, EDо=8GеEко9 
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=едоEт4тоG=оEтL, 
4оDт4лL=K9 (кл4п4==K9) 
Eте=о7 E 
=едоEт4тоG=оEтLN, 
=еDе6<4т8GеEк89 Eте=о7 
тDеEEт6оDG4то7о кл4п4=4, 
=еDе6<4т8GеEк4O 
=едоEт4тоG=оEтL 
тDеEEт6оDG4то7о кл4п4=4, 
=еDе6<4т8GеEк89 Eте=о7 
тDеEEт6оDG4то7о кл4п4=4 E 
=едоEт4тоG=оEтLN. 
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пеDе7оDодк8, 
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д847=оEт8к8 (улLтD476уко6о9 
д847=оEт8к8 E 
доплеDо7D4D8е9, <47=8т=о-

Dе7о=4=E=о9 то<о7D4D88, 
<улLт8Eп8D4лL=о9 
ко<пLNтеD=о9 то<о7D4D88, 
6е=тD8куло7D4D88, 
коDо=4Dо7D4D88), 
7е=ет8GеEк8E 8EEледо64=89 

 е6<4толо78O 
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 ко=DоD<=4O д8Eт4=F8о==4O 

луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8 

 

 6=утD8тк4=е64O, 
4ппл8к4F8о==4O луGе64O 
теD4п8O. 3D - 4D 

пл4=8Dо64=8е. 
�=утD8полоEт=4O луGе64O 
теD4п8O.  е=т7е=оло78GеEк89 
ко=тDолL уEт4=о6к8 M=доEт4т4 

 

     6=утD8тк4=е64O, 
4ппл8к4F8о==4O луGе64O 
теD4п8O. 3D - 4D 

 



пл4=8Dо64=8е. 
�=утD8полоEт=4O луGе64O 
теD4п8O.  е=т7е=оло78GеEк89 
ко=тDолL уEт4=о6к8 M=доEт4т4 

  C15 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
п8Iе6од4 (T1-4N лN54O 
M0), лок4л87о64==Kе 8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8, E8=EDо=874F8O 
дKE4=8O. �=тD4опеD4F8о==4O 
луGе64O теD4п8O 

 

 ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8, E8=EDо=874F8O 
дKE4=8O 

 



 6=утD8полоEт=4O луGе64O 
теD4п8O.  е=т7е=оло78GеEк89 
ко=тDолL уEт4=о6к8 
M=доEт4т4. 3D - 4D 

пл4=8Dо64=8е 

 

  C16 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 6елудк4 
(T2b-4aN0-3M0), 

лок4л87о64==Kе 8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8, E8=EDо=874F8O 
дKE4=8O. �=тD4опеD4F8о==4O 
луGе64O теD4п8O 

 

  C17, C77.2 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O то=ко7о 
к8HеG=8к4, 
лок4л87о64==Kе 8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K E <ет4Eт474<8 6о 
6=утD85DNH=Kе 
л8<D4т8GеEк8е у7лK 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O D8кE4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8, E8=EDо=874F8O 
дKE4=8O. �=тD4опеD4F8о==4O 
луGе64O теD4п8O 

 



  C18, C19 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
о5одоG=о9 к8Hк8 8 
DектоE87<о8д=о7о у7л4 
(T2b-4aN0-3M0), 

лок4л87о64==Kе 8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8, E8=EDо=874F8O 
дKE4=8O. �=тD4опеD4F8о==4O 
луGе64O теD4п8O 

 

  C20, C77.5 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O пDO<о9 
к8Hк8 (T1-4N лN54O M0), 
лок4л87о64==Kе 8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K E <ет4Eт474<8 6о 
6=утD8т47о6Kе 
л8<D4т8GеEк8е у7лK 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8, E8=EDо=874F8O 
дKE4=8O. �=тD4опеD4F8о==4O 
луGе64O теD4п8O 

 

 ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 

 



 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8, E8=EDо=874F8O 
дKE4=8O 

 6=утD8полоEт=4O луGе64O 
теD4п8O.  е=т7е=оло78GеEк89 
ко=тDолL уEт4=о6к8 
M=доEт4т4. 3D - 4D 

пл4=8Dо64=8е 

 

  C21 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
4=4лL=о7о к4=4л4 (T1-3N 

лN54O M0), 
лок4л87о64==Kе 8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8, E8=EDо=874F8O 
дKE4=8O 

 

 ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 

 



 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8, E8=EDо=874F8O 
дKE4=8O 

 6=утD8полоEт=4O, 
6=утD8тк4=е64O, 
4пл8к4F8о==4O луGе64O 
теD4п8O.  е=т7е=оло78GеEк89 
ко=тDолL уEт4=о6к8 
M=доEт4т4. 3D - 4D 

пл4=8Dо64=8е 

 

  C22, C23 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O пеGе=8 
8 6елG=о7о пу7KDO (T1-4N 

лN54O M0), 
лок4л87о64==Kе 8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8, E8=EDо=874F8O 
дKE4=8O. �=тD4опеD4F8о==4O 
луGе64O теD4п8O 

 

  C24, C25 7лок4GеEт6е==Kе теD4пе6т8GеEко ко=DоD<=4O д8Eт4=F8о==4O  



=о6оо5D47о64=8O дDу78E 
G4Eте9 6елG=KE путе9 8 
под6елудоG=о9 6еле7K 
(T1-4NxM0), 

лок4л87о64==Kе 8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K 

е леGе=8е луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8, E8=EDо=874F8O 
дKE4=8O. �=тD4опеD4F8о==4O 
луGе64O теD4п8O 

  C33, C34 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O тD4Eе8, 
5Dо=Eо6 8 ле7ко7о (T1-

3N0-3M0), 

лок4л87о64==Kе 8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8, E8=EDо=874F8O 
дKE4=8O. �=тD4опеD4F8о==4O 
луGе64O теD4п8O 

 

 ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 
 4д8о<од8D8к4F8O. 

 



Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8. !8=EDо=874F8O 
дKE4=8O 

 6=утD8полоEт=4O луGе64O 
теD4п8O.  е=т7е=оло78GеEк89 
ко=тDолL уEт4=о6к8 
M=доEт4т4. 3D - 4D 

пл4=8Dо64=8е 

 

 6=утD8полоEт=4O луGе64O 
теD4п8O.  е=т7е=оло78GеEк89 
ко=тDолL уEт4=о6к8 
M=доEт4т4. 3D - 4D 

пл4=8Dо64=8е 

 

  C37, C39, C77.1 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O пле6DK 
8 EDедоEте=8O (T1-3N0-

3M0), лок4л87о64==Kе 8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K E <ет4Eт474<8 6о 
6=утD87Dуд=Kе 
л8<D4т8GеEк8е у7лK 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8. !8=EDо=874F8O 
дKE4=8O 

 



  C40, C41 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O коEте9 8 
EуEт46=KE EDOIе9 (T 
лN54O N лN54O M0), 
лок4л87о64==Kе 8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT. 

 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8. �=тD4опеD4F8о==4O 
луGе64O теD4п8O 

 

  C44 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O ко68 
(T1-4N0M0), 

лок4л87о64==Kе 8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8 

 

 4ппл8к4F8о==4O луGе64O 
теD4п8O E 877ото6ле=8е< 8 
пD8<е=е=8е< 
8=д868ду4лL=KE 
4ппл8к4тоDо6. 3D - 4D 

пл4=8Dо64=8е 

 

  C48, C49, C50, 

C67, C74, C73 

7лок4GеEт6е==Kе 
=о6оо5D47о64=8O <O7к8E 
тк4=е9 (T лN54O N лN54O 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

 



M0), лок4л87о64==Kе 8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K 

EтеDеот4кE8GеEк4O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8 

 6=утD8тк4=е64O 

8=тD4опеD4F8о==4O луGе64O 
теD4п8O.  е=т7е=оло78GеEк89 
ко=тDолL уEт4=о6к8 
M=доEт4т4. 3D - 4D 

пл4=8Dо64=8е 

 

   7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
<олоG=о9 6еле7K, 
<оGе6о7о пу7KDO 8 
=4дпоGеG=8к4, D4к 
I8то68д=о9 6еле7K (T1-

3N0M0), лок4л87о64==Kе 
8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
6 ко<58=4F88 E 
лек4DEт6е==о9 теD4п8е9 
(IMRT, IGRT, ViMAT). 

 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8. �=тD4опеD4F8о==4O 
луGе64O теD4п8O 

 

  C51 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 6улL6K 

теD4пе6т8GеEко
е леGе=8е 

д8Eт4=F8о==4O ко=DоD<=4O 
луGе64O теD4п8O. 

 



8=тD4Mп8тел84лL=Kе, 
<8кDо8=64786=Kе, 
<еEт=оD4EпDоEтD4=е==Kе 

 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <4т=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8. �=тD4опеD4F8о==4O 
луGе64O теD4п8O 

 4ппл8к4F8о==4O 8 (8л8) 
6=утD8тк4=е64O луGе64O 
теD4п8O =4 
5D4E8теD4пе6т8GеEк8E 
4пп4D4т4E.  е=т7е=о6Eк89 
ко=тDолL уEт4=о6к8 
M=доEт4т4. 3D - 4D 

пл4=8Dо64=8е. 
 4д8о<од8D8к4F8O 

 

 д8Eт4=F8о==4O ко=DоD<=4O 
луGе64O теD4п8O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8 

 

 4ппл8к4F8о==4O 8 (8л8) 
6=утD8тк4=е64O луGе64O 
теD4п8O =4 

 



5D4E8теD4пе6т8GеEк8E 
4пп4D4т4E.  е=т7е=о6Eк89 
ко=тDолL уEт4=о6к8 
M=доEт4т4. 3D - 4D 

пл4=8Dо64=8е 

  C52 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
6л474л8I4 
8=тD4Mп8тел84лL=Kе, 
<8кDо8=64786=Kе, 
<еEт=оD4EпDоEтD4=е==Kе 

теD4пе6т8GеEко
е леGе=8е 

6=утD8полоEт=4O, 
4ппл8к4F8о==4O, 
6=утD8тк4=е64O луGе64O 
теD4п8O =4 
5D4E8теD4пе6т8GеEк8E 
4пп4D4т4E.  е=т7е=о6Eк89 
ко=тDолL уEт4=о6к8 
M=доEт4т4. 3D - 4D 

пл4=8Dо64=8е. 
 4д8о<од8D8к4F8O 

 

 д8Eт4=F8о==4O ко=DоD<=4O 
луGе64O теD4п8O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8. �=утD8полоEт=4O, 
6=утD8тк4=е64O луGе64O 
теD4п8O =4 
5D4E8теD4пе6т8GеEк8E 
4пп4D4т4E.  е=т7е=о6Eк89 
ко=тDолL уEт4=о6к8 
M=доEт4т4. 3D - 4D 

пл4=8Dо64=8е. 

 



 4д8о<од8D8к4F8O 

  C53 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O Hе9к8 
<4тк8 ((T1-3N0-1M0-1), 6 
то< G8Eле E <ет4Eт474<8 6 
п4D44оDт4лL=Kе 8л8 
п4Eо6Kе л8<Dоу7лK), 
8=тD4Mп8тел84лL=Kе 8 
<8кDо8=64786=Kе 

теD4пе6т8GеEко
е леGе=8е 

6=утD8полоEт=4O луGе64O 
теD4п8O =4 
5D4E8теD4пе6т8GеEк8E 
4пп4D4т4E.  е=т7е=о6Eк89 8 
улLтD476уко6о9 ко=тDолL 
уEт4=о6к8 M=доEт4т4. 3D - 4D 

пл4=8Dо64=8е. 
 4д8о<од8D8к4F8O 

 

 д8Eт4=F8о==4O ко=DоD<=4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT. 

 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8. �=утD8полоEт=4O 
луGе64O теD4п8O =4 
5D4E8теD4пе6т8GеEк8E 
4пп4D4т4E.  е=т7е=о6Eк89 8 
улLтD476уко6о9 ко=тDолL 
уEт4=о6к8 M=доEт4т4. 3D - 4D 

пл4=8Dо64=8е. 
 4д8о<од8D8к4F8O. 
�=тD4опеD4F8о==4O луGе64O 
теD4п8O 

 

  C54 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O тел4 

теD4пе6т8GеEко
е леGе=8е 

6=утD8полоEт=4O луGе64O 
теD4п8O =4 

 



<4тк8 лок4л87о64==K9 8 
<еEт=оD4EпDоEтD4=е==K9 

5D4E8теD4пе6т8GеEк8E 
4пп4D4т4E.  е=т7е=о6Eк89 8 
улLтD476уко6о9 ко=тDолL 
уEт4=о6к8 M=доEт4т4. 3D - 4D 

пл4=8Dо64=8е. 
 4д8о<од8D8к4F8O 

 д8Eт4=F8о==4O ко=DоD<=4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT. 

 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8 

 

 д8Eт4=F8о==4O ко=DоD<=4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT. 

 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8 

 

 6=утD8полоEт=4O луGе64O 
теD4п8O =4 
5D4E8теD4пе6т8GеEк8E 

 



4пп4D4т4E.  е=т7е=о6Eк89 8 
улLтD476уко6о9 ко=тDолL 
уEт4=о6к8 M=доEт4т4. 3D - 4D 

пл4=8Dо64=8е. 
 4д8о<од8D8к4F8O. 
�=тD4опеD4F8о==4O луGе64O 
теD4п8O 

  C56 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
O8G=8ко6. Лок4лL=K9 
DеF8д86, поD46е=8е 
л8<D4т8GеEк8E у7ло6 
поEле =еод=окD4т=KE 
куDEо6 пол8E8<8отеD4п88 
8 =е6о7<о6=оEт8 
6Kпол=8тL E8DуD78GеEкое 
6<еH4телLEт6о 

теD4пе6т8GеEко
е леGе=8е 

д8Eт4=F8о==4O ко=DоD<=4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT. 

 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8 

 

  C57 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
<4тоG=KE тDу5. 
Лок4лL=K9 DеF8д86 поEле 
=еод=окD4т=KE куDEо6 
пол8E8<8отеD4п88 8 
=е6о7<о6=оEт8 
6Kпол=8тL E8DуD78GеEкое 
6<еH4телLEт6о 

теD4пе6т8GеEко
е леGе=8е 

д8Eт4=F8о==4O ко=DоD<=4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT. 

 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8 

 

  C60 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 

теD4пе6т8GеEко
е леGе=8е 

4ппл8к4F8о==4O луGе64O 
теD4п8O E 877ото6ле=8е< 8 

 



поло6о7о Gле=4 (T1N0-M0) пD8<е=е=8е< 
8=д868ду4лL=KE 
4ппл8к4тоDо6. 3D - 4D 

пл4=8Dо64=8е 

  C61 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
пDедEт4телL=о9 6еле7K 
(T1-3N0M0), 

лок4л87о64==Kе 8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 
 4д8о<од8D8к4F8O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8 

 

 6=утD8тк4=е64O луGе64O 
теD4п8O.  е=т7е=оло78GеEк89 
ко=тDолL уEт4=о6к8 
M=доEт4т4. 3D - 4D 

пл4=8Dо64=8е 

 

  C64 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O поGк8 
(T1-3N0M0), 

лок4л87о64==Kе 8 
<еEт=оD4EпDоEтD4=е==Kе 
DоD<K 

теD4пе6т8GеEко
е леGе=8е 

8=тD4опеD4F8о==4O луGе64O 
теD4п8O. Ко<пLNтеD=4O 
то<о7D4D8O 8 (8л8) <47=8т=о-

Dе7о=4=E=4O топо<етD8O. 3D - 
4D пл4=8Dо64=8е 

 

  C73 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
I8то68д=о9 6еле7K 

теD4пе6т8GеEко
е леGе=8е 

D4д8о9од45лOF8O оEт4тоG=о9 
т8Dео8д=о9 тк4=8 

 

 D4д8о9одтеD4п8O отд4ле==KE  



<ет4Eт47о6 
д8DDеDе=F8Dо64==о7о D4к4 
I8то68д=о9 6еле7K (6 
ле7к8е, 6 коEт8 8 дDу78е 
оD74=K) 

 D4д8о9одтеD4п8O 6 EоGет4=88 
E лок4лL=о9 луGе6о9 
теD4п8е9 пD8 <ет4Eт474E D4к4 
I8то68д=о9 6еле7K 6 коEт8 

 

 D4д8о9одтеD4п8O 6 EоGет4=88 
E D4д8о=укл8д=о9 теD4п8е9 
E4<4D8е<-окE458DоDо<, Sm-

153 пD8 <=о6еEт6е==KE 
<ет4Eт474E D4к4 I8то68д=о9 
6еле7K E 5оле6K< 
E8=дDо<о< 

 

  C50, C61, C34, 

C73, C64, C79 

<=о6еEт6е==Kе 
<ет4Eт47K 6 коEт8 пD8 
7лок4GеEт6е==KеE 
=о6оо5D47о64=8OE 
<олоG=о9 6еле7K, 
пDедEт4телL=о9 6еле7K, 
7лок4GеEт6е==KKE 
=о6оо5D47о64=8OE 
ле7ко7о, 7лок4GеEт6е==KE 
=о6оо5D47о64=8OE поGк8, 
7лок4GеEт6е==KE 
=о6оо5D47о64=8OE 
I8то68д=о9 6еле7K 
(D4д8о9од=е74т86=K9 
64D84=т) 8 дDу78E 

теD4пе6т8GеEко
е леGе=8е 

E8Eте<=4O D4д8о=укл8д=4O 
теD4п8O E4<4D8е<-

окE458DоDо<, Sm-153 

 

 EоGет4=8е E8Eте<=о9 
D4д8о=укл8д=о9 теD4п88 
E4<4D8е<-окE458DоDо<, Sm-

153 8 лок4лL=о9 луGе6о9 
теD4п88 

 

 E8Eте<=4O D4д8о=укл8д=4O 
теD4п8O EтDо=F8е<-89-

EлоD8до< 

 



опуEоле9, 
EопDо6о6д4NI8еEO 
5оле6K< E8=дDо<о< 

  C70, C71, C72, 

C75.1 

7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
о5олоGек 7оло6=о7о <о774, 
Eп8==о7о <о774, 7оло6=о7о 
<о774 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT, 

EтеDеот4кE8GеEк4O. 
Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8 

 

  C81, C82, C83, 

C84, C85 

7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
л8<Dо8д=о9 тк4=8 

теD4пе6т8GеEко
е леGе=8е 

ко=DоD<=4O д8Eт4=F8о==4O 
луGе64O теD4п8O, 6 то< G8Eле 
IMRT, IGRT, ViMAT. 

Ко<пLNтеD=4O то<о7D4D8O 8 
(8л8) <47=8т=о-Dе7о=4=E=4O 
топо<етD8O. 3D - 4D 

пл4=8Dо64=8е. $8кE8DуNI8е 
уEтDо9Eт64. �лоEкоEт=4O 8 
(8л8) о5Jе<=4O 687у4л874F8O 
<8Hе=8. !8=EDо=874F8O 
дKE4=8O 

 

 Ко=т4кт=4O луGе64O 
теD4п8O пD8 D4ке 
пDедEт4телL=о9 6еле7K E 
8EполL7о64=8е< I125 

C61 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
пDедEт4телL=о9 6еле7K 
(T1-2N0M0), 

лок4л87о64==Kе DоD<K 

теD4пе6т8GеEко
е леGе=8е 

6=утD8тк4=е64O луGе64O 
теD4п8O E 8EполL7о64=8е< 
I125 

 

21. Ко<плекE=4O 8 C81 - C90, C91.0, оEтDKе ле9ко7K, теD4пе6т8GеEко 6KEокодо7=4O E8<8отеD4п8O, 316100 



6KEокодо7=4O 
E8<8отеD4п8O (6клNG4O 
Mп87е=о<=уN теD4п8N) 
оEтDKE ле9ко7о6, 
6KEоко7лок4GеEт6е==KE 
л8<Dо<, DеF8д86о6 8 
DеDD4ктеD=KE DоD< 
л8<DопDол8DеD4т86=KE 8 
<8елопDол8DеD4т86=KE 
745оле64=89. 
Ко<плекE=4O, 
6KEоко8=те=E86=4O 8 
6KEокодо7=4O 
E8<8отеD4п8O (6клNG4O 
леGе=8е т4D7ет=K<8 
лек4DEт6е==K<8 
пDеп4D4т4<8) Eол8д=KE 
опуEоле9, DеF8д86о6 8 
DеDD4ктеD=KE DоD< 
Eол8д=KE опуEоле9 у 
дете9 

C91.5 - C91.9, C92, 

C93, C94.0, C94.2 - 

94.7, C95, C96.9, 

C00 - C14, C15 - 

C21, C22, C23 - 

C26, C30 - C32, 

C34, C37, C38, 

C39, C40, C41, 

C45, C46, C47, 

C48, C49, C51 - 

C58, C60, C61, 

C62, C63, C64, 

C65, C66, C67, 

C68, C69, C71, 

C72, C73, C74, 

C75, C76, C77, 

C78, C79 

6KEоко7лок4GеEт6е==Kе 
л8<Dо<K, DеF8д86K 8 
Dе78Eте=т=Kе DоD<K 
дDу78E 
л8<DопDол8DеD4т86=KE 
745оле64=89, EDо=8GеEк89 
<8елоле9ко7 6 D474E 
4кEелеD4F88 8 5л4Eт=о7о 
кD874. !ол8д=Kе опуEол8 
у дете9 6KEоко7о D8Eк4 
(опуEол8 Fе=тD4лL=о9 
=еD6=о9 E8Eте<K, 
Dет8=о5л4Eто<4, 
=е9Dо5л4Eто<4 8 дDу78е 
опуEол8 пеD8DеD8GеEко9 
=еD6=о9 E8Eте<K, опуEол8 
поGк8, опуEол8 пеGе=8, 
опуEол8 коEте9, E4Dко<K 
<O7к8E тк4=е9, 
7еD<8=о7е==Kе опуEол8). 
 4к =оEо7лотк8. 
�ел4=о<4. �Dу78е 
7лок4GеEт6е==Kе 
Mп8тел84лL=Kе опуEол8. 
ОпуEол8 7оло6K 8 Hе8 у 
дете9 (оEтеоE4Dко<4, 
опуEол8 Eе<е9Eт64 
E4Dко<K .8=74, 
Eо=дDоE4Dко<4, �$�, 
E4Dко<K <O7к8E тк4=е9, 
Dет8=о5л4Eто<4, опуEол8 
п4D4<е=8=7е4лL=о9 
о5л4Eт8). �KEок89 D8Eк 

е леGе=8е пD8<е=е=8е т4D7ет=KE 
лек4DEт6е==KE пDеп4D4то6 E 
поддеD6ко9 DоEто6K<8 
D4ктоD4<8, 8EполL7о64=8е< 
ко<по=е=то6 кDо68, 
4=т854ктеD84лL=KE, 
пDот86о7D85ко6KE, 
пDот86о68DуE=KE 
лек4DEт6е==KE пDеп4D4то6 8 
<етодо6 4DDеDе=т=о9 
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Dе7екF8O поGк8 E 
8EполL7о64=8е< 
Dо5ототеE=8к8 

 

 Dо5от4EE8Eт8Dо64==4O 
=еDDMкто<8O 

 

 C62 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O O8Gк4 

E8DуD78GеEкое 
леGе=8е 

Dо5от4EE8Eт8Dо64==4O 
D4EH8Dе==4O 745DNH8==4O 
л8<D4де=Mкто<8O 

 

 C67 7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 
<оGе6о7о пу7KDO (I - IV 

Eт4д8O) 

E8DуD78GеEкое 
леGе=8е 

Dо5от4EE8Eт8Dо64==4O 
D4д8к4лL=4O F8EтMкто<8O 

 

 C78 <ет4Eт4т8GеEкое 
поD46е=8е ле7ко7о 

E8DуD78GеEкое 
леGе=8е 

Dо5от4EE8Eт8Dо64==4O 
4т8п8G=4O Dе7екF8O ле7ко7о 

 

ОтоD8=ол4D8=7оло78O 

25.  еко=EтDукт86=Kе 
опеD4F88 =4 
76укопDо6одOIе< 

H66.1, H66.2, Q16, 

H80.0, H80.1, 

H80.9 

EDо=8GеEк89 
ту5от8<п4лL=K9 7=о9=K9 
EDед=89 от8т. 

E8DуD78GеEкое 
леGе=8е 

т8<п4=опл4Eт8к4 E 
E4=8DуNI8< 
6<еH4телLEт6о<, 6 то< G8Eле 
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4пп4D4те EDед=е7о уE4 %Dо=8GеEк89 Mп8т8<п4=о-

4=тD4лL=K9 7=о9=K9 
EDед=89 от8т. �Dу78е 
пD8о5Dете==Kе деDектK 
EлуEо6KE коEтоGек. 
�Dо6де==Kе 4=о<4л88 
(поDок8 D4768т8O) уE4, 
6K7K64NI8е =4DуHе=8е 
EлуE4. ОтоEклеDо7, 
6о6лек4NI89 о64лL=ое 

ок=о, =ео5л8теD8DуNI89. 
ОтоEклеDо7 
=еутоG=е==K9. 
Ко=дукт86=4O 8 
=е9DоEе=EоD=4O потеDO 
EлуE4. ОтоEклеDо7, 
6о6лек4NI89 о64лL=ое 
ок=о, о5л8теD8DуNI89 

пD8 6Dо6де==KE 4=о<4л8OE 
D4768т8O, пD8о5Dете==о9 
4тDе788 6EледEт68е 
EDо=8GеEко7о 7=о9=о7о 
EDед=е7о от8т4, E 
пD8<е=е=8е< 
<8кDоE8DуD78GеEко9 теE=8к8, 
4лло7е==KE тD4=Eпл4=т4то6, 6 
то< G8Eле <ет4лл8GеEк8E 

Eт4педопл4Eт8к4 пD8 
п4толо78GеEко< пDоFеEEе, 
6Dо6де==о< 8л8 
пD8о5Dете==о<, E 
6о6леGе=8е< ок=4 
пDедд6еD8O, E пD8<е=е=8е< 
4утотк4=е9 8 4лло7е==KE 
тD4=Eпл4=т4то6, 6 то< G8Eле 
<ет4лл8GеEк8E 

EлуEоулуGH4NI8е опеD4F88 E 
пD8<е=е=8е< 8<пл4=т4т4 
EDед=е7о уE4 

%8DуD78GеEкое леGе=8е 
5оле7=8 �е=LеD4 8 дDу78E 
=4DуHе=89 6еEт85улOD=о9 
Dу=кF88 

H81.0 5оле7=L �е=LеD4 пD8 
=еMDDект86=оEт8 
ко=EеD64т86=о9 теD4п88 

E8DуD78GеEкое 
леGе=8е 

дDе=8Dо64=8е 
M=дол8<D4т8GеEк8E 
пDоEтD4=Eт6 6=утDе==е7о уE4 E 
пD8<е=е=8е< 
<8кDоE8DуD78GеEко9 8 
луGе6о9 теE=8к8 

%8DуD78GеEкое леGе=8е 
до5Dок4GеEт6е==KE 
=о6оо5D47о64=89 
около=оEо6KE п47уE, 

D10.6, D14.0, 

D33.3 

до5Dок4GеEт6е==ое 
=о6оо5D47о64=8е 
=оEо7лотк8. 
�о5Dок4GеEт6е==ое 

E8DуD78GеEкое 
леGе=8е 

уд4ле=8е =о6оо5D47о64=8O E 
пD8<е=е=8е< 
M=доEкоп8GеEко9, 
=46874F8о==о9 теE=8к8, 



оE=о64=8O GеDеп4 8 
EDед=е7о уE4 

=о6оо5D47о64=8е 
EDед=е7о уE4. .=оHеEк4O 
4=78оD85Dо<4 оE=о64=8O 
GеDеп4. �ло<уE=Kе 
опуEол8 E 
D4EпDоEтD4=е=8е< 6 
EDед=ее уEо. 
�о5Dок4GеEт6е==ое 
=о6оо5D47о64=8е 
оE=о64=8O GеDеп4. 
�о5Dок4GеEт6е==ое 
=о6оо5D47о64=8е 
GеDеп=KE =еD6о6 

M=до64EкулOD=о9 
M<5ол874F88 EоEудо6 
<8кDоM<5ол4<8 8 пD8 
по<оI8 4д7е786=о7о 47е=т4 

 еко=EтDукт86=о-

пл4Eт8GеEкое 
6оEEт4=о6ле=8е Dу=кF88 
7оDт4=8 8 тD4Eе8 

J38.6, D14.1, 

D14.2, J38.0 

Eте=о7 7оDт4=8. 
�о5Dок4GеEт6е==ое 
=о6оо5D47о64=8е 7оDт4=8. 
�о5Dок4GеEт6е==ое 
=о6оо5D47о64=8е тD4Eе8. 
�4D4л8G 7олоEо6KE 
Eкл4док 8 7оDт4=8. 

E8DуD78GеEкое 
леGе=8е 

л4D8=7отD4Eеопл4Eт8к4 пD8 
до5Dок4GеEт6е==KE 
=о6оо5D47о64=8OE 7оDт4=8, 
п4D4л8Gе 7олоEо6KE Eкл4док 
8 7оDт4=8, Eте=о7е 7оDт4=8 

опеD4F88 по Dе8==еD64F88 8 
74<еEт8телL=о9 
Dу=кF8о=4лL=о9 пл4Eт8ке 
7оDт4=8 8 тD4Eе8 E 
пD8<е=е=8е< 
<8кDоE8DуD78GеEко9 теE=8к8 
8 MлектDо<8о7D4D8GеEк8< 
<о=8тоD8=7о< 

26. %8DуD78GеEкое леGе=8е 
Eе=Eо=е6D4лL=о9 
ту7оуEоEт8 6KEоко9 
Eтепе=8 8 7луEотK 

H90.3 =е9DоEе=EоD=4O потеDO 
EлуE4 д6уEтоDо==OO 

E8DуD78GеEкое 
леGе=8е 

коEле4D=4O 8<пл4=т4F8O пD8 
д6уEтоDо==е9 
=е9DоEе=EоD=о9 потеDе EлуE4 
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ОDт4лL<оло78O 



27. %8DуD78GеEкое леGе=8е 
7л4уко<K, 6клNG4O 
<8кDо8=64786=уN 
M=еD7ет8GеEкуN опт8ко-

Dеко=EтDукт86=уN 8 
л47еD=уN E8DуD78N, 
8<пл4=т4F8N D47л8G=KE 
68до6 дDе=46е9 

H26.0 - H26.4, 

H40.1 - H40.8, 

Q15.0 

7л4уко<4 E по6KHе==K< 
8л8 6KEок8< 
6=утD87л47=K< 
д46ле=8е< D4768то9, 
д4леко 74HедHе9 Eт4д88, 
6 то< G8Eле E 
оEло6=е=8O<8, у 
67DоEлKE. �Dо6де==4O 
7л4уко<4, 7л4уко<4 
6тоD8G=4O 6EледEт68е 
6оEп4л8телL=KE 8 дDу78E 
745оле64=89 7л474, 6 то< 
G8Eле E оEло6=е=8O<8, у 
дете9 

E8DуD78GеEкое 
леGе=8е 

8<пл4=т4F8O 
4=т87л4уко<4то7=о7о 
<ет4лл8GеEко7о Hу=т4 

88180 

 %8DуD78GеEкое 8 (8л8) 
луGе6ое леGе=8е 
=о6оо5D47о64=89 7л474, 
е7о пD8д4тоG=о7о 
4пп4D4т4 8 оD58тK, 
6=утD8оD58т4лL=KE 
до5Dок4GеEт6е==KE 
опуEоле9, 6Dо6де==KE 
поDоко6 D4768т8O оD58тK, 
Dеко=EтDукт86=о-

пл4Eт8GеEк4O E8DуD78O пD8 
8E поEледEт68OE 

C43.1, C44.1, 

C69.0 - C69.9, 

C72.3, D31.5, 

D31.6, Q10.7, 

Q11.0 - Q11.2 

7лок4GеEт6е==Kе 
=о6оо5D47о64=8O 7л474, 
е7о пD8д4тоG=о7о 
4пп4D4т4, оD58тK у 
67DоEлKE 8 дете9 (Eт4д88 
T1 - T3 N0 M0), 

до5Dок4GеEт6е==Kе 
опуEол8 оD58тK, 
6Dо6де==Kе поDок8 
D4768т8O оD58тK 5е7 
оEло6=е=89 8л8 
оEло6=е==Kе п4толо78е9 
Dо7о68FK, EDуEт4л8к4, 
Eтекло68д=о7о тел4, 
7D8телL=о7о =еD64, 
7л47од6874телL=KE <KHF, 
оDт4лL<о78пеDте=78е9 

E8DуD78GеEкое 

8 (8л8) луGе6ое 
леGе=8е 

отEDоGе==4O 8<пл4=т4F8O 
8D8до-EDуEт4л8ко6о9 
д84DD47<K пD8 
=о6оо5D47о64=8OE 7л474 

 

5D4E8теD4п8O, 6 то< G8Eле E 
од=о<о<е=т=о9 
EклеDопл4Eт8ко9, пD8 
=о6оо5D47о64=8OE 7л474 

 

 оD58тото<8O D47л8G=K<8 
доEтуп4<8 

 

 тD4=Eпуп8ллOD=4O 
теD<отеD4п8O, 6 то< G8Eле E 
о7D4=8G8телL=о9 
л47еDко47улOF8е9 пD8 
=о6оо5D47о64=8OE 7л474 

 

 кD8одеEтDукF8O пD8  



=о6оо5D47о64=8OE 7л474 

 M=укле4F8O E пл4Eт8ко9 
кулLт8 8 D4д8око47улOF8е9 
тк4=е9 оD58тK пD8 
=о6оо5D47о64=8OE 7л474 

 

 Mк7е=теD4F8O оD58тK E 
од=о<о<е=т=о9 пл4Eт8ко9 
E6о5од=K< ко6=K< лоEкуто< 
8л8 пл4Eт8ко9 <еEт=K<8 
тк4=O<8 

 

     8D8дMкто<8O, 6 то< G8Eле E 
8D8допл4Eт8ко9, пD8 
=о6оо5D47о64=8OE 7л474 

 

 8D8дMкто<8O E 
8D8допл4Eт8ко9 E 
MкEтD4кF8е9 к4т4D4ктK E 
8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K пD8 
=о6оо5D47о64=8OE 7л474 

 

 8D8доF8клоEклеDMкто<8O, 6 
то< G8Eле E 8D8допл4Eт8ко9, 
пD8 =о6оо5D47о64=8OE 7л474 

 

     8D8доF8клоEклеDMкто<8O E 
8D8допл4Eт8ко9, 
MкEтD4к4пEулOD=о9 
MкEтD4кF8е9 к4т4D4ктK, 
8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K пD8 
=о6оо5D47о64=8OE 7л474 

 



 8D8доF8клоEоD8оEклеDMкто<
8O, 6 то< G8Eле E 
8D8допл4Eт8ко9, пD8 
=о6оо5D47о64=8OE 7л474 

 

 Dеко=EтDукт86=о-

пл4Eт8GеEк8е опеD4F88 
пеDед=е7о 8 74д=е7о отдело6 
7л474 8 е7о пD8д4тоG=о7о 
4пп4D4т4 

 

     оD58тото<8O E M=укле4F8е9 8 
пл4Eт8ко9 кулLт8 

 

 ко=туD=4O пл4Eт8к4 оD58тK  

 MкEF878O =о6оо5D47о64=8O 
ко=JN=кт86K 8 Dо7о68FK E 
поEло9=о9 
кеD4токо=JN=кт864лL=о9 
пл4Eт8ко9 

 

 5D4E8теD4п8O пD8 
=о6оо5D47о64=8OE 
пD8д4тоG=о7о 4пп4D4т4 7л474 

 

 Dе=т7е=отеD4п8O пD8 
7лок4GеEт6е==KE 
=о6оо5D47о64=8OE 6ек 

 

28.  еко=EтDукт86=о-

пл4Eт8GеEк8е 8 опт8ко-

Dеко=EтDукт86=Kе 
опеD4F88 пD8 тD46<4E 

H02.0 - H02.5, 

H04.0 - H04.6, 

H05.0 - H05.5, 

H11.2, H21.5, 

тD46<4 7л474 8 7л47=8FK, 
теD<8GеEк8е 8 
E8<8GеEк8е о6о78, 
о7D4=8Gе==Kе о5л4EтLN 

E8DуD78GеEкое 
леGе=8е 

4ллол8<54лL=4O 
тD4=Eпл4=т4F8O 
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 68тDMкто<8O E уд4ле=8е< 
лNкE8Dо64==о7о EDуEт4л8к4 

 



 (откDKтKE, 74кDKтKE) 
7л474, е7о пD8д4тоG=о7о 
4пп4D4т4, оD58тK 

H27.0, H27.1, 

H26.0 - H26.9, 

H31.3, H40.3, 

S00.1, S00.2, 

S02.3, S04.0 - 

S04.5, S05.0 - 

S05.9, T26.0 - 

T26.9, H44.0 - 

H44.8, T85.2, 

T85.3, T90.4, 

T95.0, T95.8 

7л474 8 е7о пD8д4тоG=о7о 
4пп4D4т4, пD8 оEтDо9 8л8 
Eт458лL=о9 D47е пD8 
лN5о9 Eт4д88 у 67DоEлKE 
8 дете9 Eо EледуNI8<8 
оEло6=е=8O<8: п4толо78O 
EDуEт4л8к4, Eтекло68д=о7о 
тел4, 
оDт4лL<о78пеDте=78O, 
пеDело< д=4 оD58тK, 
откDKт4O D4=4 6ек4 8 
около7л47=8G=о9 о5л4Eт8, 
6тоD8G=4O 7л4уко<4, 
M=тDоп8о= 8 тD8E847 6ек4, 
MктDоп8о= 6ек4, 
л47оDт4лL<, пто7 6ек4, 
Eте=о7 8 =едоEт4тоG=оEтL 
Eле7=KE пDотоко6, 
деDоD<4F8O оD58тK, 
M=оDт4лL<, =еуд4ле==ое 
8=оDод=ое тело оD58тK 
6EледEт68е пDо=8к4NIе7о 
D4=е=8O, Dу5FK 
ко=JN=кт86K, Dу5FK 8 
по<ут=е=8е Dо7о68FK, 
Eл8пG864O ле9ко<4, 
7=о9=K9 M=доDт4лL<8т, 
де7е=еD4т86=Kе 
EоEтоO=8O 7л47=о7о 
O5лок4, =еуд4ле==ое 
<47=8т=ое 8=оDод=ое 
тело, =еуд4ле==ое 
=е<47=8т=ое 8=оDод=ое 

68тDеоле=EMкто<8O E 
8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K, 6 то< 
G8Eле E л47еD=K< 
68тD8ол878Eо< 

 

 д8EклеD4лL=ое уд4ле=8е 
8=оDод=о7о тел4 E лок4лL=о9 
EклеDопл4Eт8ко9 

 

 <8кDо8=64786=4O 
68тDMкто<8O, 6 то< G8Eле E 
ле=EMкто<8е9, 8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K, 
<е<5D4=оп8л8=7о<, 
H64DтMкто<8е9, 
H64Dтото<8е9, 
Dет8=ото<8е9, 
M=дот4<по=4до9 
пеDDтоDоD74=8GеEк8< 
Eоед8=е=8е<, E8л8ко=о6K< 
<4Eло<, 
M=дол47еDко47улOF8е9 
EетG4тк8 

 

 8<пл4=т4F8O 8EкуEEт6е==о9 
D4ду6к8 
(8D8доEDуEт4л8ко6о9 
д84DD47<K) 

 

8D8допл4Eт8к4, 6 то< G8Eле E 
л47еD=о9 Dеко=EтDукF8е9, 
пеDед=е9 к4<еDK 

 

 кеD4топDоте78Dо64=8е  



 тело, тD46<4т8GеEкое 
коEо7л478е, оEло6=е=8O 
<еE4=8GеEко7о 
пDо8EEо6де=8O, 
E6O74==Kе E 
8<пл4=т4т4<8 8 
тD4=Eпл4=т4т4<8 

пл4Eт8к4 полоEт8, 6ек4, 
E6од4(о6) E пеDеE4дко9 
E6о5од=KE лоEкуто6, 6 то< 
G8Eле E пеDеE4дко9 DеE=8F 

 

 пл4Eт8к4 кулLт8 E 
оD58т4лL=K< 8<пл4=т4то< 8 
Dеко=EтDукF8е9, 6 то< G8Eле E 
кDо646о9 т4D7оD4D8е9 

 

 тD4=E68теD4лL=ое уд4ле=8е 
6=утD87л47=о7о 8=оDод=о7о 
тел4 E M=дол47еD=о9 
ко47улOF8е9 EетG4тк8 

 

     Dеко=EтDукт86=о-

пл4Eт8GеEк8е опеD4F88 =4 
6ек4E, 6 то< G8Eле E кDо646о9 
т4D7оD4D8е9 

 

 Dеко=EтDукF8O 
Eле7оот6одOI8E путе9 

 

тD4=Eпл4=т4F8O 
4<=8от8GеEко9 <е<5D4=K 

 

 ко=туD=4O пл4Eт8к4 оD58тK  

M=укле4F8O (M68EFеD4F8O) 
7л474 E пл4Eт8ко9 кулLт8 
оD58т4лL=K< 8<пл4=т4то< 

 

 уEтD4=е=8е 
поEттD46<4т8GеEко7о пто74 
6еDE=е7о 6ек4 

 



 д8л4т4F8O Eле7=KE пDотоко6 
MкEп4=деD4<8 

 

 д4кD8оF8EтоD8=оEто<8O 
=4Dу6=K< доEтупо< 

 

     6тоD8G=4O 8<пл4=т4F8O 
8=тD4окулOD=о9 л8=7K E 
Dеко=EтDукF8е9 пеDед=е9 
к4<еDK, 6 то< G8Eле E 
д8EF878е9 л47еDо< 
6тоD8G=о9 к4т4D4ктK 

 

 Dеко=EтDукF8O пеDед=е9 
к4<еDK E пеDед=е9 
68тDMкто<8е9 E уд4ле=8е< 
тD46<4т8GеEко9 к4т4D4ктK, 6 
то< G8Eле E 8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K 

 

 уд4ле=8е под6K68E=уто7о 
EDуEт4л8к4 E 8<пл4=т4F8е9 
D47л8G=KE <оделе9 
8=тD4окулOD=о9 л8=7K 

 

 Eк6о7=4O кеD4топл4Eт8к4 E 
8<пл4=т4F8е9 
8D8доEDуEт4л8ко6о9 
д84DD47<K 

 

7еD<ет874F8O D4=K Dо7о68FK 
(EклеDK) E Dеко=EтDукF8е9 
пеDед=е9 к4<еDK E 
8D8допл4Eт8ко9, 
EклеDопл4Eт8ко9 

 



     7еD<ет874F8O D4=K Dо7о68FK 
(EклеDK) E Dеко=EтDукF8е9 
пеDед=е9 к4<еDK E 
8D8допл4Eт8ко9, E уд4ле=8е< 
8=оDод=о7о тел4 87 
пеDед=е7о Eе7<е=т4 7л474 

 

M=до68тDе4лL=ое 
6<еH4телLEт6о, 6 то< G8Eле E 
т4<по=4до9 68тDе4лL=о9 
полоEт8, E уд4ле=8е< 
8=оDод=о7о тел4 87 74д=е7о 
Eе7<е=т4 7л474 

 

 пл4Eт8к4 оD58тK, 6 то< G8Eле 
E уд4ле=8е< 8=оDод=о7о тел4 

 

 Hе96еD=4O (л47еD=4O) 
Dеко=EтDукт86=4O опеD4F8O 
пD8 п4толо788 
Eле7оот6одOI8E путе9 

 

 Dеко=EтDукт86=4O 
5леD4Dопл4Eт8к4 

 

 D4EEеGе=8е E8<5леD4Dо=4 E 
пл4Eт8ко9 ко=JN=кт864лL=о9 
полоEт8 (E пеDеE4дко9 тк4=е9) 

 

M=до68тDе4лL=ое 
6<еH4телLEт6о E Dепо78F8е9 
8=тD4окулOD=о9 л8=7K 

 

     укDепле=8е 5елL<4, уд4ле=8е 
DетDопDоте7=о9 пле=к8 пD8 

 



кеD4топDоте78Dо64=88 

 Ко<плекE=ое леGе=8е 
5оле7=е9 Dо7о68FK, 
6клNG4O опт8ко-

Dеко=EтDукт86=уN 8 
л47еD=уN E8DуD78N, 
8=те=E86=ое 
ко=EеD64т86=ое леGе=8е 
O76K Dо7о68FK 

H16.0, H17.0 - 

H17.9, H18.0 - 

H18.9 

O764 Dо7о68FK оEтD4O, 
EтDо<4лL=4O 8л8 
пеDDоD8DуNI4O у 
67DоEлKE 8 дете9, 
оEло6=е==4O 78поп8о=о<, 
M=доDт4лL<8то<, 
п4толо78е9 EDуEт4л8к4. 
 у5FK 8 по<ут=е=8O 
Dо7о68FK, дDу78е 5оле7=8 
Dо7о68FK (5улле7=4O 
кеD4топ4т8O, де7е=еD4F8O, 
=4EледEт6е==Kе 
д8EтDоD88 Dо7о68FK, 
кеD4токо=уE) у 67DоEлKE 8 
дете9 6=е 7468E8<оEт8 от 
оEло6=е=89 

ко<58=8Dо64==
ое леGе=8е 

46то<4т878Dо64==4O 
поEло9=4O кеD4топл4Eт8к4 E 
8EполL7о64=8е< 
Dе<тоEеку=д=о7о л47еD4 8л8 
кеD4то<4, 6 то< G8Eле E 
Dе8<пл4=т4F8е9 Mл4Eт8G=о9 
8=тD4окулOD=о9 л8=7K, пD8 
D47л8G=KE 5оле7=OE 
Dо7о68FK 

 

 =е46то<4т878Dо64==4O 
поEло9=4O кеD4топл4Eт8к4 

 

 8<пл4=т4F8O 
8=тD4EтDо<4лL=KE Eе7<е=то6 
E по<оILN Dе<тоEеку=д=о7о 
л47еD4 пD8 5оле7=OE 
Dо7о68FK 

 

 MкE8<еDл47еD=4O коDDекF8O 
поEттD46<4т8GеEко7о 
4Eт87<4т87<4 

 

 MкE8<еDл47еD=4O 
DототеD4пе6т8GеEк4O 
кеD4тMкто<8O пD8 O764E 
Dо7о68FK 

 

     MкE8<еDл47еD=4O 
DототеD4пе6т8GеEк4O 
кеD4тMкто<8O Dу5Fо6 8 
по<ут=е=89 Dо7о68FK 

 



 Eк6о7=4O Dеко=EтDукт86=4O 
кеD4топл4Eт8к4 

 

 Eк6о7=4O кеD4топл4Eт8к4  

 тD4=Eпл4=т4F8O 
деEFе<ето6о9 <е<5D4=K 

 

 тD4=Eпл4=т4F8O 
4<=8от8GеEко9 <е<5D4=K 

 

 поEло9=4O 7лу5ок4O пеDед=OO 
кеD4топл4Eт8к4 

 

     кеD4топDоте78Dо64=8е  

 кеD4топл4Eт8к4 поEло9=4O 
Dот4F8о==4O 8л8 о5<е==4O 

 

 кеD4топл4Eт8к4 поEло9=4O 
8=6еDт=4O 

 

 8=те=E86=ое ко=EеD64т86=ое 
леGе=8е O76K Dо7о68FK 

 

 %8DуD78GеEкое 8 (8л8) 
л47еD=ое леGе=8е 
DетDоле=т4лL=о9 
D85Dопл4788 
(Dет8=оп4т8O 
=едо=оHе==KE), 6 то< 
G8Eле E пD8<е=е=8е< 
ко<плекE=о7о 
оDт4лL<оло78GеEко7о 
о5Eледо64=8O под о5Iе9 
4=еEте78е9 

H35.2 DетDоле=т4лL=4O 
D85Dопл478O 
(Dет8=оп4т8O 
=едо=оHе==KE) у дете9, 
4кт86=4O D474, Dу5Fо64O 
D474, лN5о9 Eт4д88, 5е7 
оEло6=е=89 8л8 
оEло6=е==4O п4толо78е9 
Dо7о68FK, EDуEт4л8к4, 
Eтекло68д=о7о тел4, 
7л47од6874телL=KE <KHF, 

E8DуD78GеEкое 
леGе=8е 

<8кDо8=64786=4O 
68тDMкто<8O, 6 то< G8Eле E 
ле=EMкто<8е9, 8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K, 
<е<5D4=оп8л8=7о<, 
H64DтMкто<8е9, 
H64Dтото<8е9, 
Dет8=ото<8е9, 
M=дот4<по=4до9 
пеDDтоDоD74=8GеEк8<8 
Eоед8=е=8O<8, E8л8ко=о6K< 

 



6Dо6де==о9 8 6тоD8G=о9 
7л4уко<о9 

<4Eло<, 
M=дол47еDко47улOF8е9 
EетG4тк8 

 Dеко=EтDукF8O пеDед=е9 
к4<еDK E ле=EMкто<8е9, 6 то< 
G8Eле E 68тDMкто<8е9, 
H64Dтото<8е9 

 

 <од8D8F8Dо64==4O 
E8=уEтD45екулMкто<8O 

 

 Mп8EклеD4лL=ое кDу7о6ое 8 
(8л8) лок4лL=ое 
пло<58Dо64=8е, 6 то< G8Eле E 
тD4=EклеD4лL=о9 л47еD=о9 
ко47улOF8е9 EетG4тк8 

 

     Mп8EклеD4лL=ое кDу7о6ое 8 
(8л8) лок4лL=ое 
пло<58Dо64=8е 6 EоGет4=88 E 
68тDMкто<8е9, 6 то< G8Eле E 
ле=EMкто<8е9, 8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K, 
<е<5D4=оп8л8=7о<, 
H64DтMкто<8е9, 
H64Dтото<8е9, 
Dет8=ото<8е9, 
M=дот4<по=4до9 
пеDDтоDоD74=8GеEк8<8 
Eоед8=е=8O<8, E8л8ко=о6K< 
<4Eло<, 
M=дол47еDко47улOF8е9 
EетG4тк8 

 



 8EпD46ле=8е коEо7л478O E 
пл4Eт8ко9 MкEтD4окулOD=KE 
<KHF 

 

 уд4ле=8е E8л8ко=о6о7о <4Eл4 
(дDу7о7о 
6KEоко<олекулOD=о7о 
Eоед8=е=8O) 87 68тDе4лL=о9 
полоEт8 E 66еде=8е< 
D4EH8DONIе7оEO 7474 8 (8л8) 
6о7дуE4, 6 то< G8Eле E 
M=дол47еDко47улOF8е9 
EетG4тк8 

 

     тD4=Eпуп8ллOD=4O 
л47еDко47улOF8O 6тоD8G=KE 
Dет8=4лL=KE д8EтDоD89 8 
Dет8=оH878E4 

 

 л47еD=4O коDепD4кE8O 
(Eо7д4=8е 8EкуEEт6е==о7о 
7D4Gк4) 

 

 л47еD=4O 
8D8докоDеопл4Eт8к4 

 

 л47еD=4O 68тDеоH64Dтото<8O  

 л47еD=Kе ко<58=8Dо64==Kе 
опеD4F88 =4 EтDуктуD4E у7л4 
пеDед=е9 к4<еDK 

 

 л47еD=4O деEтDукF8O 
7D4Gко6о9 <е<5D4=K E 
ко47улOF8е9 (5е7 ко47улOF88) 

 



EоEудо6 

29. &D4=Eпуп8ллOD=4O, 
<8кDо8=64786=4O 
M=еD7ет8GеEк4O опт8ко-

Dеко=EтDукт86=4O, 
M=до68тDе4лL=4O 23 - 27 

7е9д6е64O E8DуD78O пD8 
68тDеоDет8=4лL=о9 
п4толо788 D47л8G=о7о 
7е=е74 

E10, E11, H25.0 - 

H25.9, H26.0 - 

H26.4, H27.0, H28, 

H30.0 - H30.9, 

H31.3, H32.8, 

H33.0 - H33.5, 

H34.8, H35.2 - 

H35.4, H36.0, 

H36.8, H43.1, 

H43.3, H44.0, 

H44.1 

EоGет4==4O п4толо78O 
7л474 у 67DоEлKE 8 дете9 
(EоD8оDет8=4лL=Kе 
6оEп4ле=8O, 
EоD8оDет8=4лL=Kе 
=4DуHе=8O пD8 5оле7=OE, 
кл4EE8D8F8Dо64==KE 6 
дDу78E Dу5D8к4E, 
Dет8=оH878E 8 
Dет8=4лL=Kе к8EтK, 
Dет8=4лL=Kе EоEуд8EтKе 
окклN788, 
пDол8DеD4т86=4O 
Dет8=оп4т8O, де7е=еD4F8O 
<4кулK 8 74д=е7о 
полNE4). КDо6о87л8O=8е 6 
Eтекло68д=ое тело, 
оEло6=е==Kе п4толо78е9 
Dо7о68FK, EDуEт4л8к4, 
Eтекло68д=о7о тел4. 
�845ет8GеEк4O 
Dет8=оп4т8O 67DоEлKE, 
пDол8DеD4т86=4O Eт4д8O, 
6 то< G8Eле E 
оEло6=е=8O<8 8л8 E 
п4толо78е9 EDуEт4л8к4, 
Eтекло68д=о7о тел4, 
6тоD8G=о9 7л4уко<о9, 
<4кулOD=K< отеко<. 
 47л8G=Kе DоD<K 
отEло9к8 8 D47DK6K 
EетG4тк8 у 67DоEлKE 8 

E8DуD78GеEкое 
леGе=8е 

тD4=Eпуп8ллOD=4O 
п4=Dет8=4лL=4O 
л47еDко47улOF8O 

127000 

 Dеко=EтDукF8O пеDед=е9 
к4<еDK E улLтD476уко6о9 
D4коM<улLE8D8к4F8е9 
оEло6=е==о9 к4т4D4ктK E 
8<пл4=т4F8е9 Mл4Eт8G=о9 
8=тD4окулOD=о9 л8=7K 

 

 <8кDо8=64786=4O 
68тDMкто<8O, 6 то< G8Eле E 
ле=EMкто<8е9, 8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K, 
<е<5D4=оп8л8=7о<, 
H64DтMкто<8е9, 
H64Dтото<8е9, 
Dет8=ото<8е9, 
M=дот4<по=4до9 
пеDDтоDоD74=8GеEк8<8 
Eоед8=е=8O<8, E8л8ко=о6K< 
<4Eло<, 
M=дол47еDко47улOF8е9 
EетG4тк8 

 

 8=тD468тDе4лL=ое 66еде=8е 
8=7858тоD4 4=78о7е=е74 

 

 <8кDо8=64786=4O Dе6878O 
68тDе4лL=о9 полоEт8, 6 то< 
G8Eле E ле=EMкто<8е9, 
8<пл4=т4F8е9 Mл4Eт8G=о9 

 



дете9, 6 то< G8Eле 
оEло6=е==Kе п4толо78е9 
Dо7о68FK, EDуEт4л8к4, 
Eтекло68д=о7о тел4. 
К4т4D4кт4 у 67DоEлKE 8 
дете9, оEло6=е==4O 
Eу5лNкE4F8е9 EDуEт4л8к4, 
7л4уко<о9, п4толо78е9 
Eтекло68д=о7о тел4, 
EетG4тк8, EоEуд8Eто9 
о5олоGк8. ОEло6=е=8O, 
6о7=8кH8е 6 Dе7улLт4те 
пDедHеEт6уNI8E опт8ко-

Dеко=EтDукт86=KE, 
M=до68тDе4лL=KE 
6<еH4телLEт6 у 67DоEлKE 
8 дете9. �о7D4Eт=4O 
<4кулOD=4O де7е=еD4F8O 
(���), 6л46=4O DоD<4, 6 
то< G8Eле E 
оEло6=е=8O<8 

8=тD4окулOD=о9 л8=7K, 
<е<5D4=оп8л8=7о<, 
H64DтMкто<8е9, 
H64Dтото<8е9, 
Dет8=ото<8е9, 
M=дот4<по=4до9 
пеDDтоDоD74=8GеEк8<8 
Eоед8=е=8O<8, E8л8ко=о6K< 
<4Eло<, 
M=дол47еDко47улOF8е9 
EетG4тк8 

  еко=EтDукт86=ое, 
6оEEт4=о68телL=ое, 
Dеко=EтDукт86=о-

пл4Eт8GеEкое 
E8DуD78GеEкое 8 л47еD=ое 
леGе=8е пD8 6Dо6де==KE 
4=о<4л8OE (поDок4E 
D4768т8O) 6ек4, Eле7=о7о 
4пп4D4т4, 7л47=8FK, 
пеDед=е7о 8 74д=е7о 
Eе7<е=то6 7л474, 

H26.0, H26.1, 

H26.2, H26.4, 

H27.0, H33.0, 

H33.2 - 33.5, 

H35.1, H40.3, 

H40.4, H40.5, 

H43.1, H43.3, 

H49.9, Q10.0, 

Q10.1, Q10.4 - 

Q10.7, Q11.1, 

Q12.0, Q12.1, 

6Dо6де==Kе 4=о<4л88 
EDуEт4л8к4, пеDед=е7о 
Eе7<е=т4 7л474, 
6Dо6де==4O, оEло6=е==4O 
8 6тоD8G=4O к4т4D4кт4, 
кеD4токо=уE, к8EтK 
D4ду6=о9 о5олоGк8, 
F8л84D=о7о тел4 8 
пеDед=е9 к4<еDK 7л474, 
коло5о<4 D4ду6к8, 
6Dо6де==ое по<ут=е=8е 

E8DуD78GеEкое 
леGе=8е 

Mп8EклеD4лL=ое кDу7о6ое 8 
(8л8) лок4лL=ое 
пло<58Dо64=8е, 6 то< G8Eле E 
тD4=EклеD4лL=о9 л47еD=о9 
ко47улOF8е9 EетG4тк8 

 

 Mп8EклеD4лL=ое кDу7о6ое 8 
(8л8) лок4лL=ое 
пло<58Dо64=8е 6 EоGет4=88 E 
68тDMкто<8е9, 6 то< G8Eле E 
ле=EMкто<8е9, 8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K, 

 



EDуEт4л8к4, 6 то< G8Eле E 
пD8<е=е=8е< 
ко<плекE=о7о 
оDт4лL<оло78GеEко7о 
о5Eледо64=8O под о5Iе9 
4=еEте78е9 

Q12.3, Q12.4, 

Q12.8, Q13.0, 

Q13.3, Q13.4, 

Q13.8, Q14.0, 

Q14.1, Q14.3, 

Q15.0, H02.0 - 

H02.5, H04.5, 

H05.3, H11.2 

Dо7о68FK, дDу78е поDок8 
D4768т8O Dо7о68FK 5е7 
оEло6=е=89 8л8 
оEло6=е==Kе п4толо78е9 
Dо7о68FK, Eтекло68д=о7о 
тел4, G4Eт8G=о9 4тDоD8е9 
7D8телL=о7о =еD64. 
�Dо6де==Kе 4=о<4л88 
74д=е7о Eе7<е=т4 7л474 
(EетG4тк8, Eтекло68д=о7о 
тел4, EоEуд8Eто9 
о5олоGк8, 5е7 
оEло6=е=89 8л8 
оEло6=е==Kе п4толо78е9 
Eтекло68д=о7о тел4, 
G4Eт8G=о9 4тDоD8е9 
7D8телL=о7о =еD64). 
�Dо6де==Kе 4=о<4л88 
(поDок8 D4768т8O) 6ек, 
Eле7=о7о 4пп4D4т4, 
7л47=8FK, 6Dо6де==K9 
пто7, отEутEт68е 8л8 
47е=е78O Eле7=о7о 
4пп4D4т4, дDу78е поDок8 
D4768т8O Eле7=о7о 
4пп4D4т4 5е7 оEло6=е=89 
8л8 оEло6=е==Kе 
п4толо78е9 Dо7о68FK. 
�Dо6де==Kе 5оле7=8 
<KHF 7л474, =4DуHе=8е 
EодDу6еEт6е==о7о 
д686е=8O 7л47 

<е<5D4=оп8л8=7о<, 
H64DтMкто<8е9, 
H64Dтото<8е9, 
Dет8=ото<8е9, 
M=дот4<по=4до9 
пеDDтоDоD74=8GеEк8< 
Eоед8=е=8е<, E8л8ко=о6K< 
<4Eло<, 
M=дол47еDко47улOF8е9 
EетG4тк8 

 Eк6о7=4O кеD4топл4Eт8к4, 6 
то< G8Eле E Dеко=EтDукF8е9 
пеDед=е9 к4<еDK, 
8<пл4=т4F8е9 Mл4Eт8G=о9 
8=тD4окулOD=о9 л8=7K 

 

 Eк6о7=4O 
л8<5океD4топл4Eт8к4 

 

 поEло9=4O кеD4топл4Eт8к4  

 Dеко=EтDукF8O пеDед=е9 
к4<еDK E ле=EMкто<8е9, 6 то< 
G8Eле E 68тDMкто<8е9, 
H64Dтото<8е9 

 

 <8кDо8=64786=4O MкEтD4кF8O 
к4т4D4ктK, 6 то< G8Eле E 
Dеко=EтDукF8е9 пеDед=е9 
к4<еDK, 68тDMкто<8е9, 
8<пл4=т4F8е9 Mл4Eт8G=о9 
8=тD4окулOD=о9 л8=7K 

 

 D4ко4Eп8D4F8O 6Dо6де==о9  



к4т4D4ктK E 8<пл4=т4F8е9 
Mл4Eт8G=о9 8=тD4окулOD=о9 
л8=7K 

 п4=Dет8=4лL=4O 
л47еDко47улOF8O EетG4тк8 

 

     <8кDо8=64786=4O 
68тDMкто<8O, 6 то< G8Eле E 
ле=EMкто<8е9, 8<пл4=т4F8е9 
8=тD4окулOD=о9 л8=7K, 
<е<5D4=оп8л8=7о<, 
H64DтMкто<8е9, 
H64Dтото<8е9, 
Dет8=ото<8е9, 
M=дот4<по=4до9 
пеDDтоDоD74=8GеEк8< 
Eоед8=е=8е<, E8л8ко=о6K< 
<4Eло<, 
M=дол47еDко47улOF8е9 
EетG4тк8 

 

 д8одл47еD=4O 
F8клоDотоко47улOF8O, 6 то< 
G8Eле E ко47улOF8е9 EоEудо6 

 

 уд4ле=8е E8л8ко=о6о7о <4Eл4 
(дDу7о7о 
6KEоко<олекулOD=о7о 
Eоед8=е=8O) 87 68тDе4лL=о9 
полоEт8 E 66еде=8е< 
D4EH8DONIе7оEO 7474 8 (8л8) 
6о7дуE4, 6 то< G8Eле 
M=дол47еDко47улOF8е9 
EетG4тк8 

 



     Dеко=EтDукт86=о-

пл4Eт8GеEк8е опеD4F88 =4 
MкEтD4окулOD=KE <KHF4E 8л8 
6ек4E 8л8 Eле7=KE путOE пD8 
поDок4E D4768т8O 

 

 <од8D8F8Dо64==4O 
E8=уEтD45екулMкто<8O, 6 то< 
G8Eле E 74д=е9 тDеп4=4F8е9 
EклеDK 

 

 8<пл4=т4F8O Mл4Eт8G=о9 
8=тD4окулOD=о9 л8=7K 6 
4D4к8G=K9 7л47 E 
Dеко=EтDукF8е9 74д=е9 
к4<еDK, 6 то< G8Eле E 
68тDMкто<8е9 

 

 пл4Eт8к4 кулLт8 оD58т4лL=K< 
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745оле64=89 Fе=тD4лL=о9 
=еD6=о9 E8Eте<K <е74до74<8 
коDт8коEтеDо8до6, 
F8тоEт4т8GеEк8<8 
лек4DEт6е==K<8 



пDеп4D4т4<8, 4 т4к6е 
<етод4<8 
MкEтD4коDпоD4лL=о7о 
6о7де9Eт68O =4 кDо6L, под 
ко=тDоле< ко<плекE4 
=е9Dо687у4л874F8о==KE 8 
=е9DоDу=кF8о=4лL=KE 
<етодо6 о5Eледо64=8O, 
опDеделе=8O уDо6=O 
EK6оDотоG=KE 8 тк4=е6KE 
<4DкеDо6 4кт86=оEт8 
п4толо78GеEко7о пDоFеEE4 

     ко<плекE=ое леGе=8е 
тO6елKE д6874телL=KE 
=4DуHе=89 пD8 Eп4Eт8GеEк8E 
DоD<4E детEко7о 
FеDе5D4лL=о7о п4D4л8G4, 
6Dо6де==KE, 6клNG4O 
пеD8=4т4лL=Kе, 
=е9Dоде7е=еD4т86=KE, 
=еD6=о-<KHеG=KE 8 
де<8ел8=878DуNI8E 
745оле64=8OE E пD8<е=е=8е< 
<етодо6 D878отеD4п88 (6 то< 
G8Eле EоGет4==KE <етод8к 
кD8оMлектDо8<пулLE=о9 
теD4п88, Eт8<улOF8о==KE 
токо6 6 д686е=88, 
оE=о64==KE =4 пD8=F8пе 
58оло78GеEко9 о5D4т=о9 
E6O78), к8=е7отеD4п88, 
<еE4=отеD4п88 8 (8л8) 
5отул8=отеD4п88 под 

 



ко=тDоле< ко<плекE4 
=е9Dо687у4л874F8о==KE 8 
=е9DоDу=кF8о=4лL=KE 
<етодо6 о5Eледо64=8O 

33. �ол8ко<по=е=т=ое 
леGе=8е тO6елKE DоD< 
4уто8<<у==о7о 8 
6Dо6де==KE <о=о7е==KE 
DоD< E4E4D=о7о д845ет4 E 
8EполL7о64=8е< E8Eте< 
EутоG=о7о 
<о=8тоD8Dо64=8O 
7лNко7K 8 по<по6KE 
до74тоDо6 8=Eул8=4 

E10, E13, E14 д845ет =о6оDо6де==KE. 
�D8о5Dете==K9 
4уто8<<у==K9 
8=Eул8=7468E8<K9 
E4E4D=K9 д845ет, 
л458лL=ое теGе=8е. 
!4E4D=K9 д845ет E 
оEло6=е=8O<8 
(46то=о<=4O 8 
пеD8DеD8GеEк4O 
пол8=е9Dоп4т8O, 
=еDDоп4т8O, EDо=8GеEк4O 
поGеG=4O 
=едоEт4тоG=оEтL, 
M=FеD4лоп4т8O, 
к4Dд8о<8оп4т8O, 
оEтео4DтDоп4т8O). 
!8=дDо<4лL=Kе 
<о=о7е==Kе DоD<K 
E4E4D=о7о д845ет4 (MODY, 
DLDMOAD, E8=дDо< 
�лLEтDе<4, 
<8тоEо=дD84лL=Kе 
DоD<K 8 дDу78е) 

теD4пе6т8GеEко
е леGе=8е 

ко<плекE=ое леGе=8е 
тO6елKE DоD< E4E4D=о7о 
д845ет4 =4 оE=о6е 
<олекулOD=о-7е=ет8GеEк8E, 
7оD<о=4лL=KE 8 
8<<у=оло78GеEк8E 
8EEледо64=89 E уEт4=о6ко9 
8=Eул8=о6о9 по<пK под 
ко=тDоле< E8Eте< EутоG=о7о 
<о=8тоD8Dо64=8O 7лNко7K 

267100 

!еDдеG=о-EоEуд8Eт4O E8DуD78O 

34. КоDо=4D=4O 
Dе64EкулOD874F8O 

I20.1, I20.8, I25 8Hе<8GеEк4O 5оле7=L 
EеDдF4 Eо 

E8DуD78GеEкое 
леGе=8е 

54лло==4O 647од8л4т4F8O E 
уEт4=о6ко9 Eте=т4 6 EоEуд, 

224360 



<8ок4Dд4 E пD8<е=е=8е< 
4=78опл4Eт8к8 6 
EоGет4=88 Eо 
Eте=т8Dо64=8е< пD8 
8Hе<8GеEко9 5оле7=8 
EеDдF4 

Eте=о78Dо64=8е< 1 - 3 

коDо=4D=KE 4DтеD89 

EоEудK 

35. КоDо=4D=4O 
Dе64EкулOD874F8O 
<8ок4Dд4 E пD8<е=е=8е< 
4оDтокоDо=4D=о7о 
Hу=т8Dо64=8O пD8 
8Hе<8GеEко9 5оле7=8 8 
D47л8G=KE DоD<4E 
EоGет4==о9 п4толо788 

I20, I21, I22, I24.0, 

I25, I44.1, I44.2, 

I45.2, I45.3, I45.6, 

I46.0, I49.5, 

Q21.0, Q24.6 

8Hе<8GеEк4O 5оле7=L 
EеDдF4 Eо 7=4G8телL=K< 
пDокE8<4лL=K< 
Eте=о78Dо64=8е< 
7л46=о7о Eт6ол4 ле6о9 
коDо=4D=о9 4DтеD88, 
=4л8G8е 3 8 5олее 
Eте=о7о6 коDо=4D=KE 
4DтеD89 6 EоGет4=88 E 
п4толо78е9 1 8л8 2 
кл4п4=о6 EеDдF4, 
4=е6D87<о9, деDекто< 
<е66елудоGко6о9 
пеDе7оDодк8, 
=4DуHе=8O<8 D8т<4 8 
пDо6од8<оEт8, дDу78<8 
полоEт=K<8 опеD4F8O<8 

E8DуD78GеEкое 
леGе=8е 

4оDтокоDо=4D=ое 
Hу=т8Dо64=8е у 5олL=KE 
8Hе<8GеEко9 5оле7=LN 
EеDдF4 6 уEло68OE 
8EкуEEт6е==о7о 
кDо6оE=456е=8O 

317850 

4оDтокоDо=4D=ое 
Hу=т8Dо64=8е у 5олL=KE 
8Hе<8GеEко9 5оле7=LN 
EеDдF4 =4 D45от4NIе< 
EеDдFе 

4оDтокоDо=4D=ое 
Hу=т8Dо64=8е 6 EоGет4=88 E 
пл4Eт8ко9 (пDоте78Dо64=8е<) 
1 - 2 кл4п4=о6 

4оDтокоDо=4D=ое 
Hу=т8Dо64=8е 6 EоGет4=88 E 
4=е6D87<Mкто<8е9, 
74кDKт8е< поEт8=D4Dкт=о7о 
деDект4 <е66елудоGко6о9 
пеDе7оDодк8, деEтDукF8е9 
пDо6одOI8E путе9 8 
4D8т<о7е==KE 7о= EеDдF4, 6 
то< G8Eле E 8<пл4=т4F8е9 
MлектDок4Dд8оEт8<улOтоD4, 



к4Dд8о6еDтеD4-

деD85D8ллOтоD4, дDу78<8 
полоEт=K<8 опеD4F8O<8 

36. 1=до64EкулOD=4O, 
E8DуD78GеEк4O коDDекF8O 
=4DуHе=89 D8т<4 EеDдF4 
5е7 8<пл4=т4F88 
к4Dд8о6еDтеD4-

деD85D8ллOтоD4 

I44.1, I44.2, I45.2, 

I45.3, I45.6, I46.0, 

I47.0, I47.1, I47.2, 

I47.9, I48, I49.0, 

I49.5, Q22.5, 

Q24.6 

п4DокE87<4лL=Kе 
=4DуHе=8O D8т<4 8 
пDо6од8<оEт8 D47л8G=о7о 
7е=е74, 
EопDо6о6д4NI8еEO 
EеDдеG=о9 
=едоEт4тоG=оEтLN, 
7е<од8=4<8GеEк8<8 
D4EEтDо9Eт64<8 8 
отEутEт68е< MDDект4 от 
леGе=8O лек4DEт6е==K<8 
пDеп4D4т4<8 

E8DуD78GеEкое 
леGе=8е 

M=до64EкулOD=4O деEтDукF8O 
допол=8телL=KE пDо6одOI8E 
путе9 8 4D8т<о7е==KE 7о= 
EеDдF4 

254 840 

8<пл4=т4F8O G4Eтот=о-

4д4пт8Dо64==о7о 
тDеEк4<еD=о7о 
к4Dд8оEт8<улOтоD4 

тоD4коEкоп8GеEк4O 
деEтDукF8O 4D8т<о7е==KE 7о= 
EеDдF4 

E8DуD78GеEк4O 8 (8л8) 
кD8одеEтDукF8O 
допол=8телL=KE пDо6одOI8E 
путе9 8 4D8т<о7е==KE 7о= 
EеDдF4 

37. %8DуD78GеEк4O 8 
M=до64EкулOD=4O 
коDDекF8O 745оле64=89 
<478EтD4лL=KE 4DтеD89 

I20, I25, I26, I65, 

I70.0, I70.1, I70.8, 

I71, I72.0, I72.2, 

I72.3, I72.8, I73.1, 

I77.6, I98, Q26.0, 

Q27.3 

6Dо6де==Kе 8 
пD8о5Dете==Kе 
745оле64=8O 4оDтK 8 
<478EтD4лL=KE 4DтеD89 

E8DуD78GеEкое 
леGе=8е 

M=до64EкулOD=4O (54лло==4O 
4=78опл4Eт8к4 Eо 
Eте=т8Dо64=8е<) 8 
E8DуD78GеEк4O коDDекF8O 
пD8о5Dете==о9 8 
6Dо6де==о9 
4DтеD8о6е=о7=о9 4=о<4л88 

285370 

M=до64EкулOD=Kе, 
E8DуD78GеEк8е 8 785D8д=Kе 
опеD4F88 =4 4оDте 8 



<478EтD4лL=KE EоEуд4E 
(кDо<е 4DтеD89 ко=еG=оEте9) 

4=е6D87<Mкто<8O 4оDтK 6 
EоGет4=88 E пл4Eт8ко9 8л8 
5е7 пл4Eт8к8 ее 6ет6е9, 6 
EоGет4=88 E пл4Eт8ко9 8л8 
5е7 пл4Eт8к8 6оEEодOIе9 
4оDтK кл4п4=EодеD64I8< 
ко=ду8то< 

 4д8к4лL=4O 8 
7е<од8=4<8GеEк4O 
коDDекF8O 6Dо6де==KE 
поDоко6 пеDе7оDодок, 
к4<еD EеDдF4 8 
Eоед8=е=89 
<478EтD4лL=KE EоEудо6 

Q20.1 - Q20.9, 

Q21, Q22, Q23, 

Q24, Q25 

6Dо6де==Kе поDок8 
пеDе7оDодок, к4<еD 
EеDдF4 8 Eоед8=е=89 
<478EтD4лL=KE EоEудо6 

E8DуD78GеEкое 
леGе=8е 

M=до64EкулOD=4O (54лло==4O 
4=78опл4Eт8к4 8 
Eте=т8Dо64=8е) коDDекF8O 
ле7оG=о9 4DтеD88, 4оDтK 8 ее 
6ет6е9 

D4д8к4лL=4O, 
7е<од8=4<8GеEк4O, 
785D8д=4O коDDекF8O у дете9 
Eт4DHе 1 7од4 8 67DоEлKE 

Dеко=EтDукт86=Kе 8 
пл4Eт8GеEк8е опеD4F88 пD8 
87ол8Dо64==KE деDект4E 
пеDе7оDодок EеDдF4 у дете9 
Eт4DHе 1 7од4 8 67DоEлKE 

E8DуD78GеEк4O (пеDе6O7к4, 
Eу6864=8е, пл4Eт8к4) 
коDDекF8O ле7оG=о9 4DтеD88, 
4оDтK 8 ее 6ет6е9 

38. %8DуD78GеEкое леGе=8е 
6Dо6де==KE, 

Q20.5, Q21.3, 

Q22, Q23.0 - 

поD46е=8е кл4п4==о7о 
4пп4D4т4 EеDдF4 

E8DуD78GеEкое 
леGе=8е 

пл4Eт8к4 кл4п4=о6 6 уEло68OE 
8EкуEEт6е==о7о 

360970 



Dе6<4т8GеEк8E 8 
=еDе6<4т8GеEк8E поDоко6 
кл4п4=о6 EеDдF4, 
опуEоле9 EеDдF4 

Q23.3, Q24.4, 

Q25.3, I34.0, 

I34.1, I34.2, I35.1, 

I35.2, I36.0, I36.1, 

I36.2, I05.0, I05.1, 

I05.2, I06.0, I06.1, 

I06.2, I07.0, I07.1, 

I07.2, I08.0, I08.1, 

I08.2, I08.3, I08.8, 

I08.9, D15.1 

D47л8G=о7о 7е=е74 
(6Dо6де==Kе, 
пD8о5Dете==Kе поDок8 
EеDдF4, опуEол8 EеDдF4) 

кDо6оо5D4Iе=8O 

пDоте78Dо64=8е 1 кл4п4=4 6 
EоGет4=88 E пл4Eт8ко9 8л8 
5е7 пл4Eт8к8 кл4п4=4, 
уд4ле=8е опуEол8 EеDдF4 E 
пл4Eт8ко9 8л8 5е7 пл4Eт8к8 
кл4п4=4 

пDоте78Dо64=8е 2 кл4п4=о6 6 
EоGет4=88 E пл4Eт8ко9 
кл4п4=4 8л8 5е7 пл4Eт8к8 
кл4п4=4, тоD4коEкоп8GеEкое 
пDоте78Dо64=8е 8 (8л8) 
пл4Eт8к4 кл4п4=4 EеDдF4 

пDоте78Dо64=8е 3 кл4п4=о6 у 
5олL=о7о 5е7 8=DекF8о==о7о 
M=док4Dд8т4 8л8 1 - 2 

кл4п4=о6 у 5олL=о7о E 
8=DекF8о==K< 
M=док4Dд8то< 

39. 1=до64EкулOD=ое леGе=8е 
6Dо6де==KE, 
Dе6<4т8GеEк8E 8 
=еDе6<4т8GеEк8E поDоко6 
кл4п4=о6 EеDдF4, 
опуEоле9 EеDдF4 

Q20.5, Q21.3, 

Q22, Q23.0 - 

Q23.3, Q24.4, 

Q25.3, I34.0, 

I34.1, I34.2, I35.1, 

I35.2, I36.0, I36.1, 

I36.2, I05.0, I05.1, 

I05.2, I06.0, I06.1, 

I06.2, I07.0, I07.1, 

I07.2, I08.0, I08.1, 

I08.2, I08.3, I08.8, 

I08.9, D15.1 

поD46е=8е кл4п4==о7о 
4пп4D4т4 EеDдF4 
D47л8G=о7о 7е=е74 
(6Dо6де==Kе, 
пD8о5Dете==Kе поDок8 
EеDдF4, опуEол8 EеDдF4) 

E8DуD78GеEкое 
леGе=8е 

тD4=Eк4тетеD=ое 
пDоте78Dо64=8е кл4п4=о6 
EеDдF4 

1487220 



40. %8DуD78GеEкое леGе=8е 
EDо=8GеEко9 EеDдеG=о9 
=едоEт4тоG=оEт8 

I42.1, I23.3, I23.5, 

I23.4, I50.0 

EDо=8GеEк4O EеDдеG=4O 
=едоEт4тоG=оEтL 
D47л8G=о7о 7е=е74 
(8Hе<8GеEк4O 5оле7=L 
EеDдF4, 78пеDтDоD8GеEк4O 
к4Dд8о<8оп4т8O E 
о5EтDукF8е9 путе9 отток4, 
д8лOт4F8о==4O 
к4Dд8о<8оп4т8O 8 дDу78е) 
2� - 3 Eт4д88 
(кл4EE8D8к4F8O 
!тD46еEко-�4E8ле=ко), III - 
IV Dу=кF8о=4лL=о7о 
кл4EE4 (NYHA), DD4кF8O 
6K5DоE4 ле6о7о 
6елудоGк4 <е=ее 40 
пDоFе=то6 

E8DуD78GеEкое 
леGе=8е 

8EEеGе=8е 
78пеDтDоD8Dо64==KE <KHF 
пD8 о5EтDукт86=о9 
78пеDтDоD8GеEко9 
к4Dд8о<8оп4т88 

417110 

Dеко=EтDукF8O ле6о7о 
6елудоGк4 

8<пл4=т4F8O E8Eте< <о=о- 8 
586е=тD8кулOD=о7о о5Eод4 
6елудоGко6 EеDдF4 

DеE8=EDо=878DуNI4O 
MлектDок4Dд8оEт8<улOF8O 

41. 1=до64EкулOD=4O, 
E8DуD78GеEк4O коDDекF8O 
=4DуHе=89 D8т<4 EеDдF4 
E 8<пл4=т4F8е9 
к4Dд8о6еDтеD4-

деD85D8ллOтоD4 

I44.1, I44.2, I45.2, 

I45.3, I45.6, I46.0, 

I47.0, I47.1, I47.2, 

I47.9, I48, I49.0, 

I49.5, Q22.5, 

Q24.6 

п4DокE87<4лL=Kе 
=4DуHе=8O D8т<4 8 
пDо6од8<оEт8 D47л8G=о7о 
7е=е74, 
EопDо6о6д4NI8еEO 
7е<од8=4<8GеEк8<8 
D4EEтDо9Eт64<8 8 
отEутEт68е< MDDект4 от 
леGе=8O лек4DEт6е==K<8 
пDеп4D4т4<8 

E8DуD78GеEкое 
леGе=8е 

8<пл4=т4F8O од=ок4<еD=о7о 
к4Dд8о6еDтеD4-

деD85D8ллOтоD4 

918040 

8<пл4=т4F8O д6уEк4<еD=о7о 
к4Dд8о6еDтеD4-

деD85D8ллOтоD4 

8<пл4=т4F8O тDеEк4<еD=о7о 
к4Dд8о6еDтеD4-

деD85D8ллOтоD4 

42.  4д8к4лL=4O 8 
7е<од8=4<8GеEк4O 
коDDекF8O 6Dо6де==KE 
поDоко6 пеDе7оDодок, 
к4<еD EеDдF4 8 

Q20.1 - Q20.9, 

Q21, Q22, Q23, 

Q24, Q25 

6Dо6де==Kе поDок8 
пеDе7оDодок, к4<еD 
EеDдF4 8 Eоед8=е=89 
<478EтD4лL=KE EоEудо6 

E8DуD78GеEкое 
леGе=8е 

D4д8к4лL=4O, 
7е<од8=4<8GеEк4O, 
785D8д=4O коDDекF8O, 
Dеко=EтDукт86=Kе 8 
пл4Eт8GеEк8е опеD4F88 пD8 

395160 



Eоед8=е=89 
<478EтD4лL=KE EоEудо6 у 
дете9 до 1 7од4 

87ол8Dо64==KE деDект4E 
пеDе7оDодок EеDдF4 у 
=о6оDо6де==KE 8 дете9 до 1 
7од4 

43. %8DуD78GеEк4O коDDекF8O 
поD46е=89 кл4п4=о6 
EеDдF4 пD8 по6тоD=о< 
<=о7окл4п4==о< 
пDоте78Dо64=88 

I08.0, I08.1, I08.2, 

I08.3, I08.8, I08.9, 

I47.0, I47.1, I33.0, 

I33.9, T82.0, 

T82.1, T82.2, 

T82.3, T82.6, 

T82.7, T82.8 

по6тоD=Kе опеD4F88 =4 2 
- 3 кл4п4=4E. �оD46е=8O 
кл4п4=о6 EеDдF4 6 
EоGет4=88 E коDDекF8е9 
D85D8ллOF88 пDедEеDд89. 
�оD46е=8O кл4п4=о6 6 
EоGет4=88 E ��!. 
�еко<пе=E8Dо64==Kе 
EоEтоO=8O пD8 
<=о7окл4п4==KE поDок4E 
EеDдF4, о5уEло6ле==Kе 
8=DекF8о==K<, 
пDоте7=K< M=док4Dд8то< 
(оEтDое, подоEтDое 
теGе=8е) 

E8DуD78GеEкое 
леGе=8е 

DепDоте78Dо64=8е кл4п4=о6 
EеDдF4 

482050 

DеDепDоте78Dо64=8е 
кл4п4=о6 EеDдF4 

DепDоте78Dо64=8е 8 пл4Eт8к4 
кл4п4=о6 

пDоте78Dо64=8е 2 8 5олее 
кл4п4=о6 8 6<еH4телLEт64 =4 
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!еDдеG=о-ле7оG=4O 
=едоEт4тоG=оEтL 
=еутоG=е==4O. �Dу78е 
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MD8тDоле9ко7. 
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�8Eкотт4 - ОлдD8G4. 
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ОпуEолL <оGе6о7о пу7KDO. 
ОпуEолL поGеG=о9 
лоE4=к8. !клеDо7 Hе9к8 
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улLтD476уко64O 45лOF8O 
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=е9DоEт8<улOтоD4 <оGе6о7о 
пу7KDO 

8<пл4=т4F8O поEтоO==о7о 
E4кD4лL=о7о 
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оD74=4E <оGеполо6о9 
E8Eте<K 
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о5л4Eт8) 
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